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������
(� 
 

 ���(�*.�	-#��	'
(�
/ %	��0�

 %�
)��(��
/ '*+ ��#	���/�	� 
�	0	�
 ���'���� 0�'.-+
	� 6	�#
 ���(���+ ) �
�(���+ �	)'�*� «&�-
��'�(�» 
���� '���*�/ #�1
� �� �

	����+ �	)��,��
�� %���'�( )�-
(�%*���+# � )�*�3�	��� ��' )�'��	2	 ,���
���� �������3���+. 

 ��	0*
�� ���2� � %	��0�

� %�
'�*��	 #��	'
-� �
)��(���+ 
%	���0�	� %	��3�	��� '�
2��� %�
�	'� �� �
0	�� /	2	 �
%� � )�*�-
3�	��� ��' %�
)��(���+ #�1
�
, %�
��' +
	� �	)�	0*+4�.�+. ���,	-
��4�.�+ )�'��
/ ,���
��� �������3���+. 
 �
��#	 �
'�*��� %
����+ 	%�
#�)�-�� %���'�( )�(�%*���+# %	 
#��� �� 2�0��
��# � )�*�3�	��� ��' �
0���	� 
���#��
(�	� �,�#
. 

 � 	��	�� �	)��,��
�� �� #�-����. %���'�( )�(�%*���+# %�
 
)#���	#� ,���
���� �������3���+ ��
	#��'	���
/ #��	' �
����*��-
��
, #	#�����. ����'��� �
%	�� ��3
#
 �������3���+ �� #��	'

� 
�, �
)��(���+ � 
	�
�����/ )�'�(�. 

 &	�*�'	�����. 
	#%*�
��	2	 �	)��,��
� %���'�( )�(�%*���+#, 
5	 	0’4'��4 � 	'�� -�*� �	)��,��	
 �� #�-����. �� �	)��,��	
 2�	-
#���
(�
, %���#�����, �

*�'��� � �
2*+'� -

*�(�	2	 �*2	�
�#�, 
5	 '	)�	*+4 	%�
#�)����
 '�+
� %���#���
 %���'�(�, 	�	0*
�	 %�
 
�

	����� &�. 

 ���(�*.�	-#��	'
(�
/ %	��0�

 #���
�. %�

*�'
 �	)��,��-

�� )�0(���
, �� (���’+(�
, %���'�( � )�'���/ %	�*�'	��	���, � ��-

	3 %���*�
 )�%
���. '	 
	3�	2	 �	)'�*�, )� +

#
 ���'��� #	3� 
��#	���/�	 %������
�
 )���	4��+ ���(�*.�	2	 #������*� �� %���
-
*.����. 	�	0
��
, �	)��,��
��. 

 �	)�	0*��� #�1
��� %�	2��#� 
	#%*�
��	2	 �	)��,��
� -
-
*��'�
(�	� )�0(���	� %���'�(� '*+ &�, 5	 %��-74 � '��*	2	�	#� 
��3
#� ) 
	�
�����(�#. 

 ����'��� #��	'

� �

	�
�����+ -�4� %�	2��#
. 
 ���(�*.�	-#��	'
(�
/ %	��0�

 #�4 0��
 
	�
��
# ���'����# 

0�'.-+
	� 6	�#
 ���(���+ %�
 �
�(���� 
���� '
�-
%*��
 « ���*� 
#�1
�» �� �

	����+ �	)��,��
� �	�	� (���
�
 
���	�	2	 %�	�
��. 

   ���	�
 �
�*	�*77�. 5
�� �'+(����. ��-��)����# )� �, )�-
���3���+, 	�2���)�-�/�� '	%	#	2� �� �(���. � 	�����.	#� ��'�-
2������ ����'	� 
	%�� %	��0�

�. 
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�
���	 1 ()�
���

� �)	
()� �� ��
����)�
)� 
���������( ��)(
�� ��* )
 

 
1.1. ( +������, "��-.��#�$ �� � %$' � "- ���&�'��� /-�� 

 
��/0�*.1 %	��	 ��	���
(�� )����+ ) '
�-
%*��
 “ ���*� #�1
� 

�� 	��	�
 %�	�
������+” �

	�
��	��7�.�+ %�
 �	)��,��
� 2	*	-
��
, %���#����� %���'�( �� 
	�����7����+ %�
�	'� #�1
� )�2�*.-
�	2	 %�
)��(���+. 

� ��	�/ 0�*.1	��� �	)�	0*+4�.�+ %�
��', '	 �
*�'� +
	2	 �,	-
'+�. ��)�� #�,���(�� %���'�(�, +
� )�
3�7�. (���	�� 	0����� ��' ��*� 
�*�
��	'�
2��� '	 ��*� �	0	(	� #�1
�
. 

 	 ��,��(�	2	 )��'���+ �� %�	�
������+ �,	'
�. �������3���+ 
�� ��*� �	0	(	2	 	�2��� #�1
�
 (
����
/ #	#��� (�), �0	 �+2	�� 
)��
**+ %�
 �	)��,��
� %�
�	'�� %�'/	#�	-�����%	���
, #�1
�, 
1�
'
���. �
,�'�	� *��

 (
��	�� (
 *���/��). 

�	)��,��	
 2	*	��
, %���#����� %�
�	'� %	(
��4�.�+ ) �
)��-
(���+ ��	0,�'�	� %	��3�	��� '�
2��� �� �
0	�� /	2	 �
%� � )�*�3-
�	��� ��' �#	� �
�%*����-�� #�1
�
 �� ��3
#� �� �������3���+. 

 *+ -.	2	 � )��'���� �� %�	�
������+ %	�
��	 0��
 )�'��	: 
2��6�
 �������3���+, �0	 �	)��,��
	�� �	#���*.�� �������3���+ � 
�
2*+'� �	#���*.�	2	 
����	2	 #	#���� �� �
,�'�	#� ��*� �	0	(	� 
#�1
�
 (
 �	#���*.�	2	 �+2	�	2	 )��
**+ %�
 �	)��,��
� %�
�	'� 
�����%	���7(	� #�1
�
, 1�
'
���. �
,�'�	� *��

 (
��	�� (
 *�-
��/��). 

 *+ %���
*.�	2	 �
0	�� �
%� �*�
��
(�	2	 '�
2��� %	�
��	 
0��
 ��'	#� �#	�
 �

	�
�����+ (2��6�
 �������3���+, ��#%������� 
�� �	*	2���. )	���1�.	2	 ����'	�
5�), ��	0,�'�� %	��3����. �� (��-
�	�� 	0����� /	2	 ��*�. 8� -
#
 �#	��#
 '�
2�� �
0
��7�. %	 
���-
*	2� �� %������+7�. /	2	 �� ��2��� %�
 ���*	#� �� %���,�'�
, ��-
3
#�,, � ��
	3 %�
 
	�	�
	(���
, %��������3���+,. 

� '�+

, �
%�'
�, %�'0�� �*�
��	'�
2��� �%�	5�4�.�+: 
1) %�
 ��
��*	#� %	���/�	#� (
 ��)��(�	#� )#���	#� �������3��-
�� %������
� �� ��2��� �� �

	��4�.�+ ()��	' - �
�	0�

 2������4 
��
��*� �	0	�� �� �	#���*.�	#� ��3
#�); 
2) '*+ %	��	��	-
	�	�
	(���	2	 ��3
#� �	0	�
 %�
/#�7�. '�
2�� 
) %�'�
5��
# #	#���	# %��
� ) ���,�����+# ��
��*	��� %��
� (&�, 
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%); 
3) +
5	 #�1
��, '*+ +
	� �	)�	0*+4�.�+ %�
��', (���	 �
*7(�4�.�+ 
�� �

*7(�4�.�+, #�4 )��(�
/ '
��#�(�
/ #	#��� �  %���	' %��
�, 
�	 �
0���
/ '�
2�� �*�' %������
�
 )� ��*
(
�	7 %��
	�	2	 
#	#����. 

&��1
/ �
% �������3���+ #�4 #��-� � #�,���(�
, %�
�	'�, 
0�*.1	��� ��,�	*	2�(�
, �� �����%	���7(
, #�1
��,. 

 ��2
/ �
% �������3���+ ,���
����
/ '*+ %�
�	'�� *�0�'	
, 

�����, %�'/	#�

�� � �.%. 

� 
���	�	#� %�	�
�� ) '
�-
%*��
 « ���*� #�1
�» 
�	)�	0*+7�.�+ %�
�	'
 #�1
�, 5	 �,	'+�. � %��1� 2��%�. �	#� 
�	)��,��	
 �� ��2��� '*+ �
, �� �

	��4�.�+. 

&	���0�� %	��3����. '�
2��� � (
��) �
)��(�4�.�+: 
&	 �	#���*.�	#� �	)��,��
	�	#� 
����	#� #	#���� �� 

�
,�'�	#� ��*� �	0	(	� #�1
�� ��	#, �⋅#, 
 

 
1 0 0 0 9 5 5 0

í î ì âè õ í î ì âè õT Ò n
P

ω
η η

⋅ ⋅= =
⋅ ⋅

, (1.1) 

 
%	 �6�
�
���/ �
*� 	%	��, �, 

 

 
1000

E
E

F v
Ð

⋅= , (1.2) 

 
'� P� - %	��3����. �� ��*� �	0	(	2	 	�2���, ���; 

ω�	
 – 
��	�� 1�
'
���. ��*� , �-1; 
n�	
 – (���	�� 	0����� ��*�, 
�-1; 
v – *���/�� 1�
'
���. �	0	(	2	 	�2���, �/�; 
η – )�2�*.�
/ 
	�6�-�4�� 
	�
��	� '�� (�� ) ��.	2	 %�
�	'�, 5	 

'	����74 #�	3
�� 	
��#
, ��  %���'�(, +
� �,	'+�. '	 �
*�'� 
%�
�	'�, 

η = η1 η2… ηn                                   (1.3) 
 

 ����'�� )��(���+ ��  %���'�( ����'��� � ��0*. 1.1 
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�
��	�� 1.1 

��'���0 +������, &��1$2$0��� &�' #��3 �$3 (���) �� 
"�'��������/� � #�� �&'���3 ��4��$���3 "�'����$. 

 
��  

�
% %���'�(� 
)�
�
�� ��'
�
�� 

&���'��	(�� 
(
�*	 

8�0(���: 
-
*��'�
(�� 

	��(�� 

 
0,96 – 0,98 
0,95 – 0,97 

 
0,92 – 0,94 
0,91 – 0,93 

 
2 – 6,3 
2 – 6,3 

9���’+(�� %�
 
Z1 = 1 
Z1 = 2 
Z1 = 4 

 
0,65-0,74 
0,75-0,85 
0,85-0,90 

 
 

0,6-0,7 
 

 
 

10-40 
 

���-72	�� 
:�

-�/�� 
&��	�� 

0,94-0,96 
0,90-0,95 

− 

0,90-0,93 
0,93-0,95 
0,94-0,96 

2-6,3 
2-4 
2-4 

 
�
����
 �� ����+ � %�'1
%�

�, ���,	��7�. ��

#
 

)��(���+#
 �� : 
'*+ 	'��4� %��
 %�'1
%�

�� 
	(���+: η�� = 0,99-0,995; 
'*+ 	'��4� %��
 %�'1
%�

�� 
	�)���+: η�� = 0,975-0,985. 
�
����
 � 
	#%����7(
, �� ��,	#
, #�6��, ���,	��7�. 

)��(���+#
 �� : η� = 0,985-0,995. 
"*�
��
(�� '�
2��
 %	 �	'� ����#� %�'�	)'�*+7�.�+ �� '�
2��
 

%	���/�	2	 ����#� �� '�
2��
 )#���	2	 ����#�, ��.	,6�)�� 
�
�,�	��� �� ��.	,6�)�� ��
�,�	���. ��.	,6�)�� ��
�,�	��� 
'�
2��
 )��/1*
 ��/0�*.1� �	)%	��7'3���+. �� �
)���	 
%�	��	�	7 
	�����
-��, #��1	7 �������7, 0�*.1 �
�	
	7 
�
�%*����-�/�	7 ��'�/����7. 

&�
 
���	�	#� %�	�
������� �*�' �
0
���
 ��.	,6�)�� 
��
�,�	��� '�
2��
 )�2�*.�	 %�	#
�*	�	2	 )��(���+ ����� 4� � ��� 
( �� 19523-81") %	 �
)��(���/ %	��3�	��� �� �� %�
/�+��/ 
�
�,�	���/ (���	�� �� (��0*. 1.2); '*+ 
���	�
, #�,���)#�� '�
2��
 
�
0
���
 %	  �� 185-70 (��0*. 1.3). 

 *+ #�,���(�
, %�
�	'�� �*�' %�
/#��
 ��
�,�	��� '�
2��
 ) 
�
�,�	��	7 (���	�	7 �� =3000; 1500; 1000; 750 
�-1. 
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�
�,�	��� (���	�� '�
2��� �
)��(��
 )� 6	�#�*	7: 
 

 ( )C �	
 �
� ���
n n u= , (1.4) 

 '� (u)�2)�- – ����'�4 )��(���+ )�2�*.�	2	 %���'��	(�	2	 (
�*� 
%�
�	'�, 5	 '	����74�.�+ #�	3
�� %���'��	(�
, (
��* 	
��#
, 
%���'�(, 5	 �,	'+�. '	 �
*�'� %�
�	'� 

 
 ( ) 1 2 3�
� ���

u u u u= ⋅ ⋅ . (1.5) 

 
 

����'�� )��(���+ %���'��	(�
, (
��* #�,���(�
, %���'�( �*�' 
%�
/#��
 %	 ��0*. 1.1. 

��

# (
�	#, �) 
���*	2� ���0� �
%
���
 ��
� '���� %�
/�+�	2	 
�*�
��	'�
2���: �
% �� /	2	 �#	��� %	)��(���+ (#��
��	�
�), 
�	#���*.�� %	��3����. �, 
��, ��
�,�	��� (���	�� 	0����� ��, 
�

-1, 

	�6�-�4�� %��������3���+ β =Tmax/T�	#, 2�0��
��� �� �����	�(� 
�	)#��
. 
 

1.2. ��'�������� �$���5���, "' ���� 
 
8�2�*.�� %���'��	(�� ��'�	1���+ %�
�	'� '	����74 

��'�	1���7 
��	�	� 1�
'
	��� ��*� '�
2��� ω� '	 
��	�	� 
1�
'
	��� �	0	(	2	 	�2��� #�1
�
 ω�	
, (
 ��'�	1���7 �, (���	� 
	0�����. 
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�
��	�� 1.2 
��4�$��� 4�'�&��' #� &� �� /-�$� 0� ��3 #�'$3 4� (��� 19523-81�) 

 

 �
2�� &	��3����. 
P�, 
�� 

9���	�� 
	0�����, n� 
�

-1 
���

����

�

T
 

����

Tmax  

�
�,�	��� (���	�� 	0����� 1500 ,�-1 

4�80�4 1,5 1415 2,0 2,2 
4A90L4 2,2 1425 2,1 2,4 
4A100S4 3,0 1435 2,0 2,4 
4A100L4 4,0 1430 2,0 2,4 
4A112M4 5,5 1445 2,0 2,2 
4A132S4 7,5 1455 2,2 3,0 
4A132M4 11,0 1460 2,2 3,0 
4A160S4 15,0 1460 1,4 2,3 
4A160M4 18,5 1466 1,4 2,3 
4A180S4 22,0 1470 1,4 2,3 
4A180M4 30,0 1470 1,4 2,3 

�
�,�	��� (���	�� 	0����� 1000 ,�-1 
4A90L6 1,5 935 2,0 2,2 
4A100L6 2,2 950 2,0 2,2 

4�112�A6 3,0 955 2,0 2,5 
4�112�B6 4,0 950 2,0 2,5 
4�132S6 5,5 965 2,0 2,5 
4�132�6 7,5 970 2,0 2,5 
4�160S6 11,0 975 1,2 2,0 
4�160�8 15,0 975 1,2 2,0 
4�180�6 18,5 975 1,2 2,0 

�
�,�	��� (���	�� 	0����� 750 ,�-1 
4�90L�8 1,1 700 1,6 1,9 
4�100L8 1,5 700 1,8 1,9 

4�112��8 2,2 700 1,9 2,2 
4�112��8 3,0 700 1,9 2,2 
4�132S8 4,0 720 1,9 2,6 
4�132�8 5,5 720 1,9 2,6 
4�160S8 7,5 730 1,4 2,2 
4�160�8 11,0 730 1,4 2,2 
4�180�8 15,0 730 1,2 2,0 

 
& � 
 # � � 
 � . �	)#��
 '�
2��� )2�'�	 [2, �. 334-336] 
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�
��	�� 1.3 
��4�$��� 4�'�&��' #� &� &'���� 4 �� /-�$� + 1�+�� � '���'�� 
"'  ��"'-.���$ 380 ( � ��'�.$ + ��#����6 50 72 �� �(=40% 

(��� 185-70) 
 

 �
2�� &	��3���
�. �, 
�� 

9���	�� 
	0������+,  

n�, ,�
-1 

��
�
#�*.�

/ #	#��� 
Tmax, �� 

���� 
'�
2���, 

�� 
1 2 3 4 5 

��F 011-6 1,4 885 39 51 
��F 012-6 2,2 890 56 58 
��F 111-6 3,5 895 85 79 
��F 112-6 5,0 930 118 88 
��F 211-6 7,5 930 191 120 
��F 311-8 7,5 695 265 170 
��F 311-6 11 945 314 170 
��F 312-8 11 705 422 210 
��F 312-6 15 955 471 210 
��F 411-8 15 710 569 280 
��F 411-6 22 965 638 280 
��F 412-8 22 720 883 345 
��F 412-6 30 970 932 345 

 
& � 
 # � � 
 � . �	)#��
 '�
2��� )2�'�	 ) [3, �. 51-53]. 

 

 � �
�
� �
�

�	
 �	


n
i u

n
= = =ω

ω
. (1.6) 

 
;
5	 � )��'���� �� %�	�
������+ ����'��� *���/�� 1�
'
	��� 

�	0	(	2	 	�2��� #�1
�
 (*��-72�, ����(

, 
����� �� �.%.) V, �/� �� 
'��#���
 D, ��, �	 (���	�
 	0����� �
,�'�	2	 ��*� %�
�	'� 
�
)��(��
 %	 6	�#�*�: 

 

 3

60
10âèõ

v
n

Dπ
⋅= , 
�-1. (1.7) 

 
&���'��	(�
/ #�,���)#, 5	 �	)��1	���
/ #�3 '�
2��	# �� 
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�	0	(
# 	�2��	# #�1
�
, #	3� �
*�'��
�. ) ��0	�� )�0(��
, �� 
(���’+(�
, %���'�(. ;
 %���
*	, )�0(��� �� (���’+(�� %���'�(� 
%��-77�. � )�
�
�
, 
	�%���,. � -.	#� �
%�'
� #�,���)#, 5	 
%�
)��(��
/ '*+ )#��1���+ (���	�
 	0����� �� )0�*.1���+ 

����	2	 #	#����, ��)
��7�. ��'�
�	�	#. 

��,���)#, 5	 ���%�

 )0�*.1�4 (���	�� 	0����� �� )#��1�4 

����
/ #	#���, ��)
��7�. #�*.�
%*�
��	�	#. 

�
% ��'�
�	�� �
)��(�4�.�+ �
*�'	# %���'�(, 5	 )��,	'+�.�+ � 

	�%���, �� %	�+'
	# �, �	)#�5���+ � ��%�+#� ��' 1�
'
���	2	 ��*� 
'	 �
,	,�'�	2	. 

����#��
(�� �,�#
 ��'�
�	��� ����'��� � )��'���� �� 
%�	�
������+. 

;
5	 � %�
�	'� %	 '���/ 
���#��
(��/ �,�#� #�3 '�
2��	# �� 
��*	# �	0	(	2	 	�2��� #�1
�
 )��,	'+�.�+ 
��# ��'�
�	�� 5� 
+
��. #�,���(�� %���'�(�, �	 )�2�*.�� %���'��	(�� ��'�	1���+ 
%�
�	'� i�
�, 5	 '	����74 � '��	#� �
%�'
� %���'��	(�	#� (
�*� 
u�
�, �	)2*+'�7�. +
 #�	3
�� %���'��	(�	2	 (
�*� ��'�
�	�� u� �� 
%���'��	(�	2	 (
�*� -�4� #�,���(�	� %���'�(� u%#: 

 
 

�
� �
� p ��i u u u= = . (1.8) 

 
&�
 �	)
*�'� )�2�*.�	2	 %���'��	(�	2	 (
�*� #�3 ��'�
�	�	# 

�� #�,���(�	7 %���'�(�7 �*�' )�'��
�+ )��(���+# u�, %�
/�+�1
 
/	2	 )� ����'����	2	 �+'� (#	3*
�� ��',
*���+ ��' �	#���*.�
, 
)��(��. ±4%): 8,0; 9,0;10,0; 11,2; 12,5; 14,0; 16,0; 18,0; 20,0; 22,4; 
25,0; 28,0; 31,5; 35,5; 40,0; 45,0; 50,0; 56,0; 63,0; 71,0; 80,0; 90,0; 100. 

8	�� ��-�	��*.�
, %���'��	(�
, (
��* '*+ ��)�	#�����
, 
��'�
�	��� %	'��� � ��0*. 1.5. ��
	#��'�4�.�+ %�
/#��
 ����'�� 
)��(���+. � -.	#� �
%�'
� %���'��	(�� (
�*	 #�,���(�	� %���'�(� 
'	����74: 

 

 �
�
��

p

u u
u

= . (1.9) 

 
�0(
�*��� )��(���+ %���'��	(�	2	 (
�*� u%#, %	�
��	 

)0�2��
�. ) )��(���+#
 %���'��	(�
, (
��*, 5	 %	'��� � ��0*. 1.1, 
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�� 0��
 	
��2*��
# '	 0*
3�.	� ��*
(
�
 )� ����'����	2	 �+'� 
(#	3*
�� ��',
*���+ ��' �	#���*.�	2	 )��(���+ ±4%): 1; 1,12; 1,25; 
1,40; 1,60; 1,80; 2,00; 2,24; 2,50; 2,80; 3,15; 3,55; 4,00; 4,50; 5,00; 5,60; 
6,30; 7,10. 

 
 

1.3. ��+"��$� "�'��������/� �$���5���, '��-&��'� "� #�-"��,� 
 
�	)
*�' )�2�*.�	2	 %���'��	(�	2	 (
�*� u� %	 ���%��+# 

�
��1�4 )�'�(� 	%�
#�)�-�� %���#����� ��'�
�	�� )� )�'��
#
 

�
����+#
. 

��/0�*.1 ��3*
�
# 
�
����4# 	%�
#�)�-�� '*+ ��'�
�	��� 
)�2�*.�	2	 %�
)��(���+ %�
 �	)
*�'� )�2�*.�	2	 %���'��	(�	2	 
(
�*� u� %	 ���%��+# #�4 0��
 #���#�)�-�+ #��
 ��'�
�	��. 

��3 #��	7 ��'�
�	�� �� /	2	 	0’4#	# V=B⋅H⋅l #�4 #��-� 
*���/�
/ 
	��*+-�/�
/ )�’+)	
. ��� � – 1
�
�� ��'�
�	��, � – /	2	 
�
�	(
��, l – '	�3
��. ��
 +
 1
�
�� )�0(��
, 
	*�� � 
��-��	#� 
��,��
� )�*�3
�. ��' #�3	�.	�	� ��'�����, �	 �%*
� 
	�6�-�4��� 
��'�	��	� 1
�
�
 )�0(��	2	 
	*��� ba w w� 
ψ =  �� #��� ��'�
�	�� 
��)��(�
/ � 	%�
#�*.�
/ ������� 	0’4#� ��'�
�	�� #	3� 0��
 
)��/'��
#, +
5	 )�0�)%�(��� #���#�*.�� 0	
	�� %*	5
�� A=H⋅l. 

�	�6�-�4�� ��'�	��	� 1
�
�
 )�0(���	2	 
	*��� <�
=�w/aw '*+ 
)�'��	2	 �
%� ��'�
�	�� %�
/#��
 %	���/�
# )� ����'����	2	 �+'� 
( �� 2185 – 66*): <�
 = 0,1; 0,125; 1,16; 0,2; 0,25; 0,315; 0,4; 0,5; 0,55; 
0,8; 1,0; 1,25. � 0�2��	���%����
, -
*��'�
(�
, ��'�
�	��, 

	�6�-�4�� ��'�	��	� 1
�
�
 '*+ ���, ���%���� �*�' %�
/#��
 
	'��
	�
#, 	
��# �		��	2	 ��'�
�	��. 

&�
/#��
 ��)�� #������*
 �� ��)�� ��,�	*	2�7 '*+ �
2	�	�*���+ 
)�0(���
, 
	*�� 	'�	2	 ��'�
�	�� �� ����	. �	#� %�
 �	)%	'�*� 
%���'��	(�
, ��'�	1��. �*�' ���3��
, 5	 �	)��,��
	�� ����'���. 
)�0(���
, %�� 	'�	2	 ��'�
�	�� 	'��
	��.  

� ��0*. 1.5 ��'��� ��
	#��'	���� )��(���+ 
	�6�-�4��� 
��'�	��	� 1
�
�
 <�
  )�*�3�	 ��' ����'	��� �	0	(
, %	���,	�. 
)�0(��
, 
	*�� (#��1� )��(���+ – %�
 %���'��	(�	#� (
�*� 
�
,	,�'�	2	 ���%��+ uT � 4, 0�*.1� – %�
 uT < 4). 
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�
��	�� 1.4 
��&���������$ +������, "�'������� 4 �$���5��� '��-&��'$� up  

+���.��  �$� &$��&�#�$ #�-"��$� 
 

��'�
�	�
 
�
% ��'�
�	�� 	'�	���%����


/ '�	���%����
/ ��.	,���%����

/ 

�
*��'�
(�
/ 2 – 6,3 10 – 35,5 31,5 - 140 
&*�������
/ 4 –10 16 - 100 80 – 500 
�	��(�
/ 1 – 5 - - 
�	��(�	-
-
*��'�
(�
/ - 6,3 – 31,5 25 – 140 

9���’+(�
/ 8 – 63 63 – 2500 - 
9���’+(�	- 
-
*��'�
(�
/ - 40 - 250 250 – 1250 

�
*��'�
(�	- 
(���’+(�
/ - 16 – 160 - 

 
8�'�(� #���#�)�-�� 0	
	�	� %	���,�� ��'�
�	�� '	�+2�4 ��	4� 

#��
 %�
 	'��
	��/ 
	���
���/ #�-�	��� )�0(���
, 
	*�� ���, 
���%���� '��	2	 ��'�
�	�� �� ����	��� '��#����� %	(��
	�
, 
�* 
)�0(��
, 
	*�� dW2T = dW2$, [1]. 
 

�
��	�� 1.5 
��&���������$ +������, &��1$2$0��� 
�$���#��3 5 ' �  +-%����/� �$�2, 8�� 

 
�	)��1�����+ �� �
' 

%���'�(� ����'���., � �
ψ  

���
#���
(�� � < 350 �� 
� > 350 �� 

0,315; 0,4 
0,25; 0,315 

�
#���
(�� 
�	)�����
/ 1���	� 
$���	� ) 
����
	7 

��'. +
� 
0,4; 0,5 

0,2; 0,25 
0,63; 1,0 

 
���
#��� +
 ���*�'	
 �	)%	'�*� )�2�*.�	2	 %���'��	(�	2	 

(
�*� ��'�
�	�� %���'��	(�� (
�*� 
	3�	2	 ���%��+ %	�
��� 
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)�'	�	*.�+�
 '�	# 	��	��
# �#	��#:  
1) %���'��	(�� (
�*	 0�'.-+
	2	 ���%��7 ��'�
�	�� ui �� 
%	�
��	 %����
5����
 ��/0�*.1	2	 )��(���+ umax '*+ 	'�	2	 
���%��7 (��0*. 1.6); +
5	 #�4 #��-� ���������. ui > umax, �	 
��	0,�'�	 %�
/#��
 ui = umax; 

2) %���'��	(�� (
�*	 1�
'
	,�'�	2	 ���%��7 u� %	�
��	 0��
 
0�*.1
# (
 ����
# %���'��	(�	#� (
�*� �
,	,�'�	2	 
���%��7 u�. 

 
�
��	�� 1.6 

 
�!%$��5� "�'�������� � #�� � �����- #�-"��$ [1] 
 

&���'�(� ����'���. umax 

�
,	,�'�� �� 
%�	#�3�� � ���, 
�
%�, ��'�
�	���  

H ≤350 HB 
40-56 HRC= 

56-63 HRC= 

6,3 
6,3 
6,3 

$�
'
	,	'	�� � 
���, �
%�,, 
��# 
�		��
, 

H ≤350 HB 
40-56 HRC= 

56-63 HRC= 

8 
7,1 
6,3 

$�
'
	,�'�� � 
�		��
, ��'�
�	��, 

H ≤350 HB 
40-56 HRC= 
56-63 HRC= 

10 
9 
8 

�	��(�� )�
�
�� H ≤350 HB 
H >350 HB 

6,3 
5,0 

��'
�
��: 
- -
*��'�
(��  
- 
	��(�� 

H ≤350 HB 
 

25 
8 

 
1.3.1. � �$��' ��$ ���#�-"����$ '��-&��'  
 
��'�
�	�
 )� �	)2	����	7 �,�#	7 (�
�. 1.1) 
&���'��	(�� (
�*	 1�
'
	,�'�	2	 ���%��7 '	����74: 
%�
 )#���	#� �������3���7 

 
 23

max0,75� pu u u= ≤ ; (1.10) 
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%�
 %	���/�	#� �������3���� 
 

 230 9� p maxu . u u= ≤ . (1.11) 

 
&���'��	(�� (
�*	 �
,	,�'�	2	 ���%��7 

 
 maxT p �

u u u u= ≤ . (1.12) 
 

�'��3���� )��(���+ u� �� u� ��	0,�'�	 	
��2*
�
 '	 
��/0*
3(
, ����'����
, ��*
(
�. 
 

dI IId IIId

∆

B
A = H lwa

� wa T

wb
�

b
T

w

wd 1(   )
�

H

l
l lT�

T
(   )2dw�

(   )2dwT
(   )1dw

 
�
�. 1.1  �	���%����
/ ��'�
�	�. �	)2	����� �,�#� 
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&	��#, +
5	 )�'����
�. #������*	# )�0(��
, 
	*�� �� ����'���7 
�	0	(
, %	���,	�. )�0��, �*�' )��/�
 )��(���+ #�3	�.	�	� ��'����� 
'*+ 1�
'
	,�'�	2	 �� �
,	,�'�	2	 ���%���� ��'�
�	��. 

��� %	'�*� �	)��,��

 #	3*
�	 �
	�	�
�
 �'��(�, +
5	 
'	�	'
�
 �, '	 �	)��,��
� #�3	�.	�	� ��'����� ��*.

 '*+ 
�
,	,�'�	2	 ���%��+.  *+ -.	2	 �� ���'�� �	)
*�'� )�2�*.�	2	 
%���'��	(�	2	 (
�*� ��	0,�'�	 �
)��(
�
 %	���0�� %	 �#	�� 

	���
��	� ����	#�-�	��� ��'�	1���+ #�3	�.	�
, ��'������ 
wT/aw�: 

%�
 )#���	#� �������3���7 
 

 ( )
( )

2

3
3

1
1

T

ø

w T ø

w ø Tø

a uÊ u
a u uu

+
=

+
; (1.13) 

 
%�
 %	���/�	#� �������3���7 

 

 ( )
( )

2

3
1
1

T

ø

w T ø

w ø T

a u u
Ê

a u u
+

=
+

, (1.14) 

 
'� � ≈ 0,9 – 
	�6�-�4��, 5	 ���,	��4 ��)�� �������3���+ 

���%���� ��'�
�	��.  
8��/'��� ��'�	1���+ #�3	�.	�
, ��'�����/ ���0� 	
��2*
�
 '	 

��/0*
3(	2	 ����'����	2	 )� ����'��
# �+'	# : 1,12;1.25;1.4;1.6. 

;
5	 �%����'�	1���7 T

�

W

W

a

a
 #��1� 1,12, 1�
'
	,�'�� 
	*��	 

)���
�4 �
,	,�'�
/ ��*. 
 �*� ��	0,�'�	 ��	(�
�
 %���'��	(�� (
�*	 1�
'
	,�'�	2	 

���%��7 %	 6	�#�*�: 
 

 max1
p

�

u �
u u

�

−
= ≤

−
, (1.15) 

 

'� 
3

1,2 T

�

pW

W

ua
�

a K
= ⋅  – %�
 )#���	#� �������3����; (1.16) 

3
T

�

pW

W

ua
�

a K
=  – %�
 %	���/�	#� �������3����. (1.17) 
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8��(���+ %���'��	(�	2	 (
�*� u�, 5	 	'��3��� %	 6	�#�*� 
(1.15), 	
��2*
�
 '	 ����'����	2	, � %	��# �	)��,����
 u�  )� 
)�*�3�	��7 (1.12). 

&��*+ 	0(
�*���+ 
Twa  )��(���+ 

1wa  )��/�
 %	 )�*�3�	��� 

( )( / )
T

�

T

W
W

W W �

a
a

a a
= . 

��'�
�	� )� �	)'�	4�	7 �,�#	7 (�
�. 1.2). 
&	�+'	
 �	)'�*� )�2�*.�	2	 %���'��	(�	2	 ��'�	1���+ ��
/ 3�, 

+
 � '*+ ��'�
�	�� )� �	)2	����	7 �,�#	7, �*� %�
 )��(���� 

	�6�-�4��� �=0,85. 

dI IId IIId

∆

B
A = H lwa

� wa T

wb
�

b
T

w

wd 1(   )
�

H

l
l lT�

T(   )2dw�
(   )2dwT(   )1dw

b
T

w

 
�
�. 1.2   �	���%����
/ ��'�
�	�. �	)'�	4�� �,�#� 

 
��'�
�	� )� �		��	7 �,�#	7 (�
�. 1.3) – �) )	���1��# 

)�(�%*���+#. 
����#�*.�� #��� ��'�
�	�� )� ��
	7 �,�#	7 #	3� 0��
 

	'��3��� %�
 #���#�*.�	 #	3*
�	#� %���'��	(�	#� (
�*� 
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�
,	,'�	2	 ���%��7 uT, +
5	 )�0�)%�(��� 	'��
	�� 
	���
��� 
#�-����. ���%���� �� #�4 #��-� �#	�� maxTu u≤ . 

 *+ �		��	2	 ��'�
�	�� ) )	���1��# )�(�%*���+# 
	�6�-�4�� � 
= 0,9. 

 
IId IIId

dI

A = Hl

wb
�

wb
T

wa

l

wd 1(   )
� �

(   )2dw

�
(   )1dw

T
(   )2dw

�

 
�
�. 1.3   �	���%����
/ ��'�
�	�. �		��� �,�#� 

 
&���'��	(�� (
�*	 u� 	0(
�*
�
 )� 6	�#�*	7 (1.15), � 


	�6�-�4�� � )� �����%�
#
 �%����'�	1���+#
: 
%�
 )#���	#� �������3���7 

 
 31,4 p� u= ; (1.18) 

 
%�
 %	���/�	#� �������3���7 
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 31,1 p� u= . (1.19) 
 

��*
(
�� %���'��	(�	2	 (
�*� uT )��/�
 )� 6	�#�*	7 (1.12). 
�%����'�	1���+ #�3 
	�6�-�4���#
 ��'�	��	� 1
�
�
 )�0(��
, 


	*�� �
,	,	'	�	2	 �� 1�
'
	,	'	�	2	 ���%���� �
)��(
�
 )� 
)�*�3�	��+#
: 

%�
 )#���	#� �������3���7 
 

 
3 2

3

0,73 1
1

T

�

�
 T �

�
 � T�

u u
u uu

� �+= � �+� �

ψ
ψ

; (1.20) 

 
%�
 %	���/�	#� �������3���7 

 

 
3 21

0,73
1

T

�

�
 T �

�
 � T

u u
u u

ψ
ψ

� �+= � �+� �
. (1.21) 

 
 

1.3.2. � �$��' ��$ �' #�-"����$ '��-&��'  
 

� 0�*.1	��� �
%�'
�� ��.	,���%����� ��'�
�	�
 �

	��7�.�+ )� 
�	)2	����	7 �,�#	7 (�
�. 1.4). ����#�*.�� 0	
	�� %*	5
�� -
, 
��'�
�	��� '	�+2�4�.�+ %�
 	'��
	��/ 
	���
���/ #�-�	��� )�0(��
, 

	*�� ���, ���%���� �� ����	��� %	(��
	�
, '��#����� 
	*�� 
�
,	,�'�	2	 �� %�	#�3�	2	 ���%����, +
5	 #�4 #��-� )�)	� ∆1 #�3 
1������	7 %�	#�3�	2	 �� 
	*��	# 1�
'
	,�'�	2	 ���%���� ('
�. 
�
�. 1.4). 

����#��
(�� ���*�)�-�+ -
, �#	� %�
�	'
�. '	 �����%�	2	 
�	)%	'�*� )�2�*.�	2	 %���'��	(�	2	 ��'�	1���+ ��'�
�	�� u� %	 
���%��+#: 

%�
 )#���	#� �������3���7 
 

 470,58� Pu u= ⋅  ; 271,08� Pu u=  ; 71,6T Pu u= ; (1.22) 
 

%�
 %	���/�	#� �������3���7 
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 470,86� �u u= ; 27
n �u u= ; 71,17T �u u= . (1.23) 
 

�	3�� %���'��	(�� (
�*	 %	�
��	 0��
 #��.1 umax. ;
5	 #�� 
#��-� ���������. u� > umax , �	 �*�' %�
/�+�
 u�=umax, � (���
�, 5	 
)	���*��., �*�' �	)%	'�*
�
 +
 '*+ '�	���%����	2	 ��'�
�	��. 
8��/'��� )��(���+ %���'��	(�
, (
��* 	
��2*
�
 '	 ����'����
,. 
&	�
��� 0��
 �

	���� �#	�� u� = u� ⋅ u� ⋅ u� (%	,
0
� ±4%). 

 

Id
IId IIId

Id

2∆

1∆
wa
� wa n wa T

l

A = Hl

H

l� l�= wa lT

n(   )1dw

wd 1(   )�
�(   )2dw T(   )1dw n(   )2dw

T

(   )2
d

w

�

 
�
�. 1.4  ��.	,���%����
/ ��'�
�	� 

 
 �*� 	0�+2 �	)��,��
�� #	3*
�	 �
	�	�
�
, +
5	 ����#%���' 

�	)��,����
 ��'�	1���+ #�3	�.	�
, ��'�����/ �� )�0�)%�(
�
 
����	#�-����. %���'�(: 

%�
 )#���	#� �������3���7 
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2

3
9

0,9 1
1

T

ï

w Ò ï

w n Tn

a u u
a u uu

� �+= � �+� �
;  

 

 
2

3
9

0,95 1
1

n

�

w n �

w � n�

a u u
a u uu

� �+= � �+� �
; (1.24) 

 
%�
 %	���/�	#� �������3���� 

 

 
2

3
1

0,9
1

T

�

w � n

w n T

a u u
a u u

� �+= ⋅ � �+� �
;  

 

 
2

3
1

0,95
1

n

�

w n �

w � n

a u u
a u u

� �+= ⋅ � �+� �
. (1.25) 

 
8��/'��� �%����'�	1���+ �*�' 	
��2*
�
 '	 ����'����
,. &	��# 

��	(�
�
 )��(���+ %���'��	(�	2	 (
�*� %�	#�3�	2	 ���%��7 
 

 ' '
1

T n n
n

n

u u �
u

�

−=
−

, (1.26) 

 
'� u�′ �� un′ – %	%���'�� )��(���+ -
, ��*
(
�. 

�	�6�-�4��
 ��: 
%�
 )#���	#� �������3���7 

 

 31,33 ' 'wT
� T n

wn



� u u

a
= ⋅ ; (1.27) 

 
%�
 %	���/�	#� �������3���7 

 

 31,1 ' 'wT
� T n

wn



� u u

a
= ⋅ . (1.28) 

 
&���'��	(�� (
�*	 �
,	,�'�	2	 ���%��7 

 
 ' ' /T T n nu u u u= . (1.29) 
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 	 	0(
�*���+ #�3	�.	�	� ��'����� �
,	,�'�	2	 ���%��7 

��	0,�'�	 �%���
�
�., 5	 #�4 #��-� )�)	� ∆1 #�3 �
,	,�'�	7 
1�������7 �� 1�
'
	,�'�
# 
	*��	# ('
�. �
�.1.4). 

&	�
��� 0��
 �

	���� �#	�
 >1?0,01 
w; 
 

 1
1 0,02 0,02 0,02

1 1
wT w� �

wn T wn �

a a u
a u a u

� �� �
− ⋅ + − ⋅ + ≥� �� �+ +� � � �

. (1.30) 

 
;
5	 -� �#	�
 �� �

	����, �	 �*�' )#��1
�
 )��(���+ 
%���'��	(�	2	 (
�*� un � �	)��,��

 %	��	�
�
. 
 

1.3.3. ���$���-2 �$��' ��$ ���#�-"����$ '��-&��'  
 

&���'��	(�� (
�*	 �
,	,�'�	2	 ���%��7: 
%�
 )#���	#� �������3���7 

 
 33,1 1

TT p �
u u ψ= ⋅ − ; (1.31) 
 

%�
 %	���/�	#� �������3���� 
 

 32,6 1
TT p �
u u ψ= ⋅ −  (1.32) 

 
8��(���+ 
	�6�-�4��� �Tbψ  %�
/�+�
 %	 ��0*. 1.5. 
 

1.3.4. �	��(�	--
*��'�
(�� ��
���%����� ��'�
�	�
 
 

&	�*�'	�����. �	)%	'�*� u� #�3 ���%��+#
 ��'�
�	�� �*�'�7(�: 
)�'��
�. ����'���7, %	��# �
)��(
�
 ��*
(
�
, 5	 ����'��� �
3(�. 

&���'��	(�� (
�*	 1�
'
	,�'�	2	 ���%��7: 
%�
 )#���	#� �������3���7 

 

 47
0,15

�

� p
�


u u=
ψ

; (1.33) 

 
%�
 %	���/�	#� �������3���7 



 22 

 

 47
0,19

�

� p
�


u u=
ψ

. (1.34) 

 
��� �*�' %�
/�+�
 ����'�4 )��(���+ 

��

ψ =0,285. 

 �*� �	)��,����
 %	%���'�4 )��(���+ '	0��
� %���'��	(�
, (
��* 
%�	#�3�.	2	 �� �
,	,	'	�	2	 ���%����: 

 
 ' ' /n T p �

u u u u= . (1.35) 
 

&���'��	(�� (
�*	 %�	#�3�.	2	 ���%��7 '	����74: 
%�
 )#���	#� �������3���7 

 
 ( ) 230,75 ' 'n n Tu u u= ; (1.36) 

 
%�
 %	���/�	#� �������3���7 

 
 ( ) 230,9 ' 'n n Tu u u= . (1.37) 

 
&���'��	(�� (
�*	 �
,	,�'�	2	 ���%��7 

 
 ( )' ' /T n T nu u u u= ⋅ . (1.38) 

 
��� )��/'��� )��(���+ u�, un �� u� %	�
��� 0��
 	
��2*��
#
 '	 
��/0*
3(	2	 ����'����	2	 )��(���+. ��',
*���+ )�2�*.�	2	 
%���'��	(�	2	 (
�*� ��'�
�	�� u� ��' )�'��	2	 �� %	�
��	 
%����
5����
 ±4%. 

 
1.3.5 ��'�’,���-2 �$��' ��$ '��-&��'  

 
��
	#��'�4�.�+ ��

/ �	)%	'�* )�2�*.�	2	 %���'��	(�	2	 (
�*� 

#�3 ���%��+#
: +
5	 up@50, �	 %�
/�+�
 u�=10 �� uT=up/10; +
5	 
up>50, �	 �*�' %�
/�+�
 uT=6.3, � u� = up/6.3. 
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1.3.6 � �$��'�-��'�’,��$ '��-&��'  

 
&���'��	(�� (
�*	 1�
'
	,�'�	2	 ���%��7 

 
 5

� pu u= . (1.39) 
 

&���'��	(�� (
�*	 �
,	,�'�	2	 ���%��7 
 

 uT=up/u�.  
 

&	�
��	 0��
 '	'��3��� �#	�� 
 

 2@u�@3,15;    8@uT@63.  
 

 
1.3.7 ��'�’,��$ ���#�-"����$ '��-&��'  

 
� (���’+(�
, '�	,���%����
, ��'�
�	��, %���'��	(�� (
�*	 

���%���� %	�
��	 0��
 	'��
	�
# 
 

 � t pu u u= = . (1.40) 
 

��
	#��'	���� #��	'
 �	)%	'�*� )�2�*.�	2	 %���'��	(�	2	 
(
�*� ����'��
, �
%�� ��'�
�	��� %�
/�+�� )� [1]. 
 

1.4 ( +������, &'-�� 4 ������$� �� ��#��� �%�'�$� &�.��/� 
���- 
 

�	)��,��	
 �� #�-����. ���, �*�#����� #�,���(�	� %���'�(� 
��	0,�'�	 ����
 )� %	��3����7 �����	�*��	2	 '�
2���. 

��

# (
�	#, +
5	 �
)��(��� %	��3����. '�
2��� P� 
(%	��3����. �,	'�) �� %���'��	(�� (
�*	 
	3�	2	 ���%��7 
#�,���(�	� %���'�(� � +
5	 %�
/�+�� ����'�� )��(���+ ��  %	 ��0*. 
1.1, �	 ��	0,�'�	 �	)��,����
 
����� #	#���
 �� ��*�, �� 
%	%���'�.	 %�	��#������
 �, �� 
���#��
(��/ �,�#�, %	(
��7(
 ) 
��*� '�
2��� (��'�
� “I” %�
��	��
 ��*� '�
2���). 



 24 

�����
/ #	#��� �� ��*� '�
2���, �⋅# 
 

 9550 ä
I

ä

P
T

n
= , (1.41) 

 
'� P� – %	��3����. �
0���	2	 '�
2���, ���; 
     n� – ��
�,�	��� (���	�� 	0����� �	�	�� '�
2���, 
�-1. 

�	#���
 �� �*�'�7(
, ��*�, ��'�
�	�� ��
�: 
 

 1 1II IT T u= ⋅ ⋅ η ;  
 

 2 2III IIT T u= ⋅ ⋅ η ;  
. . .   . . . 

 ( ) ( ) ( )1 1 1n n n nT T u− − −= ⋅ ⋅ η ; (1.42) 

 
9���	�
 	0����� 
	3�	2	 ��*� )2�'�	 ) %�
/�+�	7 ��#���-�47 
0�'��. 

 
 nI=n�;  

 
 nII=nI/u1; nIII=nII/u2 . . .  

 
 nn=n(n-1)/u(n-1). (1.43) 

 
������ #	#���
 �� ��*�, � %�	-��� �
�%*����-�� #�1
�
 0�'��. 
)#��7���
�+ )� (��	# � )�*�3�	��� ) ��'��
# 2��6�
	# 
�������3���+#. �*�, +
5	 ���,����
, 5	 %	��3����. '�
2��� 0�*� 
�
)��(��� )� �6�
�
��
# #	#���	#, �	 #	#���
 �� 
	3�	#� ��*�, 
)��/'��� %	 6	�#�*�, (1.42), �*�' ���3��
 %	(��
	�
# 
�	)��,��
	�
# �������3���+#. 
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�
���	 2. �
�����

� ��9����)� ������� 
 

2.1 ��/����$ "���.���, 
 

�	)��,��	
 �	)%	��7'3�4�.�+ �� �
*	�� ��	*.������ )�0(���� 
%���'�(� )	���1�.	2	 )�(�%*���+, +
� �
*�'��� �) ���*��
, )�0(���
, 

	*�� ) #	'�*�# ��' 2 ## �� 0�*.1�, 5	 %��-77�. %�
 1�
'
	��+, 
V@25 �/�, �
,�'�
/ 
	���� +

, ��'%	��'�4 �
#	2�#  �� 13755-81. 

�	)��,��	
 '�*
�.�+ �� �	)��,��	
 -
*��'�
(�
, ()�
�
�
, �� 
��'
�
�
,) )�0(��
, %���'�( ) %���*�*.�
#
 	�+#
 �� �	)��,��	
 

	��(�
, ()�
�
�
, �� ��'
�
�
,) )�0(���
, %���'�( ) #�3	�.	�
# 

��	# A, +

/ '	����74 900. 

;
5	 �

	�
��	��4�.�+ '��� #��	'

� �	)��,��
�, �	 %	�
��� 
0��
 �

	���� ��
� �#	�
. 

 *+ ��'�
�	��� ()�
�
�� %���'�(�) ��*
 %	�
��� 	0%
���
�. �� 
%�'1
%�


 
	(���+; 
	�%�� %	�
��� #��
 '	�����7 3	���
���., 
������1�+ /	2	 
�#��� %	�
��� 0��
 ��'�/�	 )�,
5��� ��' 
%	%�'���+ 0��'�, %
*� �� �	*	2
; )�0(���� )�(�%*���+ )#�5�4�.�+ 
��'

# #���
*	#; ��#%������� #���
*� � 
	�%��� �� %	�
��� 
%����
5����
 95°�. �
��3�� 1�
'
���. )�0(���
, 
	*�� �� 
%	�
��� %����
5����
 25 �/�; ���%��. �	(�	��� 7-9 '*+ 
-
*��'�
(�
, %���'�( )�  �� 1643-81; '*+ 
	��(�
, )�0(��
, 
%���'�( %	  �� 13754-81; %���#��� 1	���
	��� �	0	(
, %	���,	�. 
)�0�� Ra≤2,5 #
#; �
,�'�
/ 
	���� %	  �� 19755-87 '*+ 
-
*��'�
(�
, %���'�( �� )�  �� 19755-81 '*+ 
	��(�
, %���'�(. 

 *+ ��'
�
�
, %���'�(: )�0
 
	*�� )#�5�7�.�+ 2���
# 
#���
*	#; ���%��. �	(�	��� 9-10 )�  �� 1643-81; %���'�(� 
%�+#	)�0�; 	
��3�� 1�
'
���. '	 2 �/�; 1
�
�� 
	*�� �� 0�*.1 10 
#	'�*��. 
 

2.2 �' ��'$3 '�+'�4-�&- 
 

B	*	��
# )��'���+# �	)��,��
� )�0(��
, %���'�( 4 
)��,	'3���+ #���#�*.�
, �	)#���� )�0(��
, 
	*��, %�
 +

, 
)�0�)%�(�4�.�+ 	%�� )�0�� �	#� (
 ��1	#� �
'� %	1
	'3��. �� 
%�	�+)� )�'��	2	 ���#��� �	0	�
. 

�
,	'+(
 ) �	2	, 5	 �������3���*.�� �%�	#	3����. )�0�� 
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%���'�(� )�*�3
�. ��' �� 2�	#�����, %	����*��� )�'�(� ��/0�*.1 
��-�	��*.�	 �
��1�4�.�+ %�
 �)�4#�	#� )�’+)
� �	)��,��
�� �� 
#�-����. �� 2�	#����7. �� %�
�	'
�. �	)��,��

 '	 -

*�(�	2	 
#��	'�: �
)��(���+ 2�	#���
(�
, %���#����� %���'�(�, �) 
�	)��,��
� �� #�-����., +
5	 �
,	'
�
 ) %	(��
	�	2	 
�������3���+, � %	��# 
	��
������+ )��(��. �������3���*.�	� 
�%�	#	3�	��� )�0�� � )�*�3�	��� ��' )��/'��
, 2�	#���
(�
, 
�	)#����. 

���	' -

*�(�	2	 �	)��,��
� )�
�
�	� -
*��'�
(�	� 
��	*.�����	� )�0(��	� %���'�(� C�����4�.�+ �� )���'�, ����'�����: 
 �� 21354-87. “&���'�(
 )�0(��D� -
*
�'�
(��

� =�	*.�����D�. 
���(�� �� %�	(�	��.” ��  �� 16532-70 “&���'�(
 )�0(��D� 
-
*
�'�
(��

� =�	*.�����D� ���1��2	 )�-�%*��
+. ���(�� 
2�	#���

”. 

 *+ ������
��
, )�0(��
, %���'�(, +
5	 �#	�
 �, �	0	�
 
(�������3���+, ���#�� '��, (���	�� 	0����� �� ��1.) )#��77�.�+ � 
)�*�3�	��� ��' ��%�+#
� 	0�����, �	)��,��

 �������3���*.�	� 
�%�	#	3�	��� )�0�� ��	0,�'�	 �

	���
 '*+ 
	3�	� �	0	(	� ��	�	�
 
)�0�, +
 '*+ ��#	���/�	� %���'�(�. 

 *+ ��'
�
�	� )�0(��	� %���'�(�, 5	 %��-74 0�) 2��#��
(�	2	 

	�%���, �	)��,��	
 �� #�-����. )�	'
�.�+ '	 �
)��(���+ #	'�*+ %	 
�
��
��*	��� )�0�� �� )2
� (%	 ��/0�*.1	#� '�7(	#� 
�������3���7). 

�	)��,��	
 
	��(�
, ��	*.�����
, %���'�( �� #�-����. 
C�����4�.�+ �� )�#��� �, �
����*����
#
 -
*��'�
(�
#
 %���'�(�#
 
) �

	�
�����+# #��	'� �	)��,��
� �� #�-����. -
*��'�
(�
, 
)�0(���
, %���'�(. 

� 
���	�	#� %�	�
�� %	 “ ���*+# #�1
�” %�	�
��4�.�+ 
)�0(���
/ ��'�
�	� +
 ��#	���/�
/ �2��2��. �	#� 	��	��� 
%���#���
 -
*��'�
(�
, )�0(��
, %���'�( (#�3	�.	�� ��'����. 
w, 
%���'��	(�� (
�*	 u, 
	�6�-�4�� ��'�	��	� 1
�
�
 )�0(���
, 
	*�� 
<�
) %	�
��� 0��
 '	��
#��� '	  �� 2185-66* “&���'�(
 )�0(��D� 
-
*
�'�
(��

�. ���	��D� %���#���D”. ���	��� %���#���
 

	��(�
, )�0(��
, %���'�( (�	#���*.�
/ '�*
*.�
/ '��#��� 
	*��� 
de2, %���'��	(�� (
�*	 u �� 1
�
�� )�0(���	2	 ���-+ b) %	�
��� 
0��
 '	��
#��� '	 �#	�  �� 12289-76 “&���'�(
 )�0(��D� 

	�
(��

�. ���	��D� %���#���D”. 
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&�
/�+�� � %	��0�

� ���#��
 �� %	)��(

, +
� ��'�	�+�.�+ '	 
�	)��,��
� �� #�-����., ��'%	��'�7�.  �� 2354-87, +
� ��'�	�+�.�+ 
'	 2�	#����� �� 
���#��


 )�0(���
, %���'�(, ��'%	��'�7�.  �� 
16530-70 
 &�
/�+�� � %	��0�

� ���#��
 �� %	)��(

, +
� ��'�	�+�.�+ '	 
�	)��,��
� �� #�-����., ��'%	��'�7�.  �� 21354-87, +
� ��'�	�+�.�+ 
'	 2�	#����� �� 
���#��


 )�0(��
, %���'�(, ��'%	��'�7�.  �� 
16530-70 �  �� 16531-82. 
 ���	��� ���#��
 � �
)��(���+, 5	 ��'�	�+�.�+ '	 #�-�	��� 
)�0(��
, %���'�( ��
� [7]: 

• �������3���*.�� �%�	#	3����. )�0(���	� %���'�(� – 
�������3���+, +
� #	3� 0�)�#	��	 %���'����
 )�0(���� 
%���'�(� �� %�	�+)� )�'��	2	 ���#��� �*�30
 %�
 )�'��
, 
��3
#�, �������3���+ �� �#	��, �
�%*����-��; 

• 
	���
��� #�-����. �
�
��
, %	���,	�. )�0�� – �%�	#	3����. 
�
�
��
, %	���,	�. )�0�� )�0�)%�(����
 ��	0,�'�� 0�)%�
� 
%�	�
 %�	2����7(	2	 ��	#*��	2	 �

�
1�����+, � ��
	3 
)�%	0�2���+ )�*
1
	�	2	 '�6	�#�����+ (
 ,��#
	2	 
��/������+ %	���,���	2	 1���; 

• #�-����. )�0�� �� )2
� – �%�	#	3����. )�0�� )�0�)%�(
�
 
��	0,�'�� 0�)%�
� %�	�
 ��	#*��	2	 (
 ,��#
	2	 )*	#�, � 
��
	3 /	2	 )�*
1
	�	2	 '�6	�#�����+. 

���	��� %	)��(���+: 
aw – #�3	�.	�� ��'����., ##; 
b – 1
�
�� ���-+ )�0(��	2	 
	*���, ##; 
d – '�*�*.�
/ '
�#���, ##; 
F – �
*�, �; 
� – %���'��	(�� ��'�	1���+; 
K – 
	�6�-�4��;  
K� – 
	�6�-�4�� �
����*����	���; 
K  – 
	�6�-�4��, 5	 ���,	��4 )	���1�4 '
��#�(�� �������3���+ 

(�� ���,	���� � -

*	2��#� �������3���+); 
KAS – 
	�6�-�4�� K  %�
 �	)��,��
� �� #�
�
#�*.�� 

�������3���+; 
Kα – 
	�6�-�4�� �	)%	'�*� �������3���+; 
Kβ – 
	�6�-�4�� 
	�-�����-��  �������3���+; 
Kv – 
	�6�-�4�� '
��#�(�	���; 
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Lh – %	���0�
/ ������, 2	'
�
; 
! – #	#��� �� )2
�, �⋅#; 
m – #	'�*., ##; 
N – (
�*	 -

*�� )#�� ��%��3��.; 
N� – (
�*	 -

*�� ��%��3��. � )�*�3�	��� ) )�'��
# ������	#; 
NG – 0�)� ��%��3��.; 
n  - (���	�� 	0�����, ,�
*.-1; 
P – %	��3����., 
��; 
� – 
����
/ #	#���, �⋅#; 
u – %���'��	(�� (
�*	 	'��4� %��
 )�0(���
, 
	*��; 
v – 	
��3�� 1�
'
���., #/�; 

 – 
	�6�-�4�� ��3
#�; 

 – 
	�6�-�4�� )#�5���+; 
YFs – 
	�6�-�4��, 5	 ���,	��4 6	�#� )�0� �� 
	�-�����-�7 

��%��3��.; 
z – (
�*	 )�0��; 
α – 
�� )�(�%*���+; 
β – 
�� ��,
*� *���� )�0�; 
εα – 
	�6�-���� �	�-	�	2	 %���
�
��+; 
εβ – 
	�6�-�4�� 	�.	�	2	 %���
�
��+. 

 &�
/�+�� ��
� 	��	��� %	)��(���+ *�����#
 �	)��,��
	�
, 
%���#�����: 
     F – 	
��3�� �
*�, �; 
     s – 
	�6�-�4�� )�%��� #�-�	���; 
     � – �	)��,��
	�� �������3���+ (
����
/ #	#���), �⋅#; 
     w - %
�	#� 	
��3�� �
*�, �/##; 
     Y – 
	�6�-�4��, 5	 ���,	��4 �%*
� 	
��#
, 6�
�	��� %�
 

�	)��,��
� �� #�-����. �� )2
��; 
     Z – ��3 ��#�, %�
 �	)��,��
� �� 
	���
��� #�-����.; 
     σ - �	�#�*.�� ��%��3���+, �&�. 
 &�
/�+�� ��
� 	��	��� '	%	#�3�� ��'�
�
 '	 %	)��(��. 
*�����#
 �	)��,��
	�
, %���#�����: 
     F –  +
� ��'�	�+�.�+ '	 �	)��,��
� �� #�-����. �� )2
��; 
     H – +
� ��'�	�+�.�+ '	 �	)��,��
� �� 
	���
��� #�-����.; 
      P – '	%	#�3��/ ��'�
�, 5	 ��'�	�
�.�+ '	 '	%���
#
, 
��%��3��.; 
      1 – +
� ��'�	�+�.�+ '	 1�������; 
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      2 – +
� ��'�	�+�.�+ '	 
	*���. 
 ��'�������. -
6�	�	2	 ��'�
�� %	)��(�4 ��'�	1���+ '	 0�'.-
+
	2	 )�0(���	2	 
	*���. 
 

2.3 ( �  �� "' � �  "�5&��.���, +-%��� 4 &��$#. ( �  
'�+'�4-�&$� �� �$2�$#�� 

 
 ��%�	�� ��/������+ )�0� 0�'.-+
	2	 
	*��� � %���'�(� %�' (�� 
�	0	�
 #	3� %�
����
 '	 �+3
	� ������. 
 &�
(
��#
 ��

, ��/�����. #	3��. 0��
: 

1) %�
	�� �������3���+, 5	 %����
5�7�. #�
�
#�*.�	 
'	%���
#� ����
(�� #�-����. #������*� )�0� ('*+ %*���
(�
, 
#������*�� ��
� �������3���+ �

*

�4 %*���
(�� '�6	�#�-�7 
�0	 ��/������+ )�0�; '*+ ,��#

, #������*�� – ��/������+ 
)�0�); 

2) 0�2��	��)	�� %	��	��� �������3���+, 5	 %����
5�7�. #�3� 
�
��
��*	��� #������*� )�0�� � %�
�	'+�. '	 �
�

����+ �� 
�	)%	��7'3���+ ���5�� ��	#*��	���. 
� %�	-���� %���'�(� 
����	2	 #	#���� � )�(�%*���� 
��# 

�	�#�*.�	� �
*
 �
�

�7�. �
*
 ����+, +
� %	�’+)��� ) 1�
'
���7 

	�)���+ �	0	(
, %	���,	�. )�0�. &�' �%*
�	# -
, �
* )�0 � 
)�(�%*���� )��,	'
�.�+ � �
*�'�	#� ��%��3���	#� �����. ����
�� 
��%��3��. � ��)�
, )	��, )�0� ����'��� �� �
�. 2.1. 

 ��/0�*.1 ��0�)%�(�� '*+ #�-�	��� )�0� 
	���
��� ��%��3���+ 
σ� � )	�� ��#� 
	���
�� %��
 )�0�� � ��%��3���+ )2
�� σF � 
	���+ 
)�0�. 

 � �	(
�, %����
�� 	��	��	2	 -
*��'�� '��#���	# 1bd ) �	0	(	7 
%	���,��7 )�0� �
�

�7�. #�
�
#�*.�� ��%��3���+ )2
��. 

 � 
	���
��� ��%��3���+ � ��%��3���+ )2
�� )#���� � (���. �	�
 
)#��77�.�+ %	 '��+
	#� %�*.��7(	#� -

*�. �	���
��� 
��%��3���+ σ� #�7�. #��-� �� %�	�+)� (��� )��,	'3���+ � 
)�(�%*���� ��#� -�4� �	(

 *���� %	���,�� )�0� (�	(
� 
	���
�� 
%���#�5�4�.�+ %	 �	0	(�/ %	���,�� )�0�). 
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N1

N 2

T2

T1

d
b1

d w
2

σF

σH

Fn

σH; σF

t, c
t�
�

t�	�

O1

O2

d
w1

d b2

 
�
�. 2.1 – ����
�� ��%��3��	2	 ����� )�0� 

 
 ��%��3���+ )2
�� σF #�4 #��-� �� %�	�+)� ���#��� )�(�%*���+ 

%��
 )�0��, 5	 �	)2*+'�4�.�+ )� 	'
� 	0��� 
	*��� (+
5	 #�4 #��-� 
	'�	��)	�� �������3���+ )�0� )� 	0���). 

 8#���
/ ,���
��� 
	���
��
, ��%��3��. �� ��%��3��. )2
�� 
%�
�	'
�. '	 ��	#*��	2	 ��/������+. 

 �
*
 ����+ � )�(�%*���� %�
�	'+�. '	 �%��-7����+ �	0	(
, 
%	���,	�. )�0� �� '	 )��'���+. 
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 � 	
��#
, �
%�'
�, %	1
	'3���+ )�0�� �

*

�4 #��-��� 

	�-�����-�+ ��%��3��., +
� 	0�#	�*��� ���	(����7 �
2	�	�*���+ 
�� #	���3� %���'�(�, � ��
	3 ��'	�����.	7 3	���
���7 ���, 
'���*�/ %���'�(� (��*��, )�0(���
, 
	*��, %�'1
%�

��, 
	�%����). 

 &	��1���+ �	0	�	�%�	#	3�	��� )�0(���	� %���'�(� ��)
��7�. 
��'#	�	7. ���	��� �
'
 ��'#	� � )�0(���
, %���'�(�, ��
�. 

1. ��/������+ )�0�� – ��/0�*.1 ��0�)%�(�
/ �
' ��'#	�
 
����*�'	
 ����
(�	2	 ��/������+ %�' �%*
�	# %��������3���+ (
 
����*�'	
 ��	#*��	��� ��' -

*�(�
, �������3��.. �	)��)�+7�. 
#�*	-

*	�� �� 0�2��	-

*	�� ��	#*�����.. 

2. ���#
� (
 %*���
(�� ��/������+ �	0	(
, %	���,	�. %�' 
�%*
�	# ��*


, %��������3��.. � %���'�(�, ) ����'���7 �	0	(
, 
%	���,	�. )�0�� ≥ 40 HRC �%	�����2�4�.�+ ,��#
� ��/������+, � 
%���'�(�, ) �
).
	7 ����'���7 (� ≤ 350 ��) – %*���
(�� 
'�6	�#�����+ �	0	(
, %	���,	�. )�0��. 

3. ��	#*��� ��/������+ �	0	(
, %	���,	�. )�0�� – 
��/0�*.1 �	)%	��7'3��
/ �
' %	1
	'3��. )�0(���
, %���'�(, 5	 
%��-77�. � )�
�
�	#� 
	�%���. 

4. �%��-7����+, 5	 %�	+�*+4�.�+ � �
2*+'� %����
����+ 
�	0	(
, %	���,	�. �0��)
��
#
 (���
-+#
. �%��-7����+ #�4 
#��-� � ��'
�
�
, %���'�(�,. 

5. 8��'���+ – #��-��� #	*�
�*+��� )(�%*���+ %	���,	�., 5	 

	���
��7�. %�' �%*
�	# �
�	
	2	 �
�
� %�
 ��'����	��� #��*+�	� 
%*��

. ��
	*
 )��'���+# )�
��(�4�.�+ %�	2����7(� ��	#*��� 
��/������+ �	0	(
, %	���,	�.. ��/ �
' %	1
	'3��. ,���
����� 
'*+ ��3
	 �������3��
, 1�
'
	,�'�
, )�0(���
, %���'�(. 

� ��'%	��'�	��� ) %�����,	���
#
 �
'�#
 %	1
	'3��. 
�

	��7�. ��
� �	)��,��

 �� #�-����. )�0(���
, %���'�(: 

1) �� 
	���
��� #�-����., 
2) �� #�-����. )�0�� �� )2
�. 
   �	3�� ) -
, �
'�� �	)��,��
�� � ��	7 (��2� �	)%	'�*+4�.�+ �� 
�*�'�7(�: 
1) �	)��,��	
 �� 
	���
��� #�-����. �
�
��
, %	���,	�. )�0�� 

()�%	0�2���+ ��	#*��	2	 �

�
1�����+ �
�
��
, %	���,	�. 
)�0��); 

2) �	)��,��	
 �� 
	���
��� #�-����. %�
 '�� #�
�
#�*.�	2	 
�������3���+ ()�%	0�2���+ )�*
1
	�	� '�6	�#�-�� (
 
�
,
	2	 
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��/������+ %	���,���	2	 1���); 
3) �	)��,��	
 �� �
��
��*���. �� )2
� ()�%	0�2���+ ��	#*��	2	 
)*�#�����+ )�0�); 

4) �	)��,��	
 �� #�-����. %�
 )2
�� #�
�
#�*.�
# 
�������3���+#. 

 
2.4 ����'$��  +-%��� 4 &��$# �� #"�#�%  +�$2����, +-%$� 

 
��-����. )�0(��
, %���'�( )�*�3
�. ��' ��-�	��*.�	2	 �
0	�� 

#������*� �� �%	�	0� ,�#�
	-���#�(�	� 	0�	0

. 
&�
 �
0	�� #������*� �� �%	�	0� )#�-����+ )�0(��
, 
	*�� 

��	0,�'�	 0���
 '	 ���2
: %�
)��(���+ %���'�(, �, ��3
# �	0	�
, 
�
#	2
 '	 2�0��
�� �� ��2
; ��,�	*	2�(�� �
#	2
, %	�’+)��� ) 
	0�+2	# �
�	0�
-��� �� #	3*
�	��+#
 
	�
����	2	 %�'%�
4#����; 
�
	�	#�(�� �
#	2
, %	�’+)��� ) 
	1�	# #������*� �� �
�����#
 �� 
��,�	*	2�7 )#�-����+; �%	��0 	��
#���+ )�2	���

 �� %	'�*.1	� 
#�,���(�	� 	0�	0

. 

"
	�	#�(�� �
#	2
 %	�’+)��� ) ��,�	*	2�(�
#
 �
#	2�#
, 
	�	0*
�	 ) 	0�+2	# �
�	0�
-���: (
# 0�*.1� ����+, �
# 0�*.1 
	0C����	���� �
����
 �� ��(���� ��,�	*	2��. 

�*�' %�#’+���
, 5	 � ���#�(�	 ��	0�	0*��	#� ����� #�,���(�� 
,���
���
��


 #�/3� ���, #��	
 ���*�/ 0*
).
� %	 )��(���7, �	#� 
�

	�
�����+ *�2	���
, ���*�/ 0�) ���#�(�	� 	0�	0

 ��'	%���
#	. 

&�	2��������+ ���*�/ ��)�
, #��	
 ��)��: ��2*�-��
, – 
��/#��1�, �
�	
	*�2	���
, – ��/0�*.1�. 

 *+ '���*�/ ) ��*


# %	%���(�
# %�����)	# �� �*�' 
�

	�
��	�����
 ���*� ) #�*
# %�	2��������+#, �	#� 5	 � -.	#� 
�
%�'
� �� #	3*
�	 	��
#��
 �
�	
� ����'���. �	0	(
, %	���,	�.. 

&�
 �
0	�� #��

 ���*� �*�' ���,	�����
 '��#���
 ��*-1������� 
�� ��/0�*.1
/ %	%���(�
/ %�����) ���-+ 
	*��� ) ���,�����+# 
%�
%��
�� �� #�,���(�� 	0�	0
� (��0*. 2.1) 
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�
��	�� 2.1 
��+�$' , ��, :� �"� ��6�� �� ��4��$��$ 4�'�&��' #� &  �����$ 
 

��*-1������+, (���’+
 �	*��	 
D = da+6 D = dae+6 S = C (
 S = E 

D

 

D

 

b2

2bC = 0.4

=
 6

 m
δ

 
 

& � 
 # � � 
 � : &�
 ��-�*.�	#� '
�
� 
	*��� S=b2. 
��,���(�� ,���
���
��


 ��/0�*.1 %	1
���
, '*+ 

�

	�
�����+ ���*�/ ) ���,�����+# �	)#���� )�0(��
, 
	*�� 
����'��� � ��0*.2.2. 

 *+ ���*�/, 5	 �� )��/1*
 #��-� � ��0*. 2.2, #�3� #�-�	��� 
)��,	'+�.: 

'*+ �
�	
	*�2	���
, ���*�/ 
 

 " � = 3,5 ��; (2.1) 
 

'*+ ���, ��1
, ���*�/ 
 

 " � = 3,2 ��. (2.2) 
 

;
5	 ��'����� ,���
���
��


 ��	#*��	��� ���*�/, �, #	3*
�	 
�	)��,	�����
 )� 6	�#�*�#
: 

 
 "-1 # 0,43 " �; (2.3) 

 
 $-1 # 0,6 "-1 . (2.4) 
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��� )�0(���� 
	*��� � )�*�3�	��� ��' ��,�	*	2�� �
2	�	�*���+ 

�*�' �	)%	'�*
�
 �� '�� 2��%
: 
1) )�0(���� 
	*���, 5	 %�'*+2�7�. ���#�(��/ 	0�	0-� '	 
����)���+ )�0��; 

2) )�0(���� 
	*���, 5	 %�'*+2�7�. ���#�(��/ (
 ,�#�
	 – 
���#�(��/ 	0�	0-� %��*+ ����)���+ )�0��. 

����'���. �	0	(
, %	���,	�. )�0(��
, 
	*�� %��1	� 2��%
 �� 
%����
5�4  
�� 350. �	*��� -�4� 2��%
 � *��������� #�7�. ��)�� “#’+

,”.  *+ �, 
�
2	�	�*���+ �

	�
��	��7�. ���*�, 5	 �#�5�7�. ��2*�-7 0,3 – 0,5% 
(#��

 45, 50, 50B, 40�, 38�� �� ��1�). 

��
� 
	*��� #�7�. ����*

� �������3���*.�� �%�	#	3����. �� 
)��(�� 2�0��
�
, �*� �, 
���#��
(�� �	(����. '	�����.	 �
�	
�. 

����'���. �	0	(
, %	���,	�. 
	*�� '��2	� 2��%
 )��(�	 0�*.1�, -� 
HRC�  
40-64 �� �
5�. ��
� 
	*��� #�7�. ��)�� “����'
,”.  *+ �, �
2	�	�*���+ 
�

	�
��	��7�. ���*�, 5	 �#�5�7�. ��2*�-7 0,35 – 0,5% %�
 
	0’4#�	#� 2��������7. � ��
	#� ��)� ����'���. �	0	(
, %	���,	�. �� 
%����
5�4 HRC� 55. 

 *+ �
2	�	�*���+ )�0(��
, 
	*�� ) ����'���7 �	0	(
, %	���,	�. 
HRC�  
56 – 63 �� �
5� �

	�
��	��7�. ���*�, 5	 %�'*+2�7�. ,�#�
	 – 
���#�(��/ 	0�	0-� (-�#����-��, ����	-�#����-��, �)	������7). 

��#����-�� %�'*+2�7�. 
	*���, 5	 �
2	�	�*+7�.�+ �) ���*�/ 
#��	
 20�, 12��8, 20��8, 20�2�4�, 18����, 18�B�, 18�B�, 
25�B�, 15�B���, 25�2B���, 20�B�, 20�B�� �� ��1�. 

��-����. )�0(��
, 
	*��, 5	 %�	/1*
 -�#����-�7 �� 
)�2��������+, ����4�	 )�*�3
�. ��' +
	���/ %	���,���	2	 1��� 
(���
(��	��� ��2*�-�#, #�
�	����
���
, ����'	���), 2*
0
�
 1��� �� 
#�-�	��� ���-��
�
. 
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�
��	�� 2.2 
��4��$��$ 4�'�&��' #� &  #����! 

 
&�����) ����'���. F� F� ���
� 

 
 
 

D, 
## 

S,  
## 

���-��
�
 
�� 

%	���,�� 
�R� 

�&� 

�
��
#
		
0

�	
0

� 

45 
�70� 
125 
80 

�70� 
80 
50 

163-92 
179-207 
269-302 

- 
- 
- 

550 
680 
890 

270 
320 
630 

� 
� 
& 

40� 
200 
125 
125 

125 
80 
80 

235-262 
269-302 
269-302 

- 
- 

45-55 

790 
900 
1000 

640 
750 
800 

� 
� 
8, � 

40�� 
315 
200 
200 

200 
125 
125 

235-262 
269-302 
269-302 

- 
- 

48-53 

800 
920 
1000 

630 
750 
800 

& 
& 
8, � 

35�B�� 

315 
200 
125 
80 

200 
125 
80 
50 

235-262 
269-302 
269-302 
269-302 

- 
- 
- 

46-53 

760 
960 
1100 
1700 

500 
880 
960 
1350 

& 
& 
& 
8, � 

20� 125 80 179-207 56-63 650 400 �, 8, 
� 

12��3 200 
125 

125 
80 

300-400 
300-400 

56-63 
56-63 

920 
1000 

700 
800 

�, 8, 
� 
�, 8, 
� 

20�2�4� 
20��3� 
25�B� 

200 
200 
200 

125 
125 
125 

300-400 56-63 
1250 
900 
1000 

1070 
700 
800 

�, 8, 
� 

18�B� 200 
125 

125 
80 300-400 56-63 1000 

1250 
800 
950 

�, 8, 
� 

38�2�G � - - - 63-65 - - � 
 

& � 
 # � � 
 � : �#	��� %	)��(

 ���#�(�	� 	0�	0

: 
� – �)	������+; 8 – )�2���	������+; � – �	�#�*�)�-�+; 
� – ��'%��
; & – %	*�%1���+; � – -�#����-�+. 
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 *+ ����'�.	- �� �
�	
	�������3��
, )�0(���
, %���'�( )�
(�/�	 
�

	�
��	��7�. 
	*��� '��2	� 2��%
.  

 	�
�. 1
�	
� �	)%	��7'3���+ )��/1*	 2��������+ ) ��2���� ����#	# 
�
�	
	� (���	�
, +
� '�4 #	3*
����. 	��
#��
 ����'�7 �������3���*.�� 
�%�	#	3����. %�
 '	�
�. %�	���/ ��,�	*	2��. � -.	#� �
%�'
� #�4#	 ����'���. 
�	0	(
, %	���,	�. HRC� 40 – 50. &�
�-
%	�
/ ��'	*�
 -�4� ��,�	*	2�� – ������ 
'��. 0�*+ '�	, ���%���� �	(�	��� ��' 3	*	0*���+ '���*�. 

�%�
#�*.�� 2*
0
�� )�2���	���	2	 1��� 0,6–0,8 �� (��
	*
 '	 1,2 – 1,4 
��). 

8�0
 ) #	'�*�# m<6 �� #�7�. ��-�*.�� 2��������+, %�
 #	'�*� m?6 �� 
)�0
 )�2���	��7�.�+ %	 
	�����. 

�

��3
� )�0� 2����4�.�+ %	2��	, �� � ���. ����'
/ 1�� �� %	���,�� )�0� 
#�4 �� 	'��
	�� �	�5
��. ����	#������. �	�5
�
 %	���,���	2	 )#�-���	2	 
1��� %�
 2��������� ) ��'�
-�/�	2	 ��2���� )�*�3
�. 2	*	��
# (
�	# ��' �
%� 
��'�
�	��. 

"
�%*����-�+ )�0(��
, 
	*��, 5	 0�*
 )#�-���� ��'�
-�/�
# 2��������+#, 
%	
�)�4, 5	 �	�
 #�7�. #��1
/ ���#�� �	0	�	�%�	#	3�	���, ��3 -�#���	���� 
(
 �

	���� 	0’4#�
# 2��������+#. 

�0’4#�� 2��������+ %�'�
5�4 �������3���*.�� �%�	#	3����. '	 
����'�.	�. ��,�	*	2�+ %�	���, 3	*	0*���+ %	#����, )�

�4 	'�� ���%��. 

���#��
(�	� �	(�	���. 

��#����-�+ )�0�)%�(�4 �
�	
� �������3���*.�� �%�	#	3����. �� 
���0�*.����. +
	���/. ��'	*�
	# -.	2	 �%	�	0� 4 ��*

� 3	*	0*���+, ������ 
'�	, ���%���� 
���#��
(�	� �	(�	���. 

��#����-�+ �� %	�*�'�7(� 	0’4#�� 2��������+ %�'�
5�4 �����. 
�
��
��*	��� )�0�� � %	����+��� ) 	0’4#�
# 2��������+# %�
 	'��
	�
, 
#�,���(�
, ,���
���
��

�, ���-��
�
 � 1,5 – 1,6 ��)��. 

�	���
��� #�-����. -�#���	���
, )�0(��
, 
	*�� � %	����+��� ) 
�	�#�*�)	���
#
 �� %	*�%1��
#
 %�
0*
)�	 � 5 ��)�� �
5�. &	,
0
� �	(�	��� 
�� '�� ���%��� ��' 3	*	0*���+ %�
 �
2	�	�*���� -�#���	���
, 
	*�� �
#�2�4 
1*�6	�
� �	0	(	2	 %�	6�*7 )�0�� ) '	�+2����+# 
*��� 1	���
	��� %	���,	�. 
Ra = 0,80 – 0,63 ���. B*
0
�� 	0�	0

 1*�6�����+# %	�
��� 0��
 �� #��1 
0,12 – 0,25 ##, 5	0 )�+�
 %	���,���
/ 1�� #���*�, %����
(��
/ ��2*�-�# �� 
����'
#
 
��0�'�#
. 8��#��
 -�/ 1�� #���*� ) %	���,�� )�0� 	0	�’+)
	�	 � 
0�'. +

/ �%	��0. 
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2.5 ��. �  '�%��  "�'����$. ( +������, '�+'�4-�&���/� 
�������.���, 

  
&	��� �������3���+, +
� '�*� #�4 ��)�� �	)��,��
	�	2	, �	0�	 

�������3���+, �� +
� �	)��,	��7�. )�0(���� 
	*���, �
*�'��.�+ ) 

	�
��	2	 '� '
��#�(�	2	 �������3��.. 
 �	�
��� �0	 �	#���*.�� �������3���+ '�4 �� )�0
 � )�’+)
� ) 
%���'�(�7 
����	2	 #	#���� ��' 	'�	2	 
	*��� '	 '��2	2	. 
  
��#�(�� �������3���+ #	3� 0��
 )	���1��# �� 
�������3���+# � )�(�%*����. 
  
��#�(�� �������3���+ � )�(�%*���� �
�

�4 �)-)� %	��1��. 
1�2� )�(�%*���+. &�
(
�	7 -.	#� #	3��. 0��
 %	#
*

 
�
2	�	�*���+ 
	*�� �� '�6	�#�-�+ )�0��, ��*��, %�'1
%�

�� �� 

	�%��� ��'�
�	�� %�' �	0	(
# �������3���+#. 
 �������3���+# )�0(��	� %���'�(� 4 
����
/ #	#��� � �� ��*� 

	*���. ����
��� )#��
 -.	2	 �������3���+ � (��� ��)
��7�. 
��3
#	# �������3���+. ��)	�
# ��)
��7�. %	���/�
/ ��3
#, %�
 
+
	#� )	���1�4 �������3���+ )	���4�.�+ ��)#���
# %�
 (
�*� 
-

*�� 0�*.1
# 0�)
 
	���
��
, ��%��3��. limHN . �����
/ #	#��� 
�� ��*� 
	*��� '*+ ��
	2	 ��3
#� #�4 ��)�� �	#���*.�	2	. 
 &	���/�
/ ��3
# )�����(�4�.�+ '�3� ��'
	. :�
�
(�� 
�������3���+, )� +

# %��-74 *70� )�0(��� %���'�(�, )#���� � (���, 
�	0�	 �	�
�. �#	����
/ ,���
���. 
 $*+,	# ����
��
(�	� 	0�	0

 �
�%��
#����
, )�%
��� 
�
�
, 
�������3���+ #	3�	 %	0�'����
 2��6�
 �������3���+ � (���. 
B��6�
 #	3� 0��
 ���%��(���
# (2���	2��#�), �0	 � �
2*+'� %*���	� 

�
�	�. 
  *+ )��(�	��� #���#��
(�	� 	0�	0

 ��� ���%��� 2���	2��#
 
�	)#�5�7�. � %	�+'
� �, )#��.1���+ � ��'�	��
, 
		�'
����, 

max

iT
T

 

�� iN
NΣ

 ) ����
#
 #��1��0�#
 %	 	�+# (�
�. 2.2), 

'� �� – %	�	(�� )��(���+ 
����	2	 #	#����; 
     �max – ��/0�*.1
/ #	#��� �	�#�*.�	 ��'0���7(	2	�+ 
��,�	*	2�(�	2	 %�	-���; 
      Ni – (
�*	 -

*�� �	0	�
 )�0� � )�(�%*���� %�
 %	�	(�	#� 
#	#���� ��; 
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      NΣ – ��#���� 
�*.
���. -

*�� �������3��. )� )�'��
/ (�� 
�	0	�
 
             (��%��-7����+). 
 ;
5	 (���	�� 	0����� ��*� %	���/��, �	 

ii h hN N L LΣ � , '� 
ihL - 

���#�� '�� #	#���� Ti  � 2	'
��, )� )�'��
/ ���#�� �	0	�
 #�1
�
, 
Lh – )�'��
/ (�� �	0	�
 #�1
�
 � 2	'
��,. 

t1 2t nt...

nm
...

m

1m

ti = hiL
hL

mi = iT
Tmax

β=
T n

 i 
k
/

m
ax

T

2

 
 

�
�. 2.2 ���%��(���
/ 2��6�
 (2���	2��#�) �������3���+ %�
�	'� 
#�1
�
 

 
 &�' (�� �	0	�
 #�1
�
 #�7�. #��-� 
	�	�
	(���� %�
	�� 
#	#���
 ���� 0�*.1� ��3 �max. H, '3���*	 – #�
�
#�*.�
/ #	#��� 
'�
2���, +

/ #	3� 0��
 '	�+2���
/, ��%�

*�', %�
 ��3
	#� 
)�%��
�. �� %�
	�� #	#���
 '	 2��6�
� �������3���+ �� ���,	��7�., 
� )�'�7�. 
	�6�-�4��	# %��������3���+ β, +

/ )�%
��4�.�+ � 

���*	)� �*�
��
(�
, '�
2���� �%����'�	1���+# max í î ìT T .  	-�*.�	 

	�6�-�4�� %��������3���+ '*+ %�
�	'�� %�	#
�*	�	2	 
�����
�����+ 	0#�3
�
 ��*
(
�	7 β = 1,8. 
 &�
 )#���	#� %���#���� �������3��. �	)��,��	
 )�0(���	� 
%���'�(� �� #�-����. #	3� �

	�����
�. %	 	'�	#� �) �
3(� 
����'��
, #��	'��. 

1. ���	' �
����*����
, -

*��  
���	' �
����*����
, -

*�� )	��4��	���
/ �� %�
��'���+ 

)#���	2	 �������3���+ '	 ���%���� -

*	2��#
, +
� �
)��(�7�. 
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��/0�*.1� %	1
	'3���+ � %���'�(�. 
&�
 �	)��,��
� �� 
	���
��� �
��
��*���. )� �
,�'�� 

�	)��,��
	�� �������3���+ �1� %�
/#�7�. ��/0�*.1
/ 
����
/ 
#	#���, 5	 %�'�	'
�.�+ '	 %���'�(� '*+ +
	� (
�*	 -

*�� )#�� 
��%��3��. �� )�0� 1������� �� #��.1� 0,03 lim1HN . 

"
����*����� (
�*	 -

*�� ��%��3��. NHE 1 )�0�1������� 
�	)��,	��4�.�+ )� 6	�#�*	7  

NHE 1 = KHE lim1HN                                                (2.5), 
'� lim1HN  – 0�)	�� (
�*	 -

*�� )#�� ��%��3��., 5	 ��'%	��'�4 

#�3� �
��
��*	��� #������*� 1�������, 
1

2,4 6
lim1 30 120 10H HBN H= ≤ ⋅ ;                                           (2.6) 

1HBH  - ����'���. �	0	(	� %	���,�� )�0� 1������� � 	'
�
-+, �����*+. 
 �	�6�-�4�� �
����*����	��� KHE ���,	��4 ,���
��� -

*	2��#
 
�������3��..  *+ �%�	5��
, �	)��,��
�� �*�' ���,	�����
 ��*.

 
�� (���
�� -

*	2��#
, � +
�/ (
�*	 -

*�� '�� �������3���+ �� 
0�*.1 2 lim1HN . 
 &�
 ���%��(����/ -

*	2��#� ('
�. �
�. 2.1)  

3

1

1 lim1

ici
HE i

H H

NT
K

T N
� �

= Σ � �
� �

                                                (2.7)  

 &�
 �	)��,��
� �� �
��
��*���. )2
� )� �
,�'�� �	)��,��
	�� 
�������3���+ T1F %�
/#�7�. ��/0�*.1� '�7(� �������3���+ ) 
(
�*	# -

*�� )#�� ��%��3��. 0�*.1
# (
# 5⋅104, � %�
 %*���	#� 
,���
���� -

*	2��#
 ��%��3��. – �������3���+, +
	#� ��'%	��'�4 
5⋅104 -

*�� )#�� ��%��3��.. 
 �.	#� �������3���7 ��'%	��'�4 �
����*����� (
�*	 -

*�� 
)#�� ��%��3��. )2
�� 
 

NFE = KFENF lim ,                                                   (2.8) 
'� KFE – 
	�6�-�4�� �
����*����	���, 5	 ���,	��4 ,���
��� 
-

*	2��#
 �������3���+ 
 

1

1 lim

Fq

i i
FE

i F F

T N
K

T N
� �

= ⋅� �
� �

� ,                                              (2.9) 

NF lim – 0�)	�� (
�*	 -

*�� ��%��3��. �� )2
�, 
NF lim = 5⋅104 '*+ ���, #��	
 ���*�/ � *70	2	 �
%� ���#�(�	� 	0�	0

; 
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qF = 6 – )�0(��� 
	*��	 �	�#�*�)	����, %	*�%1��� �0	 �)	�	����; 
q = 9 – %�
 	04#�	#� (
 %	���,���	#� 2��������� )�0(��	2	 
	*���. 
 

2. ���	' �
����*����
, #	#����� 
"
����*����
/ #	#��� ���,	��4 )��(���+ � ���#�� '�� ���, ������ 

�������3��. )�0(��	� %���'�(�. ��� '�3� )��(�
/ %�
 �	)��,��
�,. 
��/ #��	' %�
/�+�
/ � 0�*.1	��� 
����. 

&�
 �	)��,��
� �� 
	���
��� �
��
��*���. )� �
,�'�� 
�	)��,��
	�� �������3���+ T1H %�
/#�7�. �
����*����
/ #	#��� 
T1HE, +

/ %�
 %�
0*
)�
, �	)��,��
�, '	����74 
 

3

1 13
1 1max 1max

1 1max 1

K
i i

HE HE
K

T N
T T K T

T N
� �

= = � �
� �

�  ,                                 (2.10) 

 
'� KHE – 
	�6�-�4�� �
����*����	���; 
    T1max – ��/0�*.1� �������3���+ '*+ 1������� )� -

*	2��#	7; 
    K – 
�*.
���. ���%���� -

*	2��#
; 
    NK1 = NΣ = 60n1cLh – ��#���� 
�*.
���. -

*�� �������3��. )�0� 

1������� )� ���. (�� �	0	�
;  
� – 
�*.
���. )�(�%*��. )�0� 1������� )� 	'
� 	0���. 

&�
 ��	(���
, �	)��,��
�, '*+ �
%�'
� 
1 lim1K HN N>  �*�' 

���,	�����
 '��2
/ ��,
* 
�
�	� �
��
��*	��� 
 

lim 1

lim1 1

3 10

1 1 1 110
1 1max

1max max

H K

H

N N
i i i i

HE HE
NK K

T N T N
T T K

T N T N
� � � �

= = +� � � �
� � � �

� �  .                 (2.11) 

 
 &�
 �	)��,��
� �� �
��
��*���. �� )2
� )� �
,�'�� 
�	)��,��
	�� �������3���+ T1F %�
/#�7�. �
����*����
/ #	#��� 
T1F" 
 

1

1 1
1 1max 1max

1 1max

F

K

q
K

i iq
FE FE

K

T N
T T K T

T N
� �

= = � �
� �

�  ,                             (2.12) 

 
'� qF – %�
/#��
 )� ��
	#��'�-�+#
 #��	'� �
����*����
, -

*�� 
(2.9). 
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3. ���	' �
����*����
, ��%��3��. 

 
��/ #��	' ��
	#��'	���
/ %�
 �	)��,��
� �� "��.  *+ 


	3�	2	 �-2	 ���%��7 -

*	2��#
 �
)��(�7�. ��'%	��'�� 
�	)��,��
	�� ��%��3���+ σ. 

&�
 �	)��,��
� �� 
	���
��� �
��
��*���. �
)��(�7�. 
�
����*����� ��%��3���+ σ�" 

σ�" = KHEσ�1,                                                 (2.13) 
 

'� σ�1 – �	)��,��
	�� ��%��3���+, 5	 ��'%	��'�4 %��1	#� ���%��7 
-

*	2��#
, %�
/�+�	#� '	 �	)��,��
�; 

 

1
lim lim1

6 20
1 16

6
1 1 1 1 limHi H HG Hi H

i Hi i Hi
HE H

H H H H H

N N
K

N Nσ σ σ σ σ

σ σ
σ σ σ> ≤ <Σ Σ

� �
= + ⋅� �

� �
� �  .                     (2.14) 

 
;
5	 ��� �	)��,	���� ��%��3���+ H iσ  �
5� *���� �
��
��*	���, 

�	 
 

6

16

1 1

i Hi
HE

H H

N
K

N
σ
σΣ

� �
= Σ � �

� �
,                                             (2.15) 

 
;
5	 ��� limHi Hσ σ≤ , �	 
 

20

120

1 1

i Hi
HE

H H

N
K

N
σ
σΣ

� �
= Σ � �

� �
,                                           (2.16) 

 
'� 1HN Σ  – ��#���� 
�*.
���. -

*�� ���, ���%���� -

*	2��#
 '*+ 

1�������, +
� %�
/�+�� '	 �	)��,��
� �� 
	���
��� 
�
��
��*���.; 

       H iσ  –  �	)��,	���� ��%��3���+ '*+ �-2	 ���%��7 -

*	2��#
; 
       1iN – 
�*.
���. -

*�� )#�� ��%��3��. )�0� 1�������, 5	 

���,	��4 �-#� ���%��7 -

*	2��#
; 
        lim0,75HG Hσ σ=  - ��%��3���+, 5	 �

*

�4 �1
	'3���+. 
 &�
 �
)��(���� �
����*����	2	 ��%��3���+ �� )2
� FEσ  
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���,	��7�. ��*.

 �� ��%��3���+ F iσ , 5	 0�*.1� �0	 ����� 
��%��3���7 �1
	'3���+ lim0,6FG Fσ σ= . "
����*����� ��%��3���+ 
�
)��(�7�. )� 6	�#�*	7 
 

1FE FE FKσ σ= ,                                                (2.17) 
'� 1Fσ  – �	)��,	���� ��%��3���+, 5	 ��'%	��'�4 %��1	#� ���%��7 

-

*	2��#
, %�
/�+�	� '	 �	)��,��
�,  

1

1 1

F

F

q

i Fiq
FH

F F

N
K

N
σ
σΣ

� �
= Σ � �

� �
,                                        (2.18) 

 
'� 1FN Σ  – ��#���� 
�*.
���. -

*�� ���, ���%���� -

*	2��#
 '*+ 

1�������, +
� %�
/�+�� '	 �	)��,��
� �� �
��
��*���. �� 
)2
�; 

      F iσ  – �	)��,	���� ��%��3���+ '*+ �-2	 ���%��+ -

*	2��#
; 
      N1i – 
�*.
���. -

*�� ��%��3��. )�0� 1�������, 5	 ��'%	��'�4 �-

#� ���%��7 -

*	2��#
; 
      qF – %	
�)�

 
�
�	� �
��
��*	���, 
      qF = 6 – )�0(���� 
	*��� �	�#�*�)	����, %	*�%1���, �0	 �)	�	����; 
      qF = 9 – %�
 	0’4#�	#� (
 %	���,���	#� 2��������� )�0(��
, 


	*��. 
&�
 �

	����� �	)��,��
�� �� #�-����. )�0(���
, %���'�( � 


���	�	#� %�	�
�� ) '
�-
%*��
 « ���*� #�1
�» �*�' ��'��
 
%�����2� #��	'� �
����*����
, #	#�����. 

 *+ ���6�
�-�� �	)��,��
�� ���*.�� -

*	2��#
 �������3���+ 
)��'��� '	 �
%	�
,, +
� �
)��(�7�. 
*�� �������3���+. ��

, 
*���� 
%�
/�+�	 ��#. 

�� 
*��
 � �
2*+'� �
%	�
, 2��6�
�� �������3���+ ����'��� �� 
�
�. 2.3. 

�	3�	#� 
*��� �������3��. ��'%	��'�7�. �	�#��
��� 

	�6�-�4��
 �
����*����	��� KE, ��#���
/ (�� ��%��-7����+ 
%���'�(� Lh �� 
	�6�-�4�� ��3
#� 

max

i iT N
x

T NΣ

= Σ , 5	 �

	�
��	��4�.�+ 

%�
 �
)��(���� 
	�6�-�4��� 
	�-�����-�� ��%��3��. Kβ 
(������	#���	��� �	)%	'�*���+ ��%��3��. %	 1
�
�� )�0(��	2	 
���-+). �� %���#���
 )��'��� '	 ��0*. 2.3. 
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�
��	�� 2.3 
���#  �������.��� 

 
KFE 

�*�� 
�������3���+ KHE Lh, 

2	'
� 
�	�6�-�4�� 
��3
#� x HB≤350 

qF=6 
HB>350 

qF=9 
H 1,0 1,0 32000 1,00 1,00 1,00 
� 0,8 0,8 16000 0,75 0,81 0,84 
� 0,63 0,63 8000 0,5 0,725 0,775 
� 0,56 0,56 4000 0,4 0,68 0,745 
� 0,5 0,5 2000 0,315 0,645 0,715 
� 0,4 0,4 1000 0,2 0,575 0,665 
� 0,315 0,315 500 0,125 0,51 0,615 

 
����'��/ #�1
��
/ (�� Lh �

	�
��	��7�. '*+ 	0(
�*���+ 

��#���	2	 (
�*� -

*�� �������3��. (���	0

) Nk. 
 

 

0  0.125     0.25           0.5      0.7                  1.0

1

0.5

0.1

H 0.315
H 0.4

H 0.5
H 0.56

H 0.63

H 0.8

H 1.0

Ni
Nk

Σ

T i
T max

 
 
�
�. 2.3. �
%	�� 2��6


 �������3���+ (�� 
�
�
, �
�)��� 


*��
 �������3���+) 
 
82�'�	 )  �� 21354-87 «&���'�(� )�0(��� -
*��'�
(�	 

��	*.������ )	���1�.	2	 )�(�%*���+. �	)��,��	
 �� #�-����..» 
�
%	�� 
*��
 �������3��. )��'��� '	 %’+�
 �
%	�
, ��3
#�� 



 44 

)#���
, �������3��. � 	'�	2	 %	���/�	2	 �������3���+. 
�
%	�� ��3
#
 �������3��. ����'��� �� �
�.2.4, � %���#���
 

-
, ��3
#�� )��'��� � ��0*. 2.4. 

0.5

0 0.5

I
II

IIIIV

V

0

Ni
Nk

Σ

T i
T max

 
�
�. 2.4 �
%	�� ��3
#
 �������3���+ 

 
�
��	�� 2.4 

��'����'  � "�� 4 '�. �$� �������.���, 
 

�	)��,��	
 �� �
��
��*���. 
%�
 )2
�� 

�	)��,��	
 
�� 
	���
��� 
�
��
��*���. KFE 

�	#�� 
�
%� 
��3
#� 
�������3�
��+ 

��3
#
 
�������3���+ 

KHE qF = 6 qF = 9 

0 &	���/�
/ 
��3
# 

1,00 1,00 1,00 

1 ��3

/ 0,80 0,82 0,84 
2 ����'��/ 

����	���	2�'�

/ 

0,63 0,72 0,77 

3 ����'��/ 
�	�#�*.�
/ 

0,56 0,63 0,69 

4 ��2

/  0,50 0,58 0,63 
5 ��	0*
�	 

*�2

/ 
0,40 0,48 0,54 

 
&�
#��
�. �

	�
��	��4�.�+ #��	' �
����*����
, #	#�����:   
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T1HE = KHE⋅T1max; T1FE = KFE⋅T1max. 
 �	)��,��
	�� �������3���+ �� )�0(��� 
	*��� %���'�(�, �	0�	 
�������3���+ �� +
� �	)��,	��7�. )�0(��� 
	*��� �� #�-����., 
�
*�'�4�.�+: 

• ) �	#���*.�	2	 %�
 %	���/�	#� ��3
#� �	0	�
 #�1
�� �0	 
�
����*����	2	 �������3���+ %�
 )#���	#� ��3
#�; 

• '	'��
	�	2	 )	���1�.	2	 '
��#�(�	2	 �������3���+ � 
)�*�3�	��� ��' ��3
#� �������3���+ '�
2��� �� �	0	(	� 
#�1
�
; 

• ������1�.	2	 '
��#�(�	2	 �������3���+ � )�(�%*����, 5	 
%	�’+)��� ) %	,
0
�#
 �
2	�	�*���+ �� %��3�.	7 
'�6	�#�-�47 )�0��, ��*��, %�'1
%�

��; 

• '	'��
	�	2	 �������3���+ )�0� �� 	
��#	#� �(���
� /	2	 
'	�3
�
, 5	 �
�

�4 ����*�'	
 %��3��, %���
	��� ��*�� 
(
	�-�����-�+ �������3��.). 
��

# (
�	#, �	)��,��
	�� �������3���+ (�	)��,��
	�
/ 


����
/ #	#��� �� ��*� 1�������) � )�2�*.�	#� �
2*+'� #	3� 0��
 
�
)��(���, +
 '	0��	
 
 

T1 = T1E⋅K,                                                    (2.19) 
 

'� � – 
	�6�-�4�� �������3���+, 
K = KA KV Kβ Kα,                                              (2.20)  

 
KA – 
	�6�-�4��, 5	 ���,	��4 )	���1�4 '
��#�(�� �������3���+; 
KV – 
	�6�-�4��, 5	 ���,	��4 ������1�4 '
��#�(�� �������3���+; 
Kβ – 
	�6�-�4��, 5	 ���,	��4 ������	#������. �	)%	'�*� 

�������3���+ %	 '	�3
�� 
	���
��
, *���/; 
 Kα – 
	�6�-�4��, 5	 ���,	��4 �	)%	'�* �������3���+ #�3 )�0�#
. 

���# �	2	, 
	�6�-�4��
, 5	 ��'�	�+�.�+ '	 �	)��,��
� �� 

	���
��� #�-����. #�7�. '	%	#�3�
/ ��'�
� � , � 
	�6�-�4��
, 5	 
��'�	�+�.�+ '	 �	)��,��
� �� )2
� – ��'�
� F. �� '	%	#�3�� ��'�
�
 
%�
 
	�6�-�4���, %
1��.�+ %��1
#
,  ��%�

*�'    
KHβ �� KFβ.  
 �	0�	, �	)��,��
	�� �������3���+ %�
 �	)��,��
� �� 

	���
��� #�-����. %�
 �

	�
������ #��	'� �
����*����
, 
#	#����� �
)��(�4�.�+ +
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T1H = T1max KHE KA KHv KHβ KHα.                                 (2.21) 
 &�
 �	)��,��
� #�-�	��� �� )2
� 
 

T1F = T1max KFE KA KFv KFβ KFα.                                   (2.22) 
 

 8	���1�4 '
��#�(�� �������3���+, +
 )� %���
*	, 
���,	��4�.�+ � -

*	2��#�, �	'� KA = 1. 
 ;
5	 � -

*	2��#� �� ���,	���	 )	���1�4 '
��#�(�� 
�������3���+, �	 
	�6�-�4�� KA %�
/#�7�. )2�'�	 ) ��
	#��'�-�+#
 
 �� 21354-87, '	'��	
 4. 

 
2.6 ("� � "�� ��& � /��������, �� ��1�'��2$! �� '�%��- 

+-%����3 "�'����$ 
 

� �'��*.�	 �	(�	 �
2	�	�*���/ )�0(���/ %���'�(� ) 
��	*.�����
# )�(�%*���+# %�
 ��'����	��� '�6	�#�7(	2	 )��
**+ 
� 0�'. +
� #
�. )�(�%*���+ %���'��	(�� (
�*	 u 0�'� %	���/�
#. � 
���*.�
, '�7(
, %���'�(�, -+ �#	�� �� �

	��4�.�+ � ���*�'	
 
��#
��(
, %	#
*	
 �
2	�	�*���+ %�	6�*7 )�0�, ��	'��
	�	2	 
1�2�, ��%�+#
�� )�0��, ��',
*���+ 	��/ ��*�� ��' %���*�*.�	��� �� 
��1	2	. 

&	,
0

 �
2	�	�*���+ %�
�	'+�. '	 �	2	, 5	 #
��4�� 
%���'��	(�� (
�*	 ��',
*+4�.�+ � 	0
'�� ��	�	�
 ��' ����'�.	2	 
)��(���+. �� �

*

�4 '	'��
	�� '
��#�(�� �������3���+ � 
)�(�%*����, ��0��-��, %�'�
5�4 ������
�����. 1�#�. 

�	�#
 �	(�	��� �� -
*��'�
(��/ )�0(��� %���'�(� ) 
��	*.�����
# )�(�%*���+# ��2*�#����7�.�+  �� 1643-81. �
# 
����'���	# �����	�*��	 12 ���%���� �	(�	��� �
2	�	�*���+ 
)�0(��
, 
	*��. ���%��� �	(�	��� %�
)��(�7�. � )�*�3�	��� ��' 
	
��3�	� 1�
'
	��� (��0*. 2.5). �	)%	'�* �������3���+ %	#�3 
)�0�#
 � ���*.��/ %���'�(� ��'��)�+4�.�+ ��' ��	���
(�	2	. �� 
���,	��4�.�+ 
	�6�-�4���#
 HK

α
 � FK

α
, +
� %�+#	 )�*�3��. ��' 

���%��� �	(�	��� �� 	
��3�	� 1�
'
	���.  *+ %�+#	)�0
, %���'�( 
�	�
 '	����77�. 	'
�
-� ( HK

α
= FK

α
=1). 

8��(���+ 
	�6�-�4���� HK
α
 � FK

α
 '*+ 
	�	)�0
, �� 1���	��
, 

%���'�( %�
/#��
 %	 2��6�
�, �� �
�. 2.5.  
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&	,
0

 �
2	�	�*���+ *��	
 )�0(���
, %���'�( � %��3�� 
'�6	�#�-�� ��*��, 
	�%����, 	%	� �� ��#
, 
	*�� %�
�	'+�. '	 �	2	, 
5	 2�	#���
(�� 	�� )�0(��
, 
	*�� %������7�. 0��
 %���*�*.�
#
. 
&���
	� 	��/ �� '�+

/ 
�� IA, 5	 �
#��74�.�+ �� %*	5
�� 
)�(�%*���+, �

*

�4 ������	#���
/ �	)%	'�* �������3���+ %	 
1
�
�� )�0(���	2	 ���-+. �+ ������	#������. ���,	��4�.�+ 

	�6�-�4���#
 HK

β
 �� FK

β
. ���4��	��� )��(���+ -
, 
	�6�-�4���� 

#	3��. 0��
 �
)��(��� %	 2��6�
�, (�
�. 2.6) � )�*�3�	��� ��' 

���#��
(�	� �,�#
 %�
�	'� �� ��'�	��	� 1
�
�
 )�0(��	2	 ���-+ 
<bd=bw/αw, +
� �*�' %�
/#��
 %	 ��0*. 2.6. 
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KHα
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αFK
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�
�. 2.5  B��6�

 '*+ �
)��(���+ 
	�6�-�4���� HK
α
 �� FK

α
 '*+ 
	�	)�0
, �� 

1���	��
, %���'�( 
 

�
��	�� 2.5 
( %$' #��"��$ �����#�$ "�'����$ 

 
�
��3�� 1�
'
���., #/� 

&�+#� )�0
 ��%�+#� )�0
 ���%��. 
�	(�	��� �
*��'�
(�� 

%���'�(� 
�	��(�� 
%���'�(� 

�
*��'�
(�� 
%���'�(� 

�	��(�� 
%���'�(� 

6 15 12 30 20 
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8 6 4 10 7 
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&	,
0

 �
2	�	�*���+ )�0(��
, 
	*�� �� �, #	���3� � 
%���'�(�, �%�
(
�+7�. 
	*
����+ #
��4�	2	 )��(���+ 
%���'��	(�	2	 ��'�	1���+ (��'�	1���+ J1/J2 � 
	3�� #
�. 
��'��)�+7�.�+ ��' ����'�.	2	 )��(���+ u=z1/z2) . �� +�
5� 
%�
�	'
�. '	 '	'��
	�
, '
��#�(�
, �������3��. � )�(�%*���. &�
 
�	)��,��
�, �� 
	���
��� #�-����. �� #�-����. %�
 )2
�� '	'��
	�� 
'
��#�(�� �������3���+, 5	 �
�

�7�. � )�(�%*����, ���,	��7�.�+ 

	�6�-�4���#
 KHV �� KFV.  

�� 
	�6�-�4��
 #�7�. ��*

� �	)��7����+ ����*�'	
 
	*
����+ 
��*
(
�, 5	 �,	'+�. '	 �
*�'� �	)��,��
	�
, 6	�#�*. �  �� 
21354-87 %�
/�+�
/ �	)��,��	
 '
��#�(�
, �������3��. � 
)�0(��
, %���'�(�, )� ��	��47 �'���.  *+ %�
0*
)�
, �	)��,��
�� 
%�+#	)�0
, %���'�( #	3*
�	 �

	�
��	�����
 )��(���+ 

	46�-�4���� KHV � KFV �) ��0*. 2.7 

�
��	�� 2.6 [5] 

'$0������$ +������, �$���#��3 5 ' �  +-%����/� �$�2, �bd 

 
8��(���+ %bd max %�
 ����'	��� 
�	0	(
, %	���,	�. )�0�� �	)#�5���+ 	%	� 

��'�	��	 )�0(��	2	 ���-+ 
(�
�. 2.4�) �1,2@350�� 

�1>350�� 
(
 

�2>350�� 
1. �
#���
(�� �� %	0*
)� 
)�0(��	2	 ���-+ (�,�#
 5 
�� 6). 
    ���
#���
(�� %�
 
�
�	
�/ 3	���
	��� 

	�����
-�/ (�,�#� 4) 

1,2-1,35 0,9-1,0 

2. ���
#���
(�� (�,�#
 2 
�� 3). 1,0-1,1 0,66-0,75 

3. &	 	'�� ��	�	�� ��' 
)�0(��	2	 ���-+ (�,�#� 1) 0,6-0,7 0,45-0,55 

 
& � 
 # � � 
 
 : 1) &�
 %	���/�	#� �������3���� )��(���+ <bd #	3��. 0��
 
)0�*.1��� �� 15-20%. 

 2) ��
	#��'�4�.�+ %�
/#��
 <bd=(0,8-0,95) <bdmax. 
 3) � 
	�	0
�, %���'�( ) )	���1��# )�(�%*���+# %�
/#��
 <bd @ 
0,15(u+1). 
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�
�. 2.6 – 8��(���+ 
	�6�-�4���� ������	#���	��� �	)%	'�*� �������3���+ KHβ 
�� KFK '*+ -
*��'�
(�
, )�0(��
, %���'�( 

� – �,�#� %���'�(; 0 – )��(���+ HK
β

 L%�
 H1,2 ≤ 350 HB; 

� – )��(���+ HK
β

 %�
 H1,2 > 350 HB; 2 – )��(���+ FK
β

 

%�
 H1,2 < 350 HB; ' – )��(���+ FK
β

 %�
 H1,2 > 350 HB. 
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�
��	�� 2.7 

���1$2$0�� � ���$���/� �������.���, [8] 
 

vHK  
vFK  

v, #/� 

�
��
%�
�.

 
�	
(�
	�
��

 %
	 

 
�
�

 1
64

3-
81

 ����'���. 
%	���,	�. 
)�0��, HB 

 
 
 

1 5 10 15 20 1 5 10 15 20 

H1 � H2 > 
350  

1,02
1,01

 1,10
1,06

 1,20
1,08

 1,30
1,12

 1,40
1,16

 1,02
1,01

 1,10
1,06

 1,20
1,08

 1,30
1,12

 1,40
1,16

 6 

H1 �0	 
H2≤ 350  

1,03
1,01

 1,16
1,01

 1,32
1,13

 1,48
1,19

 1,64
1,26

 1,06
1,03

 1,32
1,13

 1,64
1,26

 1,96
1,38

 
1,51

−  

H1 � H2 > 
350  

1,02
1,01

 1,12
1,05

 1,25
1,10

 1,37
1,15

 1,5
1,20

 1,02
1,01

 1,12
1,05

 1,25
1,10

 1,37
1,15

 1,5
1,20

 7 

H1 �0	 
H2≤ 350 

1,04
1,02

 1,20
1,08

 1,40
1,16

 1,6
1,24

 1,80
1,32

 1,08
1,03

 1,40
1,16

 1,80
1,32

 
1,48

−  
1,64

−  

H1 � H2 > 
350  

1,03
1,01

 1,15
1,06

 1,30
1,12

 1,45
1,18

 1,60
1,24

 1,03
1,01

 1,15
1,06

 1,30
1,12

 1,45
1,18

 1,60
1,24

 8 

H1 �0	 
H2≤ 350  

1,05
1,02

 1,24
1,10

 1,48
1,19

 1,72
1,29

 1,96
1,38

 1,10
1,04

 1,48
1,19

 1,96
1,38

 
1,58

−  
1,77

−  

H1 � H2 > 
350  

1,03
1,01

 1,17
1,07

 1,35
1,14

 1,52
1,21

 1,70
1,28

 1,03
1,01

 1,17
1,07

 1,35
1,14

 1,52
1,21

 1,70
1,28

 9 

H1 �0	 
H2≤ 350  

1,06
1,02

 1,28
1,11

 1,56
1,22

 1,84
1,34

 
1,45

−  1,11
1,04

 1,56
1,22

 
1,45

−  
1,67

−  −
−

 

 
2.7 ��"-#� �$ ��"'-.���, 

 
�	���
��� #�-����., � )��'�
 � '	%���
#� ��%��3���+, %���'���# 

)�*�3
�. ��' ����'	��� �	0	(
, %	���,	�. )�0��, ��3
#� �	0	�
 
%���'�(, 1	���
	��� �	0	(
, %	���,	�. )�0��, �’+)
	��� #���
*� �� 
�0�	*7��
, �	)#���� '���*�/. 

 	%���
#� ��%��3���+ %�
 �	)��,��
� �� )2
� )�*�3��. ��' 
,���
���� �	0	�
 )�0� %�' �������3���+# (%��-74 )�0 ��*.

 
	'��47 (
 	0	#� ��	�	��#
), #�3� ��
�(	��� F� , #�3� �
��
��*	��� 
F-1 #���*�, �%	�	0� ���#�(�	� 	0�	0

 �� ��1�. 

��

# (
�	#, %��
�
(�	 '	%���
#� ��%��3���+, � ��
	3 #��� 
�� 2�0��
��� �	)#��
 %���'�(� ����#%���' )�*�3��. ��' #��

 ���*� 
�� %�
/�+�	2	 �%	�	0� ���#�(�	� 	0�	0

. 
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 *+ )�0(��
, 
	*�� � ����/�	#� �� #��	�	#� �
�	0�
-��� 
��	0,�'�	 �
0
���
 #������* �� ���#�(�� 	0�	0
� ��

#
, 5	0 
)�0�)%�(
�
 ��/�
5� ����'���. �	0	(
, %	���,	�. )�0�� ���� %�
 
�
�	
�/ #�-�	��� )�0�� �� )2
�. �
# �
#	2�# ��/0�*.1 %	��	 
��'%	��'�7�. *�2	���� ���*�, 5	 %�'*+2�7�. -�#����-�� �� 
����	-�#����-��. 

�

	�
�����+ )�0(��
, 
	*�� ) ����' 350 HB �
%���'��	 ��*.

 
� 	
��#
, �
%�'
�, (��%�

*�', ��*

	2�0��
��� %���'�(� 
�����3	%�'/	#�
, (
 %	�	�	��
, ����	��), � ��
	3 %�
 
	'
�	(�	#� �
2	�	�*����. 

 	%���
#� 
	���
��� ��%��3���+ F��j, !(
, '*+ -
*��'�
(�
, 
)�0(��
, %���'�( )��,	'+�. 	
��#	 '*+ 1������� �� 
	*��� %	 
6	�#�*� 

 

 0 9 jH limbj N
HPj *

H

Z
,

s

σ ⋅
σ = ⋅ , (2.23) 

 
'� FHlimbj - #�3� 
	���
��	� �
��
��*	���, !(
, (j=1 '*+ 1�������, 
j=2 '*+ 
	*���); 

FHlimb1 – '*+ 1�������; 
"Hlimb2 – '*+ 
	*��� ; 

*
Hs  – 
	�6�-�4�� )�%��� #�-�	���; 

jNZ  – 
	�6�-�4�� ���#��� �	0	�
. 

� +
	��� '	%���
#	2	 
	���
��	2	 ��%��3���+ %���'�(�, +
� 
�

	�
��	��7�. � �	)��,��
�,, %�
/#�7�.: 

'*+ %�+#	)�0
, %���'�( #���#�*.�� ) '�	, �	)��,	���
, 
��*
(
� F��1 �� F��2 

 
 F�� = min{ F��1, F��2}; (2.24) 

 
'*+ 
	�	)�0
, �� 1���	��
, %���'�( %	 6	�#�*� 

 
 "�� = 0,45("��1+ "��2); (2.25) 

 
%�
 �

	����� �#	�
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 F��' 1,25 F��min. (2.26) 
 

��3� 
	���
��	� �
��
��*	��� FHlimb 	
��#	 '*+ 1������� �� 

	*��� )��,	'+�. )� 6	�#�*�#
 ��0*. 2.8. �	�6�-�4�� )�%��� 
#�-�	��� *

Hs  ��
	3 %�
/#�7�. %	 ��0*. 2.8 � )�*�3�	��� ��' 
����
���
 #���*�. 

 
�
��	�� 2.8 

��+'�4-�&��$ +���.��#�$ ��, � +������, 
��.$ &����&���3 � �' ����#�$ σσσσHlimb 

 
�%	��0 

���#�(�	� �� 
,�#�
	-
���#�(�	� 
	0�	0

 

����'�+ 
����'���. 
%	���,	�. 
)�0�� 

���*. 
:	�#�*� '*+ 

�	)��,��
� σHlimb, 
�&� 

*
Hs  

1. ��'%�*, 
�	�#�*�)�-�+ 
�0	 
%	*�%1���+ 

���≤350HB σHlimb=2���+70 

2. �0’4#�� �� 
%	���,���� 
2��������+ 

�HRC� =38-
50HRC� 

��2*�-��
� �� 

*�2	���� σHlimb= 
17�HRC�+200 

1,1 

3. ��#����-�+ 
�� 
����	-�#����-
�+ 

�HRC� >56 
HRC� 

σHlimb= 23�HRC� 

4. �)	������+ HHV= 550-750 
HV 

��2	���� 

σHlimb=1050 

1,2 

SH
* - 
	�6�-�4�� )�%��� #�-�	��� 

 
�	�6�-�4�� ���#��� �	0	�
 

jNZ �	)��,	��7�. +
: 

 

 6
j

j

H lim
N

k

N
Z

N
= ,  +
5	 N� @NHlim, (2.27) 
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�*� �� 0�*.1� 2,6 '*+ 	'�	��'�	� ����
���
 #������*� �� 1,8 '*+ 
%	���,���	2	 )#�-����+; 

 

 lim
20

j

j

H

N
K

N
Z N

= ,  +
5	 
jKN > NHlim, (2.28) 

 
�*� �� #��1� 0,75. 
��� NHlim – 0�)	�� (
�*	 -

*�� ��%��3��., +
� ��'%	��'�4 #�3� 
�
��
��*	���, 

 
 2 4 630 120 10,

H lim HBN H= ≤ ⋅ ; (2.29) 
 

NKj – (
�*	 -

*�� ��%��3��. � )�*�3�	��� ��' )�'��	2	 ���#��� 
�*�30
, 

 
 60

jK j j hN n c L= ⋅ ⋅ ⋅ , (2.30) 
 

'� nj – (
�*	 	0����� 
	*���, +
� �	)2*+'�4�.�+, ��/
�; 
    �j – (
�*	 )(�%*��. )� 	'
� 	0���; 

Lh – )�'��
/ ���#�� �*�30
 (������), 2	'
�
. 
 	%���
#� 
	���
��� ��%��3���+ %�
 #�
�
#�*.�	#� 

�������3����, +
� �� �

*

�4 )�*
1
	�
, '�6	�#�-�/ (
 ,��#
	2	 
��/������+ %	���,���	2	 1��� FHPmax, )�*�3
�. ��' �%	�	0� ,�#�
	-
���#�(�	� 	0�	0

 )�0(��	2	 
	*��� �� ,���
���� )#��
 ����'	��� %	 
2*
0
�� )�0�: 
1) '*+ )�0(��
, 
	*��, 5	 %�	/1*
 �	�#�*�)�-�7, %	*�%1���+ �0	 
	0’4#�� )�2���	������+, %�
/#�7�. 

 
 FHPmax=2.8⋅F�; (2.31) 

 
2) '*+ )�0��, 5	 %�	/1*
 -�#����-�7 �0	 
	������ 2���	������+, 
%�
/#�7�. 

 
 FHPmax=44⋅HHRC�. (2.32) 

 
 	%���
#� ��%��3���+ %�
 �	)��,��
� �� ����*��
/ )2
� 
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�	)��,	��7�. 	
��#	 '*+ 1������� �� 
	*��� %	 6	�#�*� 
 

 0 8
j j

o
F limb

FP N
F

. Y
s

σσ = , (2.33) 

 
'� o

F limbσ  – #�3� �
��
��*	��� )�0�� %�
 �	)��,��
� �� )2
�, +
� 
��'%	��'�4 0�)	�	#� (
�*� -

*�� ��%��3��., !(
; 

SF – 
	�6�-�4�� )�%��� #�-�	��� %�
 �	)��,��
� �� )2
�; 

jNY  – 
	�6�-�4�� ���#��� �*�30
. 

j = 1 – '*+ 1�������, j = 2 – '*+ 
	*���. 
8��(���+ o

F limbσ  �� sF �*�' %�
/#��
 %	 ��0*. 2.9. �	�6�-�4�� ���#��� 
�*�30
 

jNY  �	)��,	��7�. %	 6	�#�*� 

 

 1Fj

j

F lim
N

K

qY N
N

= ≥ . (2.34) 

 
 *+ )�0(��
, 
	*�� ) 	'�	��'�	7 ����
���	7 #������*�, 5	 

�
*7(�4 ��'�
-�/�� 2���	������+, �� )�0(��
, 
	*�� ) 1*�6	���	7 
%���,�'�	7 %	���,��7, ��)�*�3�	 ��' ����'	��� �� ���#�(�	� 
	0�	0

 �, )�0�� %	
�)�

 ���%��� qF=6. 

 *+ )�0(��
, 
	*��, 5	 �)	�	����, -�#���	���� �� 
����	-�#���	���� ) �� 1*�6	���	7 %���,�'�	7 %	���,��7 %	
�)�

 
���%��� qF=9. 
��/0�*.1� )��(���+ YN: 

 
 YNmax=4 %�
 qF=6;  

 
 YNmax=2,5 %�
 qF=9;  

 
��)	�� (
�*	 -

*�� %���#�� ��%��3��. NFlim '*+ ���, #��	
 

���*�/ %�
/�+�
 NFlim=4.106. 9
�*	 -

*�� ��%��3��. � )�*�3�	��� ) 
)�'��
# ���#��	# �*�30
 NK �	)��,	�����
 %	 6	�#�*� (2.30). 
;
5	 NK> NFlim, %�
/�+�
 YN=1. 
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�
��	�� 2.9 

��.� � �' ����#�$ "'  '�+'�4-�&- �� +/ �, ;ºF lim b, ��� 
 

����'���. 
���*. ���#		0�	0


� %	���,- 
�� 

���-�- 
�
�
 

FºF lim b sF FºFst 

1. ��2	����, +
� 
�#�5�4 ��
�*+ 
0�*.1 1%, �� 
,�	#� 1% 

57...63 
HRC� 

30...45 
HRC� 

950 1,55 2800 

2. ��2	���� ���, 
��1
, #��	
 

��#����-�+ 
�� 

2��������+ 

57...63 
HRC� 

30...45 
HRC� 

800 1,65 2000 

3. 
��	#	#��2��-��
�, 
5	 �#�5�4 
#	*�0'�� 

1000 2500 

4. ��2	����, +
� 
�� 
�#�5�4 #	*�0'�� 

����	-�#��
��- 
-�+ 
�� 

2��������+ 
57...63 
HRC� 

30...45 
HRC� 

750 

1,55 

2200 

5. ��2*�-��� �� 
*�2	����, +
� 
�#�5�4 
��2*�-. 0�*.1 
0,15% 

�	�#�*�)�-�
+, 

%	*�%1���+ 180...350 �� 1,75⋅��
� 

1,7 6,5⋅��
� 

6. ��2	����, 5	 
�#�5�4 ��2*�-7  
0,4-0,55% 

500 1,7 2500 

7. ��1� *�2	���� 

�0’4#��  
2��������+ 45...55 HRC� 

400 1,7 2250 
8. ��2*�-��� �� 
*�2	���� 

B��������+ 
%�
 

��'�
-�/�	#
� 

��2���� 

48...550 HRC� 390 1,7 2250 

 
�� ���'�� %�	�
��	2	 �	)��,��
� '	%���
#� ��%��3���+ �� )2
� 
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#	3��. 0��
 �	)��,	���� %	 6	�#�*� 
 

 00 4
jFPj F limbj N, Yσ = ⋅ σ ⋅ . (2.35) 

 
 *+ ������
��
, )�0(��
, %���'�( FFPj ���0� )#��1
�
 �� 25%. 
��/0�*.1� )��(���+ '	%���
#	2	 ��%��3���+ %�
 )2
�� 
#�
�
#�*.�
# �������3���+# �
)��(
�
 	
��#	 '*+ 1������� �� 

	*��� %	 6	�#�*� 

 

 
0

0 9
j

FSt
FP max

FSt

,
s

= σσ ; (2.36) 

 
'� σ 0

FSt
 – 0�)	�� )��(���+ ��/0�*.1	2	 ��%��3���+ )�0�� %�
 )2
�� 

#�
�
#�*.�
# �������3���+#, !(
 (��0*. 2.9), 
sFSt – 
	�6�-�4�� )�%��� #�-�	��� %�
 �	)��,��
� �� )2
� 
#�
�
#�*.�
# �������3���+#. 
 *+ %	
	�	
 �� 1��#%	�	
 sFSt=1,75; '*+ %�	
��� sFSt=1.6; '*+ 
*
����
, )�2	�	�	
 sFSt =1.4. 
 

2.8 ��#�$����$#�� '�+'�4-�&- ��"-#� � 4 ��"'-.��� 
 

  	 %	(��
� �	)��,��
� '	%���
#
, ��%��3��. ��	0,�'�	 
%�
)��(
�
 #��
� ���*� �� �%	��0 ���#�(�	� 	0�	0

 	
��#	 '*+ 
1������� �� )�0(��	2	 
	*���, �%
��7(
�. �� ��
	#��'�-�� �	)'�*� 
2.4. 
 �
,�'�� '����, +
� ��	0,�'�� '*+ �	)��,��
� '	%���
#
, 
��%��3��. ()�'���, %�
/�+�� �� ����1 �	)��,	���� ��*
(
�
) )��'��� 
� ��0*. 2.10. 
 &	�*�'	�����. �	)��,��
�� '	%���
#
, ��%��3��. �*�' 
�

	�����
 )� �,�#	7 �*2	�
�#�, +
� ����'��� �� �
�. 2.7. 
 ��/ �*2	�
�# #	3� 0��
 ���*�)	���
# � �
2*+'� %�	2��#
 &� 
(
 %	�*�'	��
# �	)��,��
	# � ��(�	#� ��3
#�. 
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�
��	�� 2.10 

�
,�'�� '��� '*+ �
)��(���+ '	%���
#
, ��%��3��. %�
 
�	)��,��
� ��	*.�����
, -
*��'�
(�
, )�0(��
, %���'�( 

 
�
,�'�� 
'��� &	)��(
� ��*
(
�� 8����3���+ 

���#�� '	�2	��(�	��� 
%���'�(�, 2	'
�
 Lh 

 
8��'���+ 

9���	�� 	0����� ��*� 
1�������, 	0/,�. n1 

 

&���'��	(�� (
�*	 u  
1�������  c1  9
�*	 

)�(�%*��. )� 
	'
� 	0��� 


	*��� c2 
 

����#��
(�
/ 
�	)��,��	
 
%�
�	'� 

1�������    ���
� ���*� 

	*���   
1�������    �%	��0 

���#		0�	0


 


	*���   

&�
/�+�
 
��#	���/�	 %	 
��0*. 2.2. 

1�������  H1  ����'���. 
�	0	(
, 
%	���,	�. 
)�0� 


	*��� 
 2 

  

��� ��,
*� )�0�, 2��'. M  &�
/�+�
 
��#	���/�	 

&	
�)�

 ���%��� '*+ 
�	)��,��
� 
	�6�-�4��� 
���#��� �*�30
 

qF 

 � )�*�3�	��� 
��' �%	�	0� 
���#		0�	0
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�
��. 

��� j=n  =n  2 1 NH lim j

(2.29) (2.30)
jKN > �
�

��

ZN

1 ; 2/	

2.10

ZNj >1.8
�
���

H >HBj 350q  =F 6

�� 1.8=NZ
9Fq   =

2.6jNN   >

�
�

ZN

�
�

��

��

�
�

��

�
�

�
�

��

���

�
��
�

��

��

�
�

��

�
�

N
N

6

σH lim j

SH j(�
��.     )

;
2.8

σHP1
(2.23)

2HP<σσHP j

σHPmin
σHP12HPσ

minHPσβ  0σHP

(2.25)
jNZ    =2.6

q   >F 6

jH >HB 350σHP σHPmin

YN j

(2.34)
jNY   =1

1.63N jY   = 2.08

FPj
σ
(2.33)(2.35)

σ
jFP �
�����


������

(�����	�	

��� j=1;2

NK j
>4.106 σHPmax j

(2.31)
max jHPσ

(2.32)

b

bjF limσ
2.9(�
��      )

°
jNY   >

σF j
SSt ;

(�
��      )2.9
FPmaxσ (2.36)

HP HPmax;

FP; FPmax

minHPσσHP
1.25 =

= = =

= 1.25
HP σHPσ

min
>

��
�
�

KN
(2.27) (2.28)

N jY   =

F jSt

80

 
 
�
�. 2.7 – �,�#� �*2	�
�#� '	%���
#
, ��%��3��. '*+ )�0(��
, %���'�( 



 59 

 
�*2	�
�# �
)��(���+ '	%���
#
, ��%��3��. 

 
 ���
� ���*� �� �%	��0 ���#�(�	� 	0�	0

 '*+ 1������� �� )�-
0(��	2	 
	*��� #�7�. 0��
 �
)��(��� '	 %	(��
� �	)��,��
�. 
  *+ -

*� �	)��,��
� '	%���
#
, ��%��3��. %�
/�+�� ��
� 
)��(���+ ��'�
��� � �	)��,��
	�
, 6	�#�*�,: 
j = 1 – '*+ ���, %���#�����, 5	 ��'�	�+�.�+ '	 1�������; 
j = 2 – '*+ ���, %���#�����, 5	 ��'�	�+�.�+ '	 
	*���. 
 �

	�
��	��4�.�+ #��	' �
����*����
, #	#�����. 
1. �	)��,����
 0�)	�� (
�*	 -

*�� ��%��3��., 5	 ��'%	��'�4 #�3� 
�
��
��*	��� )� 6	�#�*	7 (2.29) � )�*�3�	��� ��' %�
/�+�	2	 �%	-
�	0� ���#�(�	� 	0�	0

 
 

2,4
lim 30

j jH HBN H=  
 

 ;
5	 6
lim 120 10H jN > ⋅ , �	 %�
/�+�
 6

lim 120 10H jN = ⋅ . 
2. �
)��(
�
 (
�*	 -

*�� ��%��3��. ��'%	��'�	 '*+ 1������� �� 

	*��� )� ���. )�'��
/ ���#�� �*�30
 

60Kj j j hN n c L=  
3. �
)��(
�
 
	�6�-�4�� ���#��� �	0	�
 (
	�6�-�4�� '	�2	��(�	���) 
ZN j : 

lim
6

H j
N j

K j

N
Z

N
= , +
5	 NKj ≤ NHlim j, �*� �� 0�*.1� 2,6 '*+ 	'�	��'�	� 

����
���
 #������*� (H1 �� H2 ≤350 HB) �� 1,8 '*+ %	���,���	2	 
)#�-����+  (H1,2 >350 HB): 
 

lim
20

H j
N j

K j

N
Z

N
= , +
5	  NKj > NH lim j , �*� �� #��1� 0,75. 

4. �	)��,����
 #�3� 
	���
��	� �
��
��*	��� σHlimb, 	
��#	 '*+ #�-
�����*� 1������� �� #������*� 
	*��� � )�*�3�	��� ��' %�
/�+�	2	 
�%	�	0� ���#�(�	� 	0�	0

 )� �	)��,��
	�
#
 6	�#�*�#
 %	 ��0*. 
2.8. 
5. �	�6�-�4�� )�%��� #�-�	��� HS ∗  %�
/�+�
 %	 ��0*. 2.8. 
6. �	)��,����
 	
��#	 '*+ 1������� �� 
	*��� '	%���
#� 
	���
��� 
��%��3���+ %	 6	�#�*� 2.23, �&�. 
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lim0,9 H bj N j
HPj

H

Z

S

σ
σ ∗= . 

7. � +
	��� '	%���
#	2	 
	���
��	2	 ��%��3���+ '*+ %	'�*.1	2	 
�	)��,��
� %���'�(� %�
/�+�
, �&�: 

• '*+ %�+#	)�0	� %���'�(� (β = 0) #���#�*.�� )��(���+ ) σHP1  �� 

σHP2 , �	0�	 1

2

min
HP

HP
HP

σ
σ

σ
� 	
 
= � �

 

 �

; 

• '*+ 
	�	)�0
, � 1���	��
, %���'�( (β ≠ 0) %	 6	�#�*� (2.25) 
( )

1 2
0,45HP HP HPσ σ σ= +  

  %�
 �

	����� �#	�
  
min1, 25HP HPσ σ≤  

8. �
)��(
�
 '	%���
#� 
	���
��� ��%��3���+, +
� �� �

*

�4 )�-
*
1
	�
, '�6	�#�-�/ (
 ,��#
	2	 ��/������+ %	���,���	2	 1��� 
%�
 #�
�
#�*.�	#� �������3���� σHPmax � )�*�3�	��� ��' %�
/�+�	-
2	 �%	�	0� ���#�(�	� 	0�	0

: 

• '*+ )�0(��
, 
	*��, 5	 %�	/'��. �	�#�*�)�-�7, %	*�%1���+ 
�0	 	0’4#�� 2��������+, %�
/�+�
, �&�, σHPmax = 2,8 σT; 

• '*+ )�0(��
, 
	*��, 5	 %�	/'��. -�#����-�7 �0	 
	������ 2�-
�������+, %�
/�+�
, �&�, σHPmax = 44 HHRC. 

9. &�
/�+�
 %	 ��0*. 2.9 � )�*�3�	��� ��' #��

 ���*� �� %�
/�+�	2	 
�%	�	0� ���#�(�	� 	0�	0

 #�3� �
��
��*	��� %�
 �	)��,��
� �� 
)2
� limF bσ �  �� 
	�6�-�4�� )�%��� #�-�	��� SF. 
10. �
)��(
�
 
	�6�-�4�� ���#��� �*�30
 (
	�6�-�4�� '	�2	��(�	�-
��) YNj )� 6	�#�*	7 (2.34) 

64 10
1Fq

N j
K j

Y
N
⋅= ≥  (+
5	 64 10K jN > ⋅  �	 1N jY = ), 

'� %	
�)�

 ���%��� qF = 6 '*+ )�0(��
, 
	*�� ) 	'�	��'�	7 ����
-
���	7 #������*�, � ��
	3 %�
 ��'�
-�/�	#� 2��������� �� '*+ )�-
0(��
, 
	*�� ) 1*�6	���	7 %���,�'�	7 %	���,��7; 

YNjmax = 4 %�
 qF = 6; 
%	
�)�

 ���%��� qF = 9 '*+ )�0(��
, 
	*��, 5	 �)	�	����, -�#���	-
���� �� ����	-�#���	���� ) �� 1*�6	���	7 %���,�'�	7 %	���,��7,  

YNjmax = 2,5 %�
 qF = 9. 
11. �	)��,����
 	
��#	 '*+ 1������� ��  
	*��� '	%���
#� ��%��-
3���+ �� ����*��
/ )2
�, �&� 
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lim0,8 F bj
FPj N j

Fj

Y
S

σ
σ =

�

. 

12. &�
/�+�
 %	 ��0*. 2.9 0�)	�� )��(���+ ��/0�*.1	2	 ��%��3���+ 
)�0�� �� )2
� %�
 #�
�
#�*.�	#� �������3���� 

tFSσ � , �&�. 
13. 8�'��
�. 
	�6�-�4��	# )�%��� #�-�	��� �� )2
� %�
 #�
�
#�*.-
�	#� �������3���� � )�*�3�	��� ��' %�
/�+�	2	 �%	�	0� �
2	�	�-
*���+ )�2	�	�	
 
(SFSt = 1,75 – 1��#%	�
�; SFSt = 1,6 – %�	
��; SFSt = 14 – *
����� )�2	-
�	�
�). 
14. �	)��,����
 ��/0�*.1� )��(���+ '	%���
#	2	 ��%��3���+ �� 
)2
� #�
�
#�*.�
# �������3���+# 	
��#	 '*+ #������*� 1������� 
�� 
	*���, �&�, 
 

max 0,9 FSt
FP

FStS
σσ =
�

. 

 
2.9 ��#�$����$#�� '�+'�4-�&- 2 �$��' �� 4 ���������� 4 +--

%��� 4 "�'���� 
 �
,�'�� '���� '*+ �	)��,��
� %���'�(� �
*7(�7�. )�'���, %�
-
/�+�� �� ����1� �	)��,	���� ��*
(
�
. ��� �
,�'�� '��� )��'��� � 
��0*. 2.11. 
 �
,	'+(
 ) �	2	, 5	 6�
�
(�� �������3���+ %���'�( )#���� � 
(��� � �	�
�. �#	����
/ ,���
���, '�*� '*+ �	)��,��
� �� #�-����. 
)�0(��
, %���'�( �

	�
��	���
/ #��	' �
����*����
, #	#�����. 
 �	�6�-�4��
 �
����*����	��� KHE � KFE �� 
	�6�-�4�� ��3
#� x 
� )�*�3�	��� ��' )�'��	2	 
*��� �������3���+ %�
/�+�
 %	 ��0*. 
2.3. 
 ;
5	 
*�� �������3���+ �� )�'��
/, '*+ %	'�*.1
, �	)��,�-
�
�� �*�' %�
/�+�
 ����'�.	 �#	����
/ 
*�� �������3���+ � 0,63. 
 &�
 �
)��(���� 
	�6�-�4��� 
	�-�����-�� �������3���+ �β �*�' 
���,	�����
 %�
�	0*���+ )�0�� ) (��	# %�
 ����'	��� �	0	(
, %	-
���,	�. HB2 ≤ 350. 
  � -.	#� ��)�  Kβ '	����74�.�+:   

( )0 1 1,05H HK K x xβ β= − + ≥ ,                                     (2.37) 
( )0 1 1,04F FK K x xβ β= − + ≥ .                                     (2.38) 

'� 0
HK β  � 0

FK β  - 
	�6�-�4��
 
	�-�����-�� '	 %�
�	0*���+ � %�
/�+�� 
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%	 2��6�
�# �
�.2.6. &���'�(�, � +

, ����'���. �	0	(
, %	���,	�. 
HRC2 ≥ 40, �� %�
�	0*+7�.�+.  *+ �
, )��(���+ 
	�6�-�4���� 0

HK β  � 
0
FK β , %�
/�+�
, %	 
�
�
# �
�. 2.6, )	���7�.�+ ��)#���
#
. 

 �	#%*�
��
/ �	)��,��	
 -
*��'�
(�
, ��	*.�����
, )�0(��-
�
, %���'�( �

	��4�.�+ )� �*2	�
�#	#, 5	 �

*�'��
/ �
3(�. ��/ 
�*2	�
�# #	3� 0��
 ���*�)	���
# � �
2*+'� %�	2��#
 '*+ "�� (
 
�

	���
# ��(�
# �	)��,��
	#. 
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�
��	�� 2.11 

( 4$��$ ����$ ��, '�+'�4-�&- 2 �$��' ���3 �����������3 
+-%����3 "�'����$ 

 

�
,�'�� '���� &	)��(-

� 

��
*
(

�� 

 	'��	
 

��� �
,�'�	2	 
	�����, ��
�. α 20  
��� ��,
*� )�0�, ��
�. β  8�'��
�. 
&���'��	(�� (
�*	 u  �	)��,����
 
���%��. �	(�	��� )�  �� 
1643-81   ��0*. 2.5 

��
�
#�*.�� �������3���+ 
1������� )� -

*	2��#	7, �# �1max  �	)��,����
  

%	 

	���
�� KHE �	�6�-�4�� 

�
����*����	��� �� )2
� KFE 
 &�
/�+�
 %	 ��0*. 

2.3 

%	 

	���
�� �1�  1 1maxH HET K T=  �
,�'�� 

�	)��,��
	�� 
�������3���+ �� 
��*� 1�������, �⋅� 

�� )2
� �1F  1 1maxF FET K T=  

�	�6�-�4�� %��������3���+ max

í î ì

T
T

  &�
/�+�
 %	 

���*	2� '�
2���� 

%	 

	���
�� �1����  max

1 1Hï ³ê H
í î ì

T
T T

T
� �

= � �
� �

 &�
	�� 
�������3���+ �� 
��*� 1�������, �⋅� �� )2
� �1F���  max

1 1Fï ³ê F
í î ì

T
T T

T
� �

= � �
� �

 

 	%���
#� 
	���
��� 
��%��3���+, !(
 σHP  

1������� (σHPmax)1  ��/0�*.1� 
'	%���
#� 

	���
��� 
��%��3���+ 


	*��� (σHPmax)2  

1������� σFP1   	%���
#� 
��%��3���+ �� )2
�, 
!(
 
	*��� σFP2  

�	)��,����
 



 64 

 
�������	

� ��
���� 2.11 

 
1�����
�� (σFPmax)1  ��/0�*.1� 

'	%���
#� 
��%��3���+ �� )2
�, 
!(
 
	*��� (σFPmax)2  

 

��'�	��� 1
�
�� )�0(��	2	 
���-+ ψbd  &�
/�+�
 %	 

��0*. 2.6 
%	 

	���
��  KHK  �	�6�-�4��, 5	 

���,	��4 
������	#������. 
�	)%	'�*� 
�������3���+ %	 
'	�3
�� 
	���
��
, 
*���/ 

�� )2
� KFK  

&�
/�+�
 %	 
�
�. 2.6 ) 

���,�����+# 
6	�#�* (2.37) � 

(2.38) 

%	 

	���
��  KHV 

�	�6�-�4��, 5	 
���,	��4 '
��#�(�� 
�������3���+, +
� 
�
�

�4 � 
)�(�%*���� 

�� )2
� KFV 

 
&�
/�+�
  
%	 ��0*. 2.7 

 

%	 

	���
��  KHK �	�6�-�4��, 5	 

���,	��4 �	)%	'�* 
�������3���+ %	#�3 
)�0�#
 

�� )2
� �FK 

 &�
/�+�
 %	 
�
�. 2.5. 

�	�6�-�4�� #������*�, 
(!(
1/2) ZE  

 *+ ���*��
, 
	*�� 
%�
 �1=�2=2,1� 105 

!(
, �� N1= N 2=0,3  
ZE =190 

 	%	#�3�
/ 
	�6�-�4�� Ka 
%�
 �	)��,��
� #�3	�.	�	� 
��'����� 

Ka  β=0 Ka=495; β≠0 
Ka=430. 
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��/�' �� '�+'�4-�&- 

 
 *+ -

*� �	)��,��
� -
*��'�
(�	� ��	*.�����	� )�0(��	� 

%���'�(� %�
/�+�� �*�'�7(� )��(���+ ��'�
���: 
J=1-'*+ ���, %���#����� 1�������; 
J=2-'*+ ���, %���#����� 
	*���. 
1. �
)��(��
 
	�6�-�4�� ��'�	��	� 1
�
�
 )�0(��	2	 ���-+ 

 

 2
1

bd
ba u

ψψ =
+

. (2.39) 

 
8��/'��� )��(���+ %���#���� <b
 	
��2*
�
 '	 ��/0*
3(	2	 
)��(���+ �) ����'����	2	 �+'� : 0,1; 0,125;, 0,16; 0,2; 0,25; 0,315; 0,4; 
0,5; 0,63; 0,8; 1; 1,125. 
2. �	)��,����
 )��(���+ #�3	�.	�	� ��'�����, �� 

 

 ( ) 1
3

21 H H
w a

ba HP

T K
a' K u

u
β= +

ψ σ
 (2.40) 

 
&�
/�+�
 ��/0*
3(� ����'����� )��(���+ #�3	�.	�	� ��'����� 
w. 
����'��� #�4 '�� �+'
 )��(��. 
w, %�����2� ���0� ��''��
 %��1	#� 
�+'� ( %�
 �	)��,��
� �� "�� �����
 � %�	2��#�): 

%��1
/ �+': 40; 50; 63; 80; 100; 125; 160; 200; 250; 315; 400; 
500; 630; 800; 1000; 1250; 1600; 2000; 2500 ��; 

'��2
/ �+': 140; 180; 225; 280; 355; 450; 560; 700; 900; 1120; 
1400; 1800; 2240 ��. 
2. �
)��(
�
 #	'�*. %���'�(�, ��, 

 
 m=(0,01...0,02)⋅
w (2.41) 

 
 *+ %	'�*.1
, �	)��,��
�� %�
/�+�
 ��/0*
3(� ����'����� 
)��(���+ #	'�*+. 
����'��� #�4 '�� �+'
 #	'�*�/, %�����2� ���0� ��''��
 %��1	#� 
�+'�( %�
 �	)��,��
�, �� "�� � ����
 � %�	2��#�): 

%��1
/ �+': 1; 1,25; 1,5; 2; 2,5; 3; 4; 5; 6; 8; 10; 12; 16; 20 ��; 
'��2
/ �+': 1,125; 1,375; 1,75; 2,25; 3,5 ;4,5; 5,5; 7; 9; 11; 14; 
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 18 ��. 
 *+ �
*	�
, %���'�( #	'�*+ #��1� 2 ## �� %�
/#��
  
 
3. �	)��,����
 (
�*	 )�0�� 1������� 

 

 ( )1

2
1

wa
z

m u
⋅=

⋅ +
. (2.42) 

 
4. �	)��,����
 (
�*	 )�0�� 
	*��� 

 
 z2= z1⋅u. (2.43) 

 
���
#��� )��(���+ z1 �� z2 	
��2*
�
 '	 ��/0*
3(	2	 -�*	2	 (
�*�. 
��3��	, 5	0 (
�*� z1 �� z2 �� #�*
 �%�*.�
, #�	3�

�� (z1 – 
��%���� (
�*	!). 
5. ��	(�
�
 %���'��	(�� (
�*	 

 
 u= z2/ z1. (2.44) 

 
 	%���
#� ��',
*���+ ��' )�'��	2	 )��(���+ ± 4%. 
6. 8��/�
 )��(���+ '�*
*.�	� #�3	�.	�	� ��'�����, �� 

 

 ( )1 2

2
m z z

a
cos

⋅ +
=

⋅ β
. (2.45) 

 
7. �	)��,����
 
	�6�-�4�� �%�
/#��	2	 )#�5���+ 

 

 wa a
y

m
−= . (2.46) 

 
&	�
��� �

	�����
�. �#	�� 0<�<1. ;
5	 �@-1, ��	0,�'�	 
)#��.1
�
 '�*
*.�� #�3	�.	�� ��'����. 
, 
	��2�7(
 )��(���+# z1 
(
 z2. 
;
5	 0>�>-1 %�
/�+�
 z2= z2 - 1. &���/�
 '	 %��
�� 5 
 
8. �
)��(
�
 
�� %�	6�*7 Ot 
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 Ot=arctg(tg O/cos M). (2.47) 
 

9. �
)��(
�
 
�� )�(�%*���+ 
 

 Otw=arccos(
wa

a
cos Ot). (2.48) 

 
10. �	)��,����
 )��(���+ ��	*.�����
, 6��
-�/ '*+ 
���� Otw �� Ot : 

 
 inv Otw=tg Otw - Otw,  

 
 inv Ot=tg Ot- Ot. (2.49) 

 
��� )��(���+ 
���� Ot �� Otw %�
/�+�
 � ��'����,. 
11. �	)��,����
 
	�6�-�4�� ��#
 )#�5��. 
A 

 

 ( )1 2

2 tw t

z z
x inv inv

tgΣ
+= ⋅ α − α

α
 (2.50) 

 
;
5	 �� �

	��4�.�+ �#	�� 
A<1, )0�*.1
�
 (
�*	 )�0�� 
	*��� �� 
	'
�
-7  
z2= z2+1. &���/�
 '	 %��
�� 5. 
12. �	)0
�
 )��(���+ 
	�6�-�4��� ��#
 )#�5��. 
A %	#�3 
1�������7 �� 
	*��	#. 

;
5	 0<
A<0,5, �	 
1= 
A; 
2=0. 
;
5	 0,5@
A@1, �	 
1=0,5; 
2= 
A-0,5. 

13. �	)��,����
 
	�6�-�4�� )����+*.�	2	 )#�5���+ 
 

 >�= 
A-�. (2.51) 
 

&	�
��	 0��
 >�>0. 
14. �
)��(
�
 '�*
*.�� '��#���
 1������� �� 
	*���, �� 

 
 dj=mzj/cosM. (2.52) 

 
15. �
)��(
�
 '��#���
 ���1
� 1������� �� 
	*���, �� 
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 daj=dj+2(1+xj->y)m. (2.53) 
 

16. �
)��(
�
 '��#���
 	��	��	� 	
��3�	��� 1������� �� 
	*���, �� 
 

 dbj=djcosOt. (2.54) 
 

17. �	)��,����
 
�� %�	6�*7 )�0� � �	(-� �� 	
��3�	��� ���1
�, 
��
� 

 
 Oaj=arccos(dbj/daj) (2.55) 

 
18. �	)��,����
 
	�6�-�4�� �	�-��	2	 %���
�
��+ 

 

 ( )1 1 2 2 1 2

2
a a twz tg z tg z z tg

α

α + α − + α
ε =

π
 (2.56) 

 
19. �	)��,����
 1
�
�� )�0(��	2	 ���-+ 
	*���, ## 

 
 bw2=<baaw. (2.57) 

 
20. ;
5	 M=0, %���/�
 '	 %��
�� 24 
21. �
)��(
�
 	�.	�
/ 1�2, �� 

 
 px=Pm/sinM. (2.58) 

 
22. �	)��,����
 
	�6�-�4�� 	�.	�	2	 %���
�
��+ 

 
 QM=bw2/px. (2.59) 

 
23. &	�
��	 0��
 QM?1. ;
5	 -+ �#	�� �� �

	��4�.�+, )0�*.1
�
 
bw2= bw2+2, %	��	�
�
 %��
� 22. 
24. �	)��,����
 1
�
�� )�0(��	2	 ���-+ 1�������, �� 

 
 bw1= bw2+5. (2.60) 

 
25. �
)��(
�
 
	�6�-�4�� ZQ, 5	 ���,	��4 ��#���� '	�3
�� 

	���
��
, *���/: 
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 M=0, 4
3

Z α
ε

− ε= ; (2.61) 

 MR0, 1
Zε

α

=
ε

. (2.62) 

26. �
)��(
�
 ��(�*.�� '��#���
, �� 
 
 dw1=2aw/(u+1); (2.63) 
 dw2=dw1u. (2.64) 
 
27. �	)��,����
 	
��3�� 1�
'
���., �/� 
 
 V=Pdw1n1/60*103. (2.65) 
 
28. �	)��,����
 �
����*����� 
�*.
���. )�0�� 
 

 3
j

vj

z
z

cos
=

β
; (M=0, zvj=zj). (2.66) 

 
29. �	)��,����
 
	�6�-�4�� YFSj, 5	 ���,	��4 6	�#� )�0� �� 

	�-�����-�7 ��%��3��., 	
��#	 '*+ 1������� �� 
	*��� 
 

 213 2
3 47 29 7 0 092j

FSj j
vj vj

x,
Y , , , x

z z
= + + + . (2.67) 

 
30. &�
/�+�
 
	�6�-�4�� YQ, 5	 ���,	��4 %���
�
��+ )�0��, 

 
 YQ=1.  

 
31. �	)��,����
 
	�6�-�4�� Yβ, 5	 ���,	��4 ��,
* *���� )�0�, 

 

 1 0 7
120

Y ,β β
β= − ε ≥ . (2.68) 

 
32. �	)��,����
 ��%��3���+ )2
�� 	
��#	 '*+ )�0� 1������� �� 

	*���, !(
 : 
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3

1
1 1

1 2

2 10 F F F FV
F FS

w

T K K K
Y Y Y

d b m
α β

β ε

⋅
σ = ; (2.69) 

 

 2
2 1

1

FS
F F

FS

Y
Y

σ = σ . (2.70) 

 
33. &������
�
 �#	�� #�-�	��� 

 
 FFj@ FF�j.  

 
;
5	 �#	�� #�-�	��� �

	��4�.�+, �	 %���/�
 '	 %��
�� 35. 
 
34. ;
5	 �#	�� #�-�	��� �� �

	��4�.�+, %�
/�+�
 �	�� 0�*.1� 
)��(���+ #	'�*+ %	 ����'����	#� �+'� 

 
 m=m(k+1).  

 
�	)��,����
 �	�� )��(���+ (
�*� )�0�� 1������� 

 

 ( )1

2
1

wa cos
z

m u
⋅ ⋅ β=

⋅ +
, (2.71) 

 
�� %���/�
 '	 %��
�� 4. 
35. �	)��,����
 
	�6�-�4�� 0�)%�

 %	 ��%��3���+, )2
�� 

 
 s ′Fj=FFPj/FFj (2.72) 

 
36. �
)��(
�
 	��	��
/ 
�� ��,
*� *���� )�0� 

 
 Mb=arcsin(sinMcosO). (2.73) 

 
37. �	)��,����
 
	�6�-�4��
 Z�, 5	 ���,	��4 6	�#� %	���,	�. )�0�� 
� %	*7�� )�(�%*���+, 

 

 1 2 b
H

t tw

cos
Z

cos tg
β=

α α
. (2.74) 
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38. �	)��,����
 
	���
��� ��%��3���+ � %	*7�� )�(�%*���+, !(
 

 

 ( )3
1

2
2 1

2 10 1H H H
H E H

w

T K K u
Z Z Z

b d u
α β

ε

⋅ ⋅ +
σ = ⋅ ⋅ . (2.75) 

 
39. &������
�
 �#	�� #�-�	��� 

 
 F�@ F��j. (2.76) 

 
;
5	 �#	�� #�-�	��� '*+ 1������� �0	 
	*��� �� �

	��4�.�+, 
��	0,�'�	 %�
/�+�
 �	�� ��/0*
3(� 0�*.1� )��(���+ 
w %	 
����'����	#� �+'�  �� 2185-66. &���,�' '	 %��
�� 3. 
40. �
)��(
�
 
	�6�-�4�� 0�)%�

 %	 
	���
��
# ��%��3���+# 

 
 '

Hjs =FHPj/FH. (2.77) 
 

41. �	)��,����
 ��/0�*.1� 
	���
��� ��%��3���+ )� �#	�
 '�/ 
%�
	�	2	 
����	2	 #	#����, �&� 

 
 H max H max í î ìT / Tσ = σ . (2.78) 

 
42. �
)��(
�
 
	�6�-�4�� 0�)%�

 %	 
	���
��
, ��%��3���+, %�
 
%�
	�	#� �������3���� 

 
 s′′HMj=FHPmaxj/FHmax. (2.79) 

 
;
5	 �� �

	��4�.�+ �#	�� s′′HMj>1, ��	0,�'�	 )'�/��
�
 

	�����
�
��� )�,	'
 %	 )�,
��� )�0(��	� %���'�(� ��' %�
� 
�������3���+. 
43. �	)��,����
 ��/0�*.1� ��%��3���+ )2
�� 	
��#	 '*+ )�0� 
1������� �� 
	*���, !(
 

 
 FFmaxj=FFj(TFmax/T�	#). (2.80) 

 
44. �
)��(
�
 
	�6�-�4�� 0�)%�

 %	 ��%��3���+, )2
�� %�
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%�
	�	#� �������3���7 
 

 s′′FMj=FFPmaxj/FFmaxj (2.81) 
 

;
5	 �� �

	��4�.�+ �#	�� s′′FMj>1, ��	0,�'�	 )'�/��
�
 

	�����
�
��� )�,	'
 %	 )�,
��� )�0(��	� %���'�(� ��' %�
� 
�������3���+. 
45. �	)��,����
 
�� %�	6�*7 Oxj � �	(-� �� 
	�-����
(��/ 
	
��3�	��� '��#���� dxj, 2��', 

 
 dxj= dj+2xjm, (2.82)
  

 

 
2
j t

xj
j j

z cos
arccos

z x cos

� �α
α = � �� �+ ⋅ β� �

. (2.83) 

 
46. �	)��,����
 
�*.
���. )�0�� � '	�3
�� )�2�*.�	� �	�#�*� 

 

 2

2
0 5jxj j

nrj t
b j

tgz x tg
z inv ,

cos z

α� �α
= − − α +� �� �π β� �

. (2.84) 

 
47. &�
/�+�
 )��(���+ znj +
 ��/0*
3(� -�*� (
�*	 '	 
�	)��,	���	2	 )��(���+ znrj. 
48. �	)��,����
 '	�3
�� )�2�*.�	� �	�#�*� 	
��#	 '*+ 1������� �� 

	*���, �� 

 
 Wj=(P(znj-0,5)+2xjtgO+zjinvOt)m cosO. (2.85) 

 
49. �	)��,����
 ��'��� 
�
�
�
 %�	6�*7 )�0� � �
3��/ �	(-�, �� : 

 
 Sp1=awsinOtw-0,5db2tgOa2  

 
 Sp2=awsinOtw-0,5db1tgOa1 (2.86) 

 
50. �	)��,����
 ��'��� 
�
�
�
 ��)�	/#���
, %�	6�*�� )�0�� � 
�	(
�,, 5	 �
)��(�7�. '	�3
�� )�2�*.�	� �	�#�*�, �� 
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 Swj=0,5WjcosMb (2.87) 
 ;
5	 �#	�� Spj<Swj �� �

	��4�.�+, %�
/�+�
 �	�� 0�*.1� )��(���+ 
znj=znj+1. &���,�' '	 %��
�� 48. 
     ;
5	 �#	�� ρwj < ρaj �� �

	��4�.�+, %�
/�+�
 �	�� #��.1� 
)��(���+ znj=znj- 1. %���,�' '	 %��
�� 48. 

 
51. �	)��,����
 ��'��� 
�
�
�
 %�	6�*7 )�0� � �	(-� �� 	
��3�	��� 
���1
�, �� 

 
 Saj=0,5dajsinOaj (2.88) 

 
 
52.  ��
 	��	��
, �	)��,��
	�
, ��*
(
�.  ��
����
 �*�'�7(� 
��*
(
�
: %�
	�
/ 
����
/ #	#��� �� ��*� 1������� T1H���, �
,�'�� 
�	)��,��
	�� #	#���
 T1H,T1F, #�3	�.	�� ��'����. aw, 	
��3�� 
1�
'
���. V, #	'�*. m, 
�*.
���. )�0�� z1 �� z2, %���'��	(�� (
�*	 u, 
'��#���
 ��(�*.�
, 	
��3�	���/ dw1 �� dw2, 1
�
�� )�0(��	2	 ���-+ 
1������� bw1 �� 
	*��� bw2, '	�3
�� )�2�*.�	� �	�#�*� W1 �� W2; 

	�6�-�4��
 0�)%�

 %	 
	���
��
, ��%��3���+, sHj´, sHMj´´, %	 
��%��3���+, )2
�� sFj´, sFMj´´. 
 

2.10 
#�%� ��#�$ '�+'�4-�&- �� �$2�$#�� &��$�� 4 
���������� 4 +-%��� 4 "�'���� 

 
�	)#��
 %	%���(�
, %�����)�� )�0� 
	��(�	2	 
	*��� ��)�� '*+ 

��)�
, %�����)�� � )#��77�.�+ %�	%	�-�/�	 ��'����� -.	2	 %�����)� 
��' ���1
�
 '�*
*.�	2	 
	���� (�
�. 2.8). &�
 -.	#� ��� �	�
 
2�	#���
(�	 %	'�0��. 

�������3���+ %	 '	�3
�� )�0� 
	��(�	� %���'�(� 
�	)%	'�*+7�.�+ ������	#���	. �	�
 )#��77�.�+ %	 '	�3
�� )�0� � 
)�*�3�	��� ��' �	)#��� %��3�
, '�6	�#�-�/ �� 3	���
	��� )�0� � 
��)�
, %�����)�,. ��'	#	, 5	 %��3�� '�6	�#�-�� %�	%	�-�/�� 
��'����� ��' %�����)�, 5	 �	)2*+'�4�.�+, '	 ���1
�
 
	����, �	0�	 
)#��77�.�+ )� )�
	�	# ��

���

�. 

��

# (
�	#, #	3*
�	 ��,����
, 5	 ��%��3���+ 	'��
	�� %	 
���/ '	�3
�� )�0�. �� '	)�	*+4 ����
 �	)��,��	
 �� #�-����. %	 
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0�'.-+
	#� %�����)�.  *+ )��(�	��� )� �	)��,��
	�
/ %�����) 
%�
/�+�	 ����'��/ %�����) )�0�. 

 *+ �	)��,��
� �� #�-����. 
	��(�� )�0(��� 
	*��� ��	0,�'�	 
)�#��
�
 �
����*����
#
 -
*��'�
(�
#
 
	*���#
 (�
�. 2.9), 
'��#���
 +

, '	����77�.�+: 

 
 d1V = d1/ cos E1; (2.89) 

 
 d2V = d2/ cos E2. (2.90) 

 

a)

�)

d a
e 1

d 1

R
e

Rb
2 b

A1

B1C1

hae2

h f e2

dae2
de2

d2

B 2
A 2

C
2

Ov 2

hae1

h fe 1

O
Σd e

1

δ1

δ2

δa1θa1

θa 2

Fa2

Frv

Fr 2

r1

v1

2

v2

δa2

1

Ov 1

Ftv

Fnv

d
v2

dv1

α

Frv

Fa1

 
�
�. 2.8  �,�#� 
	��(�	� )�0(��	� %���'�(� 

 
� -
, �
����*����
, -
*��'�
(�
, )�0(���
, 
	*���, #	'�*. 
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�� 6	�#� )�0� 	'��
	�� ) #	'�*�# � 6	�#	7 )�0� 
	��(�
, 
	*�� � 
����'�.	#� %�����)�. 

;
5	 '��#���
 �
%
���
 (���) z �� m, �	: 
 

 d1V = z1Vm = z1m/ cos E1; (2.91) 
 

 d2V = z2Vm = z2m/ cos E2. (2.92) 
 
 

Ov 2

O
δ1δ2

v1

v2

Ov 1

dv2

d
v1

α
b

b
2

R
e

R

t

 
�
�. 2.9  �,�#� )�#��
 
	��(�
, )�0(��
, 
	*�� �
����*����
#
 -
*��'�
(�
-

#
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8��'

 )��,	'
#	 (
�*� )�0�� �
����*����
, 
	*��: 
 

 z1V = z1/ cos E1; (2.93) 
 

 z2V = z2/ cos E2. (2.94) 
 

&���'��	(�� (
�*	 �
����*����	� -
*��'�
(�	� )�0(��	� %���'�(� 
'	����74 

 

 22 2 2 1

1 1 1 2

V V
V

V V

d z z cos
u u

d z z cos
δ= = = =
δ

. (2.95) 

 
&��
�

� �
�%*����-�� %	
�)�4, 5	 �������3���*.�� 

�%�	#	3����. 
	��(�
, )�0(��
, %���'�( �
*�'�4 85% ��' 
'	%���
#	� �������3���*.�	� �%�	#	3�	��� -
*��'�
(�
, )�0(��
, 
%���'�( ��
	2	 3 �	)#���. 

��
	#��'�-�� %	 �
0	�� #������*� �� �
'� ���#�(�	� (
 ,�#�
	-
���#�(�	� 	0�	0

 
	��(�
, )�0(��
, 
	*�� ��
� 3, +
 � '*+ 
-
*��'�
(�
, )�0(��
, 
	*��. ��3��	, 5	0 #��
� ���*� � �
' 
���#�(�	� 	0�	0

 '*+ 1������� �� 
	*��� 0�*
 	'��
	��. 

 	%���
#� ��%��3���+ '*+ �	)��,��
� 
	��(�	� )�0(��	� 
%���'�(� �
)��(�7�. )� �
# 3� �*2	�
�#	#, 5	 � '*+ -
*��'�
(�
, 
)�0(��
, %���'�( (�,�#� �*2	�
�#� �	)��,��
� %�
��'��� �� �
�. 
2.7). 
 

2.11 ��#�$����$#�� '�+'�4-�&- &��$�� 4 ���������� 4 
+-%��� 4 "�'���� 

 
 ��� #��	'

� �	)��,��
�� �	)%	��7'3�4�.�+ �� )�0(��� 


	��(�� %���'�(� ) %�+#
#
 %�	%	�-�/�	 )�
3�7(
#
�+ )�0�#
 
)	���1�.	2	 )�(�%*���+ ) )	���1��# 	
��3�
# #	'�*�#, +

/ 
0�*.1� 1 ��, ) #�3 	�.	�
# 
��	# A=90° �� %�+#	*���/�
# 
%�	6�*�# �
,�'�	2	 
	����� )�  �� 13754-68 ) ��

#
 
%���#����#
: K = 20°, h


* = 1; �* = 0,2 �� Sf
* = 0,2.  

�	)��,��

 %	 6	�#�*�, #��	'


 �

	�����
 ) ��
	7 
�	(����7: 

*���/�
, �	)#���� – ) �	(����7 �� �
3(� 0,01 ��; 

��	�
, �	)#���� – ) �	(����7 �� �
3(� 1/; 
��
2	�	#���
(�
, ��*
(
� – ) �	(����7 �� �
3(� 0,0001, 
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%���'��	(�� (
�*�, (
�*� )�0�� �
����*����
, )�0(��
, 
	*��, 

	�6�-�4��
 )#�5��. �� 
	�6�-�4��
 )#�� �	�5
�
 )�0� – ) �	(����7 
�� �
3(� 0,01; �
*	�� %���#���
 – ) �	(����7 �� �
3(� 0,1. 

�
,�'�� '��� '*+ �	)��,��
� 
	��(�
, %���'�( ) %	���/�
# 
��'��*.�
# )�)	�	# %	 1
�
�� )�0(��	2	 ���-+, 5	 �#�5�7�. 
)�'���, %�
/�+�� �� �	)��,	���� ��*
(
�
, )��'��� � ��0*. 2.12. 

:�
�
(�� �������3���+ %���'�(� )#���� � (��� � �	�
�. 
�#	����
/ ,���
���.  *+ �	)��,��
�� �� #�-����. )�0(��	� %���'�(� 
�

	�
����
/ #��	' �
����*����
, #	#�����. 

�	�6�-�4��
 �
����*����	��� KHE , KFE �� 
	�6�-�4�� ��3
#� x )� 
)�'��
# 
*��	# �������3���+ %�
/�+�
 %	 ��0*. 2.3. 

;
5	 
*�� �������3���+ �� )�'��
/, '*+ %	'�*.1
, 
�	)��,��
�� �*�' %�
/�+�
 ����'�.	�#	����
/ 
*�� �������3���+ � 
0,63 %	 ���*	2�� ) -
*��'�
(�
#
 )�0(��
#
 %���'�(�#
. 

�	�6�-�4��
 
	�-�����-�� �������3���+ KHβ � KHβ '*+ )�0(��
, 
%���'�(, ����'���. �	0	(
, %	���,	�. +

, HB2 ≤ 350 %�
/#��
 )� 
)�*�3�	��+#
 (2.37) � (2.38). 

 *+ )�%	�����+ ��0*. 2.12 ��	0,�'�	 )�)'�*�2�'. )�'��
�. 
#��
	7 ���*� '*+ 1������� �� 
	*���, �
0���
 �
' ���#�(�	� 
	0�	0

.  �*� �	)��,����
 '	%���
#� 
	���
��� ��%��3���+ F��, 
'	%���
#� ��%��3���+ �� )2
� '*+ 1������� FFP1 �� 
	*��� FFP2, 
��/0�*.1� '	%���
#� 
	���
��� ��%��3���+ FHPmax, ��/0�*.1� 
'	%���
#� ��%��3���+ �� )2
� FFPmax, �

	�
��	��7(
 �,�#� 
�*2	�
�#�, +
� ����'��� �� �
�. 2.7. 8�'��
�. ���%���# �	(�	��� �� 
�
2	�	�*���+ 
	��(�
, )�0(��
, 
	*�� )�  �� 1758-81 � )�*�3�	��� 
��' %�
)��(���+ %���'�(�, 5	 �	)��,	��4�.�+. &�
/�+�
 )��(���+ 

	�6�-�4��� ��'�	��	� 1
�
�
 )�0(��	2	 ���-+ kbd +
 
�%����'�	1���+ 1
�
�
 )�0(��	2	 ���-+ '	 ����'�.	2	 '�*
*.�	2	 
'��#���� 
	��(�	� 1�������: 

+
5	 1������+ �����	�*��� �� 
	��	*� 
 

 kbd = b/d1 = 0,4 – 0,6; (2.96) 
 

+
5	 	%	�
 )��,	'+�.�+ %	 	0
'�� 0	

 ��' 1������� 
 

 kbd = 0,7 – 0,9. (2.97) 
 

�	#%*�
��
/ �	)��,��	
 
	��(�	� ��	*.�����	� )�0(��	� 
%���'�(� �

	��4�.�+ )� �*2	�
�#	#, 5	 ����'��
/ �
3(�. ��� 
#	3� 0��
 ���*�)	���
# � �
2*+'� %�	2��#
 '*+ "�� (
 �

	���
# 
��(�
# �	)��,��
	#. 
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�
��	�� 2.12 
( 4$��$ ���$ ��, '�+'�4-�&- &��$���3 �����������3 +-%����3 "�-

'����$ 
 

�
,�'�� '��� &	)��(

 ��*
(
�� &�
#��
� 
��� �
,�'�	2	 
	����� α 200 

�	�6�-�4�� �
�	�
 2	*	�

 )�0� h0
* 1 

�	�6�-�4�� ��'��*.�	2	 )�)	�� c* 0,2 

�
,�'�
/ 

	���� )� 
 �� 13754-81 

���%��. �	(�	��� %���'�(� %	 
 �� 1758-81 - - 8�'��
�+ 

��#	���/�	 

&���'��	(�� (
�*	 u  8��'���+ �� 
%�	�
������+ 

��
�
#�*.�� �������3���+ 
1������� )� -

*	2��#	7, �# T1max  �	)��,����
 

%	 
	���
�� KHE  �	�6�-�4�� 
�
����*����	��� �� )2
� KFE  

&�
/�+�
 %	 
��0*. 2.3 

%	 
	���
�� T1H  T1H = T1maxKHE �
,�'�� 
�	)��,��
	�� 
�������3���+ �� 
��*� 1�������, �⋅� 

�� )2
� T1F  T1F = T1maxKFE 

�	�6�-�4�� %��������3���+  max

í î ì

T
T
� �
� �
� �

  
&�
/�+�
 %	 

���*	2� 
'�
2���� 

%	 
	���
�� T1H���  
T1H��� = 

T1H
max

í î ì

T
T
� �
� �
� �

 &�
	�� 
�������3���+ �� 
��*� 1�������, �⋅� 

�� )2
� T1F���  
T1F��� = 

T1F
max

í î ì

T
T
� �
� �
� �

 

 	%���
#� 
	���
��� 
��%��3���+, !(
 σHP  

1������� (σHPmax)1  ��/0�*.1� 
'	%���
#� 

	���
��� 
��%��3���+ 


	*��� (σHPmax)2  

1������� σFP1  

	*��� σFP2  

 	%���
#� 
��%��3���+ �� 
)2
�, !(
    

�	)��,����
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(�����)���� �
��	�� 2.12 
 

�
,�'�� '��� &	)��(

 ��*
(
�� &�
#��
� 
1������� (σFPmax)1 ��/0�*.1� '	%���
#� 

��%��3���+ �� )2
�, !(
 
	*��� (σFPmax)2 
�	)��,����
 

%	 

	���
��  KHβ 

&�
/�+�
 %	 
�
�. 2.10 ) 
���,�����+# 

(2.37) 
�	�6�-�4��, 5	 ���,	��4 
������	#���
/ �	)%	'�* 
�������3���+ %	 '	�3
�� 

	���
��
, *���/ 

�� )2
� KFβ 

&�
/�+�
 %	 
�
�. 2.6 ) 

���,�����+# 
(2.38) 

�	�6�-�4��, 5	 ���,	��4 
'
��#�(�� �������3���+ +
� 
�
�

�4 � )�(�%*���� 

%	 

	���
�� KHV 

&�
/�+�
 %	 
��0*. 2.7. 

�	�6�-�4��, 5	 ���,	��4 6	�#� 
�%	*�(��
, %	���,	�. )�0�� � 
%	*7�� )�(�%*���+  

Z�  

1
H

t

z
cos

= ×
α

2 �

tw

cos
tg

β×
α

; 

%�
 β=0 �� 
αtw=αt=α=20° 
ZH=2,49 

�	�6�-�4�� #������*� ZE  

 *+ ���*��
, 

	*�� %�
 
�1=�2=2,1⋅105 
!(
 �� 
N1=N2=0,3; 
ZE=190 

 	%	#�3�
/ 
	�6�-�4�� %�
 
�	)��,��
� )	���1�.	� 
	����	� 
��'����� 

KR  
 *+ ���*��
, 

	��(�
, 
	*�� 
KR=490 %�
 β=0 

�	�6�-�4�� ��'�	��	� 1
�
�
 
)�0(��	2	 ���-+ kbd  

&	 6	�#�*�, 
(2.96) �� (2.97) 
� )�*�3�	��� ��' 

���#��
(�	� 
�,�#
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��/�' �� '�+'�4-�&- &��$���3 �����������3 +-%����3 

"�'����$ 
 

 *+ ��.	2	 -

*� �	)��,��
� 
	��(�	� )�0(��	� %���'�(� 
%�
/�+�� �*�'�7(
 )��(���+ ��'�
�� j: 

j = 1 – '*+ ���, %���#����� 1�������; 
j = 2 – '*+ ���, %���#����� 
	*���. 

 
1. �
)��(
�
 
�� '�*
*.�	2	 
	���� 1�������, ��
�. 

 
 E1 = arctg(1/u). (2.98) 

 
2. �	)��,����
 ��/#��1� (
�*	 )�0�� 
	��(�	� 1�������, %�
 +
	#� 
��'����4 %�'��)���+ )�0�� 

 
 z1min = 18,4cosE1. (2.99) 

 
3. �	)��,����
 
	�6�-�4�� 1
�
�
 )�0(��	2	 ���-+ 

 

 
2

2

1
bd

be

bd

k
k

k u
=

+ +
 (2.100) 

 
&	�
��� �

	�����
�. �#	�� kbe @ 0,3. 
4. �	)��,����
 �	)#�� )	���1�.	� 
	����	� ��'����� R�, �� 

 

 ( ) ( )
12

3 2 2
1

0 85 1 0 5
H H

e R

be be HP

T k
R K u

, , k k u
β= +

⋅ − σ
 (2.101) 
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21

0 0,2 0,4 0,6 0,8 1,0 1,00,80,60,40,20
1,01,0

1,05

1,15

1,2

1,4

a

K�β K�β

1k

1�

2

1k 1�

1�
1k

2

K�� /u (2 - K�� ) )��K(2 -u /��K

)

)� )�Hj 350 HB< H �
 H1 350 HB>2

 
 

�
�. 2.10 8��(���+ 
	�6�-�4��� ������	#���	��� �	)%	'�*� �������3���+ %	 
'	�3
�� 
	���
��
, *���/ KHβ 

 
� – �,�#
 
	��(�
, %���'�(; 
0 – ����'���. �	0	(
, %	���,	�. )�0�� 0�'.-+
	2	 
	*��� 
Hj@350 HB; 
� – ����'���. �	0	(
, %	���,	�. )�0�� 0�'.-+
	2	 
	*��� 
Hj>350 HB. 

 
5. 8��/�
 )��(���+ )	���1�.	2	 '�*
*.�	2	 '��#���� 1�������, �� 

 
 2

1 2 1e ed R / u= +  (2.102) 
 

6. �	)��,����
 (
�*	 )�0�� 
	��(�	� 1������� z1 )� ��
	#��'�-�+#
  
     �� 19624-74 

 
 ( ) ( )2 2

1 122 9 6 25 4 645ez lg u , lg u d /= − + − . (2.103) 
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&�
/�+�� z1 +
 -�*� (
�*	 (0�3��	 ��%����) �� �

	���
 
 �#	�� z1?z1min. 
7. �
)��(
�
 (
�*	 )�0�� 
	��(�	2	 
	*��� z2 (z2 – -�*� (
�*	) 

 
 z2 = z1⋅u. (2.104) 

 
9
�*	 )�0�� 1������� �� 
	*��� 	��	2	��*.�	� 
	��(�	� %���'�(� 

) %�+#
# )�0	# �� �
,�'�
# 
	����	# )�  �� 13754-81 �*�' �
0
-
���
 ) ���,�����+# '��
, ��0*. 2.13. 

 
�
��	�� 2.13 

� $�$������ ��"-#� �� � #�� +-%$� �'��/������ 4 &��$�� 4 
"�'���� + "',� � +-%�� �� #�����'�� � � 4$�� � &���-'�� 

 
9
�*	 )�-
0�� 1��-
����� 

12 13 14 15 16 17 

��/-
#��1� 
(
�*	 )�-
0�� 
	*�-
�� 

30 26 20 19 18 17 

 
8. �	)��,����
 )	���1��/ 	
��3�
/ #	'�*., �� 

 
 m�´ = d�1/z1. (2.105) 

 
&�
/�+�
 ��/0*
3(� ����'����� )��(���+ 	
��3�	2	 #	'�*+, 

��: 
%��1
/ �+': 1; 1,25; 1,5; 2; 2,5; 3; 4; 5; 6; 8; 10; 12; 
'��2
/ �+': 1,125; 1,375; 1,75; 2,25; 3,5; 4,5; 7; 9; 11. 

9. ��	(�
�
 )��(���+ )	���1�.	2	 '�*
*.�	2	 '��#���� 1�������, 
�� 

 
 d�1 = m�z1. (2.106) 

 
10. �	)��,����
 )	���1��/ '�*
*.�
/ '��#��� 
	��(�	2	 
	*���, �� 
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 d�2=m�z2. (2.107) 

 
11. 8��/'��� )��(���+ d�2 	
��2*
�
 '	 ��/0*
3(	2	 

)��(���+ )�  �� 12289-76: 50; (56); 63; (71); 80; (90); 100; (112); 
125; (140); 160; (180); 200; (225); 250; 280; 315; 355; 400; 450; 500; 
560; 630; 710; 800; 900; 1000; 1120; 1250; 1400; 1600 ��. 

�*�' �
0
���
 )��(���+ 0�) '�3	
. 
:�
�
(�� %�
/�+�� )��(���+ )	���1�.	2	 '�*
*.�	2	 '��#���� 
	-
*��� d�2 #	3� ��'��)�+�
�. ��' �	#���*.�	2	 (����'����	2	) �� 
0�*.1, ��3 �� 2%. 
12. ��	(�
�
 )��(���+ (
�*� )�0�� 
	��(�	2	 
	*��� �� %���'��	(-
�	2	 (
�*� 

 
 z2 = d�2/m� - -�*� (
�*	,  

 
 u = z2/z1.  

 
�	#���*.�� )��(���+ %���'��	(�	2	 (
�*� u %	�
��	 �%��%�'��
 ) 
����'����
# �+'	#  �� 12289-76. 
����'����
/ �+' )��(��. u: 1,0; (1,12); 1,25; (1,4); 1,6; (1,8); 2,0; 
(2,24); 2,5; (2,8); 3,15; (3,55); 4,0; (4,5); 5,0; (5,6); 6,3. 

:�
�
(�� %�
/�+�� )��(���+ %���'��	(�	2	 (
�*� u �� %	�
��	 
��'��)�+�
�. ��' �	#���*.�	2	 0�*.1 ��3 �� 3%. 
13. �	)��,����
 	����	(�� )��(���+ 
���� '�*
*.�
, 
	�����, 2��'. 

 
 E1 = arctg(z1/z2);  

 
 E2 = 90° - E1. (2.108) 

 
8��(���+ 
���� �	)��,����
 ) �	(����7 '	 2 ��
��'. 
14. �	)��,����
 )��(���+ 
	�6�-�4���� )#�5���+ 

 
 ( )2

1 2 12 1 1 1x x / u / z= − = ⋅ − . (2.109) 
 

15.  *+ 
	��(�
, %���'�( ) u ? 2,5 )��/�
 
	�6�-�4�� ���2��-�/�	2	 
)#�5���+ 
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 xT1 = -xT2 = 0,03 + 0,008(u – 2,5). (2.110) 

 
16. �	)��,����
 (
�*	 )�0�� �
����*����	� -
*��'�
(�	� %���'�(� 

 
 zVj = zj/cosEj. (2.111) 

 
17. �
)��(
�
 
	�6�-�4�� YFSj, 5	 ���,	��4 6	�#� )�0� �� 
	�-���-
��-�7 ��%��3��., 	
��#	 '*+ 1������� �� 
	*��� )� 6	�#�*	7 
(2.67) 

 

 213 2
3 47 29 7 0 092j

FSj j
Vj Vj

x,
Y , , , x

z z
= + + + .  

 
18. ��	(�
�
 )��(���+ )	���1�.	� 
	����	� ��'�����, �� 

 
 2 2

1 20 5e eR , m z z= + . (2.112) 
 

19. �
)��(
�
 1
�
�� )�0(��	2	 ���-+, �� 
 

 b = kbeR�. (2.113) 
 

8��(���+ 1
�
�
 b %	�
��	 �%��%�'��
 �) )��(���+#
 )�  �� 
12289-76 � )�*�3�	��� ��' d�2 �� %���'��	(�	2	 (
�*� u.  
20. �	)��,����
 ��%��3���+ )2
�� 	
��#	 '*+ )�0� 1������� �� 
	-
*���, !(
: 

 

 
3

1 1
1 2

1

2 10

0 85 1
F F FV FS

F
e be

T k k Y

, bz m ( k )
β⋅

σ =
−

; (2.114) 

 
 FF2 = FF1YFS2/ YFS2. (2.115) 

 
21. &������
�
 �#	�� #�-�	��� )� ��%��3���+#
 )2
�� 

 
 FFj @ FFPj.  
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;
5	 �#	�� #�-�	��� �� �

	��4�.�+, %�
/�+�
 �*�'�7(� 0�*.-
1� )��(���+ 	
��3�	2	 #	'�*+ m� ()��(���+ m� %�
��'��� � %��
�� 
8). &���/�
 '	 %��
�� 9. 
22. �	)��,����
 
	���
��� ��%��3���+, !(
, 

 

 
3 2

1
2

1

2 10 1

0 85
H H HV

H E H

T k k u
z z

, d bu
β⋅ +

σ = . (2.116) 

 
23. &������
�
 �#	�� #�-�	��� %	 
	���
��
, ��%��3���+, 

 
 FH @ FHPj.  

 
;
5	 �#	�� #�-�	��� �� �

	��4�.�+, ��	0,�'�	 )0�*.1
�
 )��-

(���+ )	���1�.	� 
	����	� ��'����� R� �� 10%. 
&���,�' '	 %��
�� 5. 
24. 8��/�
 #�
�
#�*.�� 
	���
��� ��%��3���+ �� ��%��3���+ �� 
)2
� 

 
 H max H max í î ìT / Tσ = σ , (2.117) 

 
 ( )F max j Fj max í î ìT / Tσ = σ . (2.118) 

 
25. &������
�
 �#	�� #�-�	��� )� #�
�
#�*.�
#
 ��%��3���+#
 

 
 ( )H max HP max j

σ ≤ σ ,  

 
 ( )F max j FP max j

σ ≤ σ .  

 
;
5	 �#	�
 #�-�	��� �� �

	��7�.�+ %	 0�'.-+
	#� %	
�)�

�, ��-
	0,�'�	 )'�/��
�
 
	�����
-�/�� )�,	'
 %	 )�,
��� 
	��(�	� )�0(�-
�	� %���'�(� ��' %�
� �������3���+. 
26. �

	���
 �	)��,��	
 2�	#���
(�
, %���#����� 
	��(�
, )�0(�-
�
, 
	*��, 5	 �
*�'�7�. '��� %���'�(�: 

)	���1�+ �
�	�� 2	*	�

 )�0� h
�j: 
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 ( )1 1
*

ae a eh h x m= + ⋅ ;  
 

 2 12 *
ae a e aeh h m h= − ; (2.119) 

 
)	���1�+ �
�	�� �	3

 )�0� hf�j: 

 
 hfe1 = hae2 + c*⋅me;  

 
 hfe2 = hae1 + c*⋅me; (2.120) 

 

�� �	3

 )�0� Uf j 

 
 Ufj = arctg(hfej/Re); (2.121) 

 

�� 2	*	�

 )�0� U
j 

 
 U
1 = Uf2; U
2 = Uf1; (2.122) 

 

�� 
	���� ���1
� E
j 

 
 E
j = Ej +U
j; (2.123) 

 
)	���1��/ '��#��� ���1
� )�0�� d
�j 

 
 d
�j = d�j + 2h
�jcosEj; (2.124) 

 
��'����. ��' ���1
�
 '	 %*	5
�
 )	���1�.	� 	
��3�	��� ���1
� 
)�0�� �j ('
�
�. �
�. 2.8): 

 
 B1 = 0,5de2 – hae1sinE1; (2.125) 

 
 B2 = 0,5de1 – hae2sinE2. (2.126) 

 
�	�����
�
��	 %�
/�+�
 )��(���+ 0�)	�
, �	)#����  j %�
 �
-


	����� �	0	(
, 
���*��.. 
27. �	)��,����
 �
#��7��*.�� �	)#��
 )�0� ('��� '*+ 
	���	*7 �	(-
�	��� �
2	�	�*���+): 
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)	���1�+ %	���/�� ,	�'� )�0� cejS  
 

 2
cej ejS S cos= α , (2.127) 

 
'� Sej – )	���1�+ 	
��3�� �	�5
�� )�0�: 

 
 Se1 = (0,5P + 2x1tgV + xT1)me;  

 
 Se2 = P⋅me - Se1; (2.128) 

 
�
�	�� '	 )	���1�.	� %	���/�	� ,	�'
 )�0� 

 
 ( ) 0 25 2

j j jce ae eh h - , S sin= ⋅ ⋅ α . (2.129) 
 

28.  ��
 	��	��
, �	)��,��
	�
, ��*
(
� 
 ��
����
 �*�'�7(
 ��*
(
�
: %�
	�
/ 
����
/ #	#��� �� ��*� 

1������� T1�max, �
,�'�
/ �	)��,��
	�
/ #	#��� T1� = �1F, )	���1-
�7 
	����� ��'����. R�, (
�*	 )�0�� z1 �� z2 , )	���1��/ 	
��3�
/ 
#	'�*. m�, )	���1�� '�*
*.�� '��#���
 d�1 �� d�2, 
��
 '�*
*.�
, 
	-
����� E1 �� E2, 
��
 
	����� �%�'
� Ef1 �� Ef2, 
��
 
	����� ���1
� E
1 
�� E
2, 
	�6�-�4��
 )#�5��. 
1 �� 
2, 
T1 �� 
T2, 1
�
�� )�0(��	2	 ���-
-+ b, )	���1�� '��#���
 ���1
� )�0�� d
�2 �� d
�1, ��*
(
�
 �1 �� �2, 
)	���1�7 %	���/�� ,	�'� '*+ 1������� ceS 1 �� 
	*��� ceS 2, �
�	�
 '	 
)	���1��, %	���/�
, ,	�' h��1 �� h��2. 
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�
���	 3. �
�����

� ���(’��
)� ������� 
 

3.1 ��/����$ "���.���, 
 
�	)��,��	
 �	)%	��7'3�4�.�+ �� �
*	�� (���’+(�� %���'�(� ) 


��	# %���,��5���+ 	��/ (���’+
� �� 
	*��� A=90º, 5	 )�'	�	*.-
�+7�. ��

# �#	��#: ��*
 �%
��7�.�+ �� %�'1
%�


 
	(���+; 
	-
�%�� #�4 '	�����7 3	���
���. � ������1�+ /	2	 
�#��� ��'�/�	 )�-
,
5��� ��' %	%�'���+ 2�+)�, %
*� �� �	*	2
; )	�� )(�%*���+ 
(���’+
� ) )�0�#
 (���’+(�	2	 
	*��� ��'�/�	 )#�5�4�.�+ #���
-
*	#;����'	�
5� ,�#�(�	 ���2���
���; ��#%������� #���
*� � 
	�%�-
�� �� %����
5�4 95º�; 	
��3�� 1�
'
���. (���’+
� �� %����
5�4 9 
�/�; ���%��. �	(�	��� %	 �	�#�# %*���	��� �� 
	���
�� 6-9 )�  �� 
3675-81; %���#��� 1	�,	��� �	0	(
, %	���,	�. )�0�� (���’+(�	2	 

	*��� Ra?2.5 ���, �
�
�� (���’+
� Ra?0.63 ���; �
,�'�
/ 
	���� )� 
 �� 19086-73; #	'�*� �� 
	�6�-�4��
 '��#���� (���’+
� q )�  �� 
19672-74. 
 

3.2 �' ��'$3 '�+'�4-�&-. ( �  '�+'�4-�&$� 
 

B	*	��
# )��'���+# �	)��,��
� (���’+(�	� %���'�(� 4 �
)��-
(���+ �	)#���� (���’+
� �� (���’+(�	2	 
	*���, %�
 +

, )�0�)%�(�-
4�.�+ 	%�� )�0�� (���’+(�	2	 
	*��� (+
 0�*.1 �*�0	� *��

) �	#� (
 
��1	#� �
'� %	1
	'3��. )� )�'��
/ ���#�� �*�30
 �� )�'��� 3	�-
��
���. (���’+
�. 

���	' �	)��,��
�� (���’+(�	� %���'�(� 	0’4'��4 � �	0� %�	�
�-
�
/ �� %������	(�
/ �	)��,��

 �� #�-����., 2�	#���
(�
/ �� �
*	-
�
/ �	)��,��	
 )�'��	� (���’+(�	� %��
. 

� '���/ #��	'
-� �

	�
��	��7�.�+ 2	*	��� %	*	3���+ ����'�-
����: 
 �� 2144-74 “&���'�(
 (���+(�D� -
*
�'�
(��

�. ���	��D� 
��)#��D” ��  �� 19650-74 “&���'�(
 (���+(�D� -
*
�'�
(��

�. 
���(�� 2�	#���

”. 

���	'

	7 �	)��,��
� 4 �*2	�
�#, 5	 	0’4'��4 �	)��,��	
 �� 
#�-����., 2�	#���
(�
/ �� ��%*	�
/ �	)��,��	
 � *	2�(��/ %	�*�'	-
��	���, +
� %���4 �	)��,��
� �� "��, � ��
	3 � '*+ ��(�	2	 ��,��-

�. 
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���	��� %	*	3���+ �	)��,��
� -
*��'�
(�	� (���’+(�	� %���-
'�(� �%��%�'�7�. ) %	*	3���+#
 �	)��,��
� -
*��'�
(�
, )�0(��-
�
, %���'�(. 
��

# (
�	#, �%	(��
� 	0C����	��7�.�+ 2	*	��� %���#���
 %���'�-
(� �) �#	� 
	���
��	� #�-�	��� %�' �%*
�	# ��/0�*.1	2	 ��
��*	'�-
7(	2	 
����	2	 #	#���� �� ��*� (���’+(�	2	 
	*��� �2�, �⋅#, +

/ 
%�
/#�4�.�+ )� �
,�'�� �������3���+. 
&	��# ��	�+�.�+ 
	��
�
�
 � 2�	#����7 � )�*�3�	��� ) �
�)��
�#
 
�
5�)�)��(��
, ����'����� � %	��# �

	��7�.�+ %������

 #�-�	��� 
)�0�� (���’+(�	2	 
	*��� �� ����*��
/ )2
� %�' '�47 �
,�'�	2	 �	)-
��,��
	�	2	 �������3���+ �2F � ����
(�� #�-����. (
	���
��� �� �� 
)2
�)%�' '�47 %�
	�
, �������3��. �2Fmax �� T2Hmax. 

 	'��
	�	 '*+ (���’+(�	� %���'�(� �

	��7�. ��%*	�
/ �	)��-
,��	
. 
��
 +
 ��/0�*.1� �	)%	��7'3���+ #�7�. -
*��'�
(�� (���’+(�� 
%���'�(�, � +

, '�*
*.�� �� ��(�*.�� %	���,�� (���’+
� �� 
	*��� 
-
*��'�
(��, �	 '�*� �	)2*+'�7�.�+ ��#� ��
� %���'�(�. 
 

3.3 7�����'$, ��'�’,�� 4 2 �$��' �� 4 "�'���� 
 

�
*��'�
(�� (���’+

 �

	��7�.�+ ) *���/(���
#
 (
 �� ��*�-
��/(���
#
 0	
	�
#
 %	���,�+#
 �
�
��. 

�	
	�� *���/(���� %	���,�� (���’+
�� +�*+7�. �	0	7 �*�' %�+#	� 
*����, 5	 �

	��4 2�
��	�
/ ��, ) %	���/�
# 1�2	#. ;
5	 %�+#� 
%�	,	'
�. (���) 	�.(�	�-	�
/ %�����) 	
���*��
/ �%���*7 ��,�#�-
'�),�	 ��

/ (���’+
 ��)
��7�. ��,�#�'	�
#.� -.	#� �
%�'
� 0	
	-
�� %	���,�� �
�
� (���’+
� � 	�.	�	#� %�����)� 	
���*��� %�+#
#
 
*���+#
 ) 
��	# %�	6�*7 O
 (�
�.3.1�). 

;
5	 %�����)
 0	
	�
, %	���,	�. �
�
�� %*	�
���7, 5	 %��%�-
�'

�*+��� '	 �%�'
�
 (
 '	 �
�
�, %�+#	*���/��, �	 (���’+
 ��)
-
��7�. 
	��	*7��
#. ����4�
# ��'	*�
	# ��

, (���’+
�� 4 ��, 5	 �, 
#	3*
�	 1*�6����
 ��*.

 
��2	#, +

/ 	
���*��
/ %	 �
*�'��/ 

�
��/ � 	�.	�	#� %�����)�. 

&�	6�*. �
�
� (���’+
� � %�����)�, 5	 %��%��'

�*+��
/ '	 	��, 
#	3� 0��
 	
���*��
# %	 ��	*.����� 
	*�. ��

/ (���’+
 ��)
��7�. 
��	*.�����
#. 
� -.	#� �
%�'
� (���’+
 #	3� �	)2*+'��
�. +
 ��	*.������ )�0(��-



 90 

�� 
	*��	 ) #�*
# (
�*	# )�0�� �� ��*


# 
��	# ��,
*� *���� )�0� 
M. ��
 ��#	 +
 � 
	�	)�0� 
	*��	, ��	*.�����
/ (���’+
 #	3� )�(�%-
*7���
�. ) 
	�	)�0	7 %�+#	0	
	7 ��/
	7. 

 

1

γ

1

2

r2

r1

t1

a1

2

1

a1

1

a2

r2

r1

t2

0)

1

S 12

1ω 2)

δ

1

') 2

a) 2

xα

π

t1

a1

nf

γ

nf

ϕ

n nα

nf

n

nα�)

 
 

�
�. 3.1   	 �	)��,��
� (���’+(�	� %���'�(� 
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"�	*.������ (���’+

 #	3�� 1*�6����
 %*	�
	7 ��	�	�	7 
1*�6���*.�	2	 
��2�. � -.	#� �, %	)
�
��� +
���.. 

9���’+(�� %���'�(� ) ��,�#�'	�
# (���’+
	# )� ����'���	# %	-
)��(�7�.�+ ZA, ) ��	*.�����
# - Z1, ) 
	��	*7��
# ZN1 �� ZN2 %�
 
%�+#	*���/�	#� 	
���*���� 0	
	�
, ��	��� � �	�#�*.�	#� %�����)� 
�
�
� �� � �	�#�*.�	#� %�����)� )�%�'
�
. 

��'����. #�3 ��'%	��'�
#
 0	
	�
#
 ��	�	��#
 '�	, ��#�3�
, 
�
�
��, 5	 �
#��+�� %���*�*.�	 	�� (���’+
�, ��)
��7�. �	)��,��-

	�
# 1�2	# (���’+
� �� %	)��(�7�. *����	7 �
 (�
�.3.1�). �%����'-
�	1���+ �
/P=m ��)
��7�. #	'�*�#. ��*
(
�
 #	'�*�� ��2*�#��-
�	����  �� 19672-74, +

/ %���'0�(�4 '�� �+'
 )��(��.: 

%��1
/ �+': 2,0; 2,5; 3,15; 4,0; 5,0; 6,3; 8,0; 10; 12,5; 16; 20; 
'��2
/ �+': 3,0; 3,5; 6,0; 7,4; 12. 
�	'�*. #��1� 2 �� '*+ �
*	�
, %���'�( )���	�	�����
 �� '	-

-�*.�	. 
��3�(� 
�	#

 (���’+(�	� 6��)
, 5	 %�
)��(��� '*+ ����)���+ 

(���’+(�	2	 
	*���, �	)#�5�7�.�+ %	 2�
��	�
# %	���,�+#, +
� 
0*
).
� '	 2�
��	�
, %	���,	�. (���’+
�. ��

# (
�	#, (���’+(�� 
6��)� � %	���/ #��� 4 ���*	2	# (���’+
�. � )�’+)
� ) -
# '*+ ���6�-

�-�� ��3�(	2	 ������#����  �� 19672-71 �����	�
� �+' )��(��. 

	�6�-�4��� '��#���� (���’+
� q=d1/m; '� ����'��� ��'�4 '�� �+'
 
)��(��. q: 

%��1
/ �+': 8,0; 10,0; 12,5; 16,0; 20; 25,0; 
'��2
/ �+': 9,0; 11,2; 14.0; 18,0; 22,4. 
�� (���’+
� 	'�	2	 � �	2	 3 '�*
*.�	2	 '��#���� #	3�� ����)�-

�
 '�
�*.
� 2�
��	�
, %	���,	�. �0	 �
�
��. H, (
�*	 %	)��(�4�.�+ 
z1.  �� 2144-76 �����	�*74 �*�'�7(� )��(���+ (
�*� �
�
��: z1=1; 2 
�0	 4. 

�%�
#�*.�� �%����'�	1���+ #�3 )��(���+#
 q, m �� z1 ����'��� 
�  �� 2144-76. ����'��� �
#�2�4, 5	0 '*+ ���, )��(��. (
�*� �
�-

�� z1 � #	'�*+ m ��' 2 '	 12,5 �� )��(���+ 
	�6�-�4��� '��#���� 
(���’+
� q %�
/#�*
�. ) %��1	2	 �+'� (8,0; 10; 12,5; 16,0; 20,0).  �-
*
*.�
/ 
�� %�'/	#� 2�
��	�	� *���� I ('
�
�. �
�.3.10) �� -
*��'�� 
d1=mq �
)��(�4�.�+ )�*�3����7 

 
 tg I=p⋅z1/P⋅d1=z1/q. (3.1) 

 



 92 

;
5	 )0�*.1�4�.�+ 
�� I, �	 �	��� )��(���+ 
	�6�-�4��� 
	�
��	� '�� 
(�� ) %���'�(�. �	#� '*+ )�
3���+ �
���� �� ����+ �*�' 0���
 %	 
#	3*
�	��� 0�*.1� )��(���+ z1 �� #��1� q. �*� %�
 )�
3���� )��-
(��. q %�'�4 3	���
���. (���’+
� �� )2
� �� )�
3�4�.�+ �����3	�%-
�	#	3����. %���'�(�. 
�	#� %�
 %	%���'�.	#� �
0	�� �*�' %�
/#��
 q?0,25z2 ,'� z2 – (
�-
*	 )�0�� (���’+(�	2	 
	*���. 
&��
�
(�	 '	��'��	, 5	 '*+ ��%�1�	� �	0	�
 �
*	�	� (���’+(�	� 
%���'�(�, (
�*	 )�0�� (���’+(�	2	 
	*��� %	�
��	 0��
 z2?22 %�
 
z1=1, �0	 z2?26 %�
 z1>1. 

 *+ ���, �
*	�
, (���’+(�
, %���'�( %�
 *70	#� )��(���� z1 
(
�*	 )�0�� (���’+(�	2	 
	*��� z2 �� %	�
��	 0��
 0�*.1� 80. 

&	�+'	
 �	)��,��
� 2�	#���
(�
, %���#����� (���’+(�	� %���-
'�(� �����	�*��
/  �� 19650-74. 
 

3.4 �$����� &� ��'�’,���3 "�'����$ 
 

�'�	7 �) 2	*	��
, 
���#��
(�
, ,���
���
��

 (���’+(�	� %�-
��'�(�, 5	 �
)��(�4 �
'�*���+ ��%*� � )�(�%*���� �� �
0�� #������*� 
'*+ �
2	�	�*���+ (���’+
� �� (���’+(�	2	 
	*���, 4 ��'�	��� 1�
'-

���. 
	�)���+ �
�
�� (���’+
� �� )�0�� (���’+(�	2	 
	*���. �� �
�. 
3.10 �#	��	 %	
�)��
/ %�����) 	'�	2	 )�0� (���’+(�	2	 
	*���. 

��
�	�
 1�
'
	��� V1 �� V2 '	�
(�
, �	(	
, 5	 ��*�3��. 
(���’+
� �� (���’+(�	#� 
	*���, �)�4#	 %��%��'

�*+��� � )�’+)��� 
)�*�3����7 

 
 1 2 12  V V V= +

� � �

. (3.2) 
 

��
�	� 12V
�

 4 ��
�	� 1�
'
	��� 
	�)���+ �	(

 
	���
�� � ��'�	��	-
#� ���� 

 

 1
12S

V
V V

cos
= =

γ
�

. (3.3) 

 
9
# #��1� )��(���+ 
��� I, (
# #��1� (
�*	 )�,	'�� (�
�
��) 
(���’+
�, �
# 0�*.1� 1�
'
���. 
	�)���+ � �
# 0�*.1� �
����
 �� 
����+ � (���’+(��/ %���'�(�. 
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�
����
 %	��3�	��� � (���’+(��/ %���'�(� 	0�#	�*��� 
	�)��-
�+# �
�
� (���’+
� ��'�	��	 )�0� 
	*���, �
����
 � %�'1
%�

�,, �� 
+

, �����	�*��� ��*
 %���'�(�, �� �
����
 �� %���#�1�����+ �� 
�	)0�
)
�����+ #���
*�. ��3�, %	��
/ 
	�6�-�4�� 
	�
��	� '�� 
(�� ) %���'�(� #	3� 0��
 �
)��(��
# %	 6	�#�*� 

 
 W=W�
&W��W��, (3.4) 

 
'� W)�( – ��  )�(�%*���+, 5	 ��'%	��'�4 ��  2�
��	�	� %��
, 

 

 ( )�
&

tg
tg

γ=η
γ + ρ

, (3.5) 

 
��� S – %�
��'��
/ 
�� ����+ '*+ #������*�� %��
 (���’+
 – 
(���’+(�� 
	*��	; 

W�� – ��  %��
 %�'1
%�

��; 
W�� – (���
�� )�2�*.�	2	 �� , 5	 ���,	��4 �
����
 �� %���#�-

1�����+ �� �	)0�
)
�����+ #���
*�, 
 

 
��

��

�

� �
=η

+
, (3.6) 

 
'� � – %	��3����., 5	 %���'�4�.�+, ���; 

��� – %	��3����., 5	 %�1*� �� %���#�1�����+ �� �	)0�
)
����-
�+, ���; 
&	��3����. ��� �
)��(�4�.�+ � )�*�3�	��� 

 
 60 75 10(! j j t j. V b v V�

−= ⋅ , (3.7) 
 

'� Vj – 	
��3�� 1�
'
���. *��

 %���'�(� ((���’+
� �0	 (���’+(�	2	 

	*���), 5	 )������� � #���
*	, �/�; 

bj – 1
�
�� )������	� � #���
*	 *��

, ��; 
Xt – 
���#��
(�� �’+)
���. #���
*� %�
 �	0	(�/ ��#%������� %�-

��'�(� (10-6 
�

2/�), 
Xt=X50/(0,02t2)

2.6, 
'� X50 – 
���#��
(�� �’+)
���. #���
*� %�
 ��#%������� 50° *, ��0-
*
(�� ��*
(
��; 
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t2 – �	0	(� ��#%������� #���
*� � 
������ %���'�(�. 
8�2�*.�
/ ��  (���’+(�	� %���'�(� #	3�� %�
/#��
: 
W=0.70-0.75 %�
 z1=1; W=0,75-0.82 %�
 z2=2; W=0,86-0.92 %�
 z3=4. 
 

3.5 ����'$��  ��'�’,�� 4 "�' 
 

 	 #������*��, ) +

, �
2	�	�*+7�. *��

 (���’+(�	� %���'�(�, 
%��'’+�*+7�. ��
� �
#	2
: �	�
 %	�
��� #��
 ���
6�

-�/�� �*��-
�
�	���, '	0�� %�
�	0*+�
�+ �� #��
 %�'�
5��� ��%*	%�	��'����.. 
��� -� �
#	2
 	0�#	�*��� �
�	
	7 1�
'
���7 
	�)���+ (���’+
� 
��'�	��	 %	���,�� )�0� (���’+(�	2	 
	*���. ��,���(�� �*���
�	��� 
#������*��, 5	 )�'	�	*.�+7�. -
# �
#	2�#, �� '�3� �
�	
�. 

9���’+
 #�4 � %�	-��� �	0	�
 ��0�2��	 0�*.1� -

*�� )#�� ��-
%��3��., (
# )�0 (���’+(�	2	 
	*���. ���# �	2	, � )�*�3�	��� ��' 

	�����
�
��
, 	�	0*
�	���/ (���’+
 #�4 ����4�	 #��1� 3	���-

���. (
# (���’+(�� 
	*��	. �	#� (���’+

, +
 %���
*	, �
2	�	�*+-
7�. ���*��
#
, -�#���	���
#
 �� )�2���	����
#
 '	 ����'	��� 
HRC�=56-63. &��*+ )�2���	������+ (���’+

 1*�6�7�. �� %	*���-
7�.. ��/0�*.1 (���	 �

	�
��	��7�. ���*� #��	
 20� �� 18�B�. 

;
5	 (���’+(�� %���'�(� 	0�*�2	��4 '	%	#�3�� #�,���)#
, �	 
#	3��. 0��
 �

	�
����� ���*� #��	
 45, 40� �0	 40��. 

�#	�	7 	'��3���+ ���
6�

-�/�	� %��
 4 %�'0�� #������*� ��-
�-+ (���’+(�	2	 
	*��� � )�*�3�	��� ��' 	(�
�4#	� 1�
'
	��� 
	�)�-
�� � )�(�%*����. 
;
5	 1�
'
���. 
	�)���+ #��1� 2 �/�, �	 '*+ �
2	�	�*���+ 
(���’+(�	2	 
	*��� %�
/#�7�. ���
/ (����, +
5	 1�
'
���. 
	�-
)���+ )��,	'
�.�+ � #�3�, 2-8 �/�, �

	�
��	��7�. 0�	�)
, 5	 �� 
�#�5�7�. 	*	�	. &�
 0�*.1 �
�	

, 1�
'
	��+, 
	�)���+ �

	�
�-
�	��7�. 0�	�)
, 5	 �#�5�7�. 	*	�	. 

$�
'
���. 
	�)���+ � )	�� 
	���
�� 	��4��	��	 �
)��(�7�. %	 
)�*�3�	���, �/�. 

 
 4 3

1 24 10S maxv n T−= ⋅ ⋅ . (3.8) 
 

9
# �
5� 1�
'
���. 
	�)���+, �
# 0�*.1 +
���
/ #������* ���0� 
�

	�
��	�����
 '*+ �
2	�	�*���+ ���-+ (���’+(�	2	 
	*���. ����-
���* ���-+ (���’+(�	2	 
	*��� �*�' �
0
���
 %	 ��0*. 3.1 � )�*�3�	-
��� ��' 	(�
�4#	� 1�
'
	��� 
	�)���+. 
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�
��	�� 3.1 
��4��$��$ ���#� ��#�$ ����'$��$� ��, �$�2, ��'�’,�� 4 &���# 

 
��,���(�� �*���
-

�	��� 
$�
'-

���. 
	-
�)���+, 
V, #/� 

B��%�* �������* 
�%	��0 
��'*
�-


 σ� σ� 

���1��1:1 � 285 165 
� 275 200 4-8 1� 

���1�:1 
8 230 140 
� 200 90 10 ���5�5�5 
8 145 80 
� 700 460 ���1�!4�

4 � 650 430 
� 550 360 
8 450 300 ���1�!3�

-1,5 
� 530 245 
� 500 230 

3-4 
2� 

���9!3� 
8 425 195 
� 500 330 
� 450 295 2-3 20 ��23�6!3

�-2 
8 400 260 
8 355** - 2 3 �920 

�915 8 315** - 
 

* – �������*
, 5	 �	)'�*��� �� 2��%
 %	 	%	�� )��'���7. 
** – &�
��'��� )��(���+ #�3� #�-�	��� �� )2
� – σ��. 
&�
/�+�� %	)��(

 ��'*
�

: � – ��'-����	��, � – � 
	
�*., 
8 – � )�#*7. 

 
3.6 ��. �  �������.���,. ( +������, '�+'�4-�&���/� 

�������.���, 
 
 � (���’+(��/ %���'�(� ��� *�#���4 #�-����. #������*� 
(���’+(�	2	 
	*���. �	#� ��3
# �	0	�
 � �	)��,��
	�� �������-
3���+ ��'�	�+�. ��#� '	 (���’+(�	2	 
	*���. 
 ��
�� 
	���
��	� ��	#*��	��� �
�	
		*	�’+�
��	� 0�	�)
 ) 
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���,�����+# �%��-7����+ �%�	
�
#�7�. ����+��+# B
i iN constσ = , 5	 

�%��%�'�4 ) ����+��+# '*+ *��	� 2�*

 
�
�	� 
	���
��	� ��	#*��	��� 
���*��
, )�0(��
, 
	*��. 
 �� '	)�	*+4 ���, 5	 �

*�'��� � �	)'�*� 2.5 '*+ ���*��
, 
	*�� 
#�/3� %	�����7 �

	�
����
 � '*+ (���’+(�
, %���'�(. 
 �'��
, 
	�6�-�4�� '	�2	��(�	��� )� 
	���
��	7 �
��
��*���7 
�
)��(�7�. ��*.

 '*+ ���-�� ) 	*	�’+�
��	� 0�	�)
.  *+ 0�)	-
*	�’+�
��	� 0�	�)
, *����� � (������ /	2	 %�
/#�7�. ����
# 	'
�
-
-� (ZN2 = 1). �	�6�-�4�� '	�2	��(�	��� )� ��%��3���+#
 )2
�� �
)��-
(�7�. %�
 0�'.-+
	#� #������*� ���-+ (���’+(�	2	 
	*���, +
 � '*+ 
)�0(��
, %���'�(, %	
�)�

 ? qF = 9. ('
�. 2.34). 
 �	�6�-�4�� �
����*����	��� '*+ (���’+(�
, %���'�( �	)��,	-
��7�. )� 6	�#�*	7 (2.7) – ��
 ��#�, +
 � '*+ )�0(��
, %���'�(. �� 
'	)�	*+4 �

	�
��	�����
 
*��
 �������3��., ����'��� � ��0*. 2.3, 
�
%	�� ('
�. �
�. 2.3) � �
����*����� 2��6�

 ('
�. �
�. 2.4). 
 �������*
 ���-�� (���’+(�
, 
	*�� �� #�7�. %���*	#� 
�
�	� 
��	#*��	���. � -�*+, )0���3���+ #��	'
(�	� 4'�	��� �	)��,��
�� 
)�0(��
, � (���’+(�
, %���'�( '*+ 	������, ���'��� �#	��� #�3� 

	���
��	-)�	��	� �
��
��*	��� σHlim , +
� ��'������ '	 �#	��	� 0�)
 
Nlim = 107 -

*��. ��%��-7����+ NK �
)��(�7�. ��
 3�, +
 � '*+ )�-
0(��
, %���'�(. 
 ;
5	 �������3���+ �� (���’+(�� %���'�(� )#���� � (���, �	 
2��6�
 (-

*	2��#�) �������3���+ � ��/0�*.1
/ #	#��� %	�
��� 
0��
 ����'��
#
 � ��,��(�	#� )��'����. ;
5	 �������3���+ %	-
���/��, �	 )�'�7�. �	#���*.�
/ 
����
/ #	#��� T��� = Tmax. 
 �
,	'+(
 ) �	2	, 5	 %	���/�� �������3���+ 0���4 '�3� ��'
	, 
%�
/#�4#	 '*+ %	'�*.1
, �	)��,��
�� #��	' �
����*����
, #	#��-
���. �	�6�-�4�� �
����*����	��� KHE  � KFE �� 
	�6�-�4�� ��3
#� x � 
)�*�3�	��� ��' )�'��	2	 
*��� �������3���+ %�
/#��
 %	 ��0*. 2.3. 
 ;
5	 
*�� �������3���+ �� )�'��
/, '*+ %	'�*.1
, �	)��,�-
�
�� %�
/�+�
 ����'�.	 �#	����
/ 
*�� �������3���+ � 0,63. 
 

3.6 ��"-#� �$ ��"'-.���,. ��#�$����$#�� '�+'�4-�&- 
 

 	 %	(��
� �	)��,��
� '	%���
#
, ��%��3��. ��	0,�'�	 %�
-
)��(
�
 #��
� ���*� �� �%	��0 ���#�(�	� 	0�	0

 '*+ (���’+
�, #���-
���* �� �%	��0 �
2	�	�*���+ ��'*
�

 ���-+ (���’+(�	2	 
	*���. 
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�
��	�� 3.2 
( 4$��$ ���$ ��, � +������, ��"-#� � 4 ��"'-.��� "'  

'�+'�4-�&- ��'�’,���3 "�'����$ 
�
,�'�� '��� &	)��(
� ��*
(
��  � �)+�
 

���#�� '	�2	��(�	��� %���'�-
(� 

Lh  8��'���+ 

9���	�� 	0����� ��*� 
(���’+
�, ��/
�. n1  

&���'��	(�� (
�*	 u  

 

$�
'
���. 
	�)���+, 5	 	(�-

�4�.�+, �/� VS  �	)��,����
 )� 6	�-

#�*	7 (3.8) 
B��%� #������*� ���-+ 
(���’+(�	2	 
	*��� �� /	2	 
#��
�    

 =1 – 0�	�)�, 5	 
�#�5�4 	*	�	 
 =2 - 0�	�)�, 5	 �� 
�#�5�4 	*	�	 
A=3 - (���� 

σ�  ��,���(�� ,���
���
��


 
#������*� ���-+ (���’+(�	2	 

	*��� σ�  

&	 ��0*. 3.1. 

�
' ���#�(�	� 	0�	0

 
(���’+
� �  

�=1 – -�#����-�+ 
�=2 - )�2��������+ 
��'�
�
��� 

�)��

 ��+��	��� ������� %�-
��'�(� *  *=1 – 4 ������ 

*=2 – ��#�4 ������� 
 *+ �	)��,��
� (���’+(�	� %���'�(� ��	0,�'�	 �
)��(
�
 '	%�-

��
#� ��%��3���+ )� 
	���
��	7 #�-����7 F��2 �� #�-�	��� �� )2
� 
FF�2, '*+ #������*� ���-+ (���’+(�	2	 
	*���, � ��
	3 ��/0�*.1� '	-
%���
#� 
	���
��� ��%��3���+ (F��2)max �� ��/0�*.1� '	%���
#� ��-
%��3���+ �� )2
� (FF�2)max '*+ %������

 ����
(�	� #�-�	���. 

�,�#� �*2	�
�#� �
)��(���+ '	%���
#
, ��%��3��. ����'��� 
�� �
�. 3.2, � �
,�'�� '���� � ��0*. 3.2. 
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3.2�
��. 

��

�
�

KN 7

(3.9)
KN ��

�
�

KN 5

1025=NK
7 NK =105

(3.10)
NZ

(3.12)
NY2A

�
� �
�

(3.11)
2BσHP2

����

σ 2HP

(3.14)
(     )max σ 2HP

(3.13)
3A

�� σ 2HP

(3.18)

�
�

σ 2HP

(3.19)
(     )max

FP2σ
(3.23)

σ 2FP

(3.24)
(     )max

��

�
�
B 2HP2σ

(3.15)

σ 2HP

(3.17)
(     )max σ 2HP

(3.16)

�
�

C 1,5

FP2σ
(3.20)

FP2σ
(3.21)

σ 2FP

(3.22)
(     )max

2T max ;TH 2;
TF 2 ; FP2σ ;

u ; ;2HPσ (     )maxσ 2HP ;
.(     )maxσ 2FP

��

 
 

�
�. 3.2 �,�#� �*2	�
�#� �	)��,��
� '	%���
#
, ��%��3��. 
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��/�' �� '�+'�4-�&- ��"-#� � 4 ��"'-.���. 
 

�������3���+ �� %���'�(� )#��74�.�+ )� (��	#. � -�/ #��	'
-� 
�	)��,��
� �� #�-����. (���’+(�	� %���'�(� �

	�
��	��4�.�+ #��	' 
�
����*����
, #	#�����, �	#� )�#���. �
����*����	2	 (
�*� -

*�� 
)#�� ��%��3��. %�
/#�4�.�+ '�/��� (
�*	 )#�� ��%��3��. � )�(�%-
*��� )� ���. ���#�� �	0	�
 %���'�(� Nk. 

�

	��4#	 �
)��(���+ '	%���
#
, ��%��3��. � %	�*�'	��	���, 
5	 ����'��� �� �
�. 3.2. 

1. �	)��,����
 (
�*	 -

*�� )#�� ��%��3��. )� ���. )�'��
/ ��-
�#�� �	0	�
 %���'�(� 

 
 Nk = 60⋅n2⋅Lh = 60⋅n1⋅Lh / u. (3.9) 

 
;
5	 Nk<105, �	 %�
/�+�
 Nk=105. 
;
5	 Nk?25.107, �	 %�
/�+�
 Nk=25.107. 

2. �	)��,����
 
	�6�-�4�� '	�2	��(�	��� )� 
	���
��
#
 ��%��-
3���+#
 

 
 

2

78 10N kZ / N= . (3.10) 
            *+ 0�	�)
, 5	 �� #���
�. 	*	�	 �� (���� zN2 = 1. 

 
3. �	)��,����
 
	�6�-�4�� '	�2	��(�	��� )� ��%��3���+#
 �� 

)2
� 
 

 
2

69 10N kY / N= . (3.11) 
 

4. ;
5	 '*+ �
2	�	�*���+ ���-+ (���’+(�	2	 
	*��� %�
/�+�� 
0�	�)�, 5	 �#�5�4 	*	�	, �	 '*+ %���'�(� ) -�#���	���
# (���’+
	# 
'	%���
#� 
	���
��� ��%��3���+ '	����74�.�+ 

 
 

2
0 9HP B N, Zσ = σ ⋅ . (3.12) 
 

 *+ %���'�( ) (���’+
	#, 5	 )�2���	���
/ ) ��'�
�
��	2	 ��2����, 
'	%���
#� 
	���
��� ��%��3���+ '	����74�.�+ 

 



 100 

 
2

0 75HP B N, Zσ = ⋅ σ ⋅ . (3.13) 
 

5. �	)��,����
 ��/0�*.1� '	%���
#� 
	���
��� ��%��3���+ '*+ 
0�	�), 5	 �#�5�7�. 	*	�	 

 
 ( )2 4HP Tmax

σ = ⋅ σ . (3.14) 
 

&���,�' '	 %��
�� 10. 
6. ;
5	 '*+ �
2	�	�*���+ ���-+ (���’+(�	2	 
	*��� %�
/�+�� 

0�	�)�, 5	 �� �#�5�4 	*	�	, �	 '*+ %���'�( ) -�#���	���
# 
(���’+
	# '	%���
#� 
	���
��� ��%��3���+ '	����74�.�+ 

 
 ( )2 300 25HP S NV Zσ = − ⋅ . (3.15) 

 
 *+ %���'�( ) (���’+
	#, +

/ )�2���	���
/ ) ��'�
-�/�	2	 ��2����, 
'	%���
#� ��%��3���+ '	����74�.�+ 

 
 ( )2 275 25HP S NV Zσ = − ⋅ ⋅ . (3.16) 

 
7. �	)��,����
 ��/0�*.1� '	%���
#� 
	���
��� ��%��3���+ '*+ 

0�	�), 5	 �� �#�5�7�. 	*	�	 
 

 ( ) 2max2 2 THP σσ = . (3.17) 
 

&���,�' '	 %��
�� 10. 
8. ;
5	 '*+ �
2	�	�*���+ (���’+(�	2	 
	*��� %�
/�+�
 ���
/ 

(����, �	 '	%���
#� 
	���
��� ��%��3���+ '	����74�.�+ 
 

 ( )2 275 35HP S NV Zσ = − ⋅ . (3.18) 
 

9. �	)��,����
 ��/0�*.1� '	%���
#� 
	���
��� ��%��3���+ '*+ 
(����� 

 
 ( )2 21 65HP �max

,σ = ⋅ σ . (3.19) 
 

&���,�' '	 %��
�� 12. 
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10. �	)��,����
 '	%���
#� ��%��3���+ �� )2
� '*+ 0�	�)
 %�
: 
��������
���/ %���'�(� 

 
 ( )2 0 25 0 08FP T B N, , Yσ = ⋅ σ + ⋅ σ ⋅  (3.20) 

 
������
���/ %���'�(� 

 
 2 0 16FP B N, Yσ = σ  (3.21) 

 
11. �	)��,����
 ��/0�*.1� '	%���
#� ��%��3���+ �� )2
� '*+ 

0�	�)
 
 

 ( )2 0 8FP Tmax
,σ = ⋅ σ . (3.22) 

 
12. �	)��,����
 '	%���
#� ��%��3���+ �� )2
� '*+ (����� 

 
 2 0 22FP B N, Yσ = ⋅ σ ⋅ . (3.23) 

 
13. �	)��,����
 ��/0�*.1� ��%��3���+ �� )2
� '*+ (����� 

 
 ( )2 0 75FP Bmax

,σ = ⋅ σ  (3.24) 
 

14.  ��
����
 FHP2; (FHP2)max; FFP2; (FFP2)max. 
 

3.7 ��#�$����$#�� '�+'�4-�&- 2 �$��' ���3 ��'�’,���3 "�'�-
���$ 
 

���. �	)��,��	
 -
*��'�
(�	� (���’+(�	� %���'�(� %��*+ �
0	�� 
�	)��,��
	�	2	 �������3���+, #������*� (���’+(�	� %��
 �� �
)��-
(���+ '	%���
#
, ��%��3��. '�*
�.�+ �� ��
 ��#	���/�� %�	2��#
: 

1) �	)��,��	
 �� #�-����. -
*��'�
(�	� (���’+(�	� %���'�(�; 
2) �	)��,��	
 	��	��
, 2�	#���
(�
, %���#�����; 
3) ��%*	�
/ �	)��,��	
 (���’+(�	� %���'�(� �� �
)��(���+ �
*, 

5	 '�7�. � )�(�%*����. 
�*2	�
�#, � ��

# (
�	# � %�	2��#
, 	0’4'���� � )�)��(���/ 

�
5� %	�*�'	��	��� � )�2�*.�
/ -

*, �*� #	3��. 0��
 �

	�
����� 
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	3�� 	
��#	. 
&���'�#	�	7 �	)��,��
� (���’+(�	� %���'�(� 4 %�'2	�	�
� �
-

,�'�
, '��
, (��0*. 3.3), 5	 �
*7(�7�. )�'���, %�
/�+�� �� ����1� 
�	)��,	���� ��*
(
�
. 

�
��	�� 3.3 
( 4$��$ ���$ ��, '�+'�4-�&- 2 �$��' ���3 ��'�’,���3 "�'����$ 

�� �$2�$#�� 
�
,�'�� '��� &	)��(

 ��*
(
��  � �)+�
 

&���'��	(�� (
�*	 u  8� 
���#��
(�
# �	)-
��,��
	# %�
�	'� 

9
�*	 �
�
�� (���’+
� z1 
 �
0���
 %	 ��0*. 3.4. 

� )�*�3�	��� ��' u 
��
�
#�*.�� �������3���+ 
(���’+(�	2	 
	*��� �2 max 

 
�	)��,����
 

&	 
	�-
��
�� KHE �	�6�-�4�� 

�
����*����	���  
�� )2
� KFE 

 

&�
/�+�
 %	 ��0*. 2.3 

&	 
	�-
��
�� TH2 

 �
,�'�� �	)��-
,��
	�� �����-
��3���+ �� )2
� TF2  

�	)��,����
 

�	�6�-�4�� ��3
#� x   
 	%���
#� 
	���
��� ��-
%��3���+ '*+ #������*� 
(���’+(�	2	 
	*���, !(
 

σHP2 

 

��/0�*.1� '	%���
#� 
	�-
��
��� ��%��3���+ '*+ #�-
�����*� (���’+(�	2	 
	*���, 
!(
 

(σHP2)max 

 

 	%���
#� ��%��3���+ �� 
)2
� )�0�� (���’+(�	2	 
	*�-
��, !(
 

σFP2 
 

��/0�*.1� '	%���
#� ��-
%��3���+ �� )2
� )�0�� 
(���’+(�	2	 
	*���, !(
 

(σFP2)max 
 

�	)��,����
.  

�	�6�-�4�� '
��#�(�	��� KHV 
 &�
/�+�
 � #�3�,  

KHV=1,1-1,3 
 
 

(�����)���� �
��. 3.3  
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��'�	1���+ ����'�.	2	 %	 
(��� #	#���� '	 �	)��,��-

	�	2	 

2

12

k
max

p i i
H

T
x m t

T
= ⋅�  

xp 

 8��(���+ mi, ti �� k 
%�
/�+�
 %	 2��6�
� 
�������3���+ �) )�-
�'���+ �� %�	�
��-
����+, �0	 %�
/�+�
 
)��(���+ x )� ��0*. 
2.3 

&�
��'��
/ #	'�*. %��3-
�	���, !(
 

1 2

1 2

2
v

E E
E

E E
⋅=

+
 

Ev 

 
 *+ �%	*�(���+ 
���*.+0�	�)� 
Ev=1,26⋅105, !(
 

�	�6�-�4�� %��������3���+ β 
 ;
5	 �� ����'��	 � 

)��'����, %�
/�+�
 
β=1,8 

 
�,�#� �*2	�
�#� �	)��,��
� -
*��'�
(�	� (���’+(�	� %���'�(� 

�� #�-����. ����'��� �� �
�. 3.3. �

	�
��	��4�.�+ #��	' �
����*�-
���
, #	#�����, %�
 +
	#� �	)��,��
	�
/ #	#��� %�
 �	)��,��
� 
�� 
	���
��� #�-����. TH2 = T2max KHE, � %�
 �	)��,��
� �� )2
� TF2 
= T2max KFE.  *+ �
)��(���+ %�
	�	2	 
����	2	 #	#���� �

	�
��	-

��7�. 
	�6�-�4�� %��������3���+ max

í î ì

T
T
� �
� �
� �

, 5	 ����'��
/ � 
���*	)� 

�*�
��
(�
, '�
2���� (��� #	3� 0��
 )�'��
# � ��1
#). 
  
 

�
��	�� 3.4 
� #�� � �&$� ��'�’,&� z1 � +���.��#�$ 

 �$� "�'��������/� � #�� u 
 

u 8-16 16-31,5 31,5-80 
z1 4 2 1 
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��

3.3�
��. 

��

�
�

��

��

�
�

�
��
� ��

��

�
�

�
���

�
�

(3.30)

(3.35)

(3.31)

(3.32)

(3.28)

(3.27)
z2=z u1

q

x

q'=0,25 z2
�	��
�	 �	��
�	

q( �
��.(            3.5)θ KHβ

m'=
+*� 19672−74

aw2
q z2+m aw

+*� 2144−76
a'w

q z2=z2 1/z2z>−1 u=x −

x +1σH2
2Hσ σHP2

−1

+12=z2z

σH2>σHP2
0,85>

(3.33)
(σ  )H2 max

2Fσ
(3.36)

YF2
�
��.(            3.6)

zV2γ
(3.34)

σFM2

FPMσ
2

(�	,���	

�����-&.
+*� 2144−76

>aw

(�	,���	

�����-&. <aw
2144−76+*�

σFM2

(3.37)

(�	,���	

�����-&. >
+*� 19672−74

m

����
��.

(����
�-

�� 	��	��

q
(3.30)

Hβ=KβFK
KFV=KHV

σF σ2 FP2
HPσ 2

2σH
1,05

wa m
z1 z2 q
x γ u

;;
;;;

;;

+*� 19672−74

��

�
)����
��

(����
�-
�
)����

 
 

�
�. 3.3  �,�#� �*2	�
�#� �	)��,��
� �� #�-����. -
*��'�
(�	� (���’+(�	� 
%���'�(� 

 
 



 105 

 
3.8 ��/�' �� '�+'�4-�&- �� �$2�$#�� 2 �$��' ���3 

��'�’,���3 "�'����$ 
 

 *+ ��.	2	 -

*� �	)��,��
�� %�
/�+�
 �*�'�7(� %	)��(

: 
  J=1- '*+ ���, %���#����� (���’+
�; 
  J=2- '*+ ���, %���#����� (���’+(�	2	 
	*���. 
1. �
)��(
�
 (
�*	 )�0�� (���’+(�	2	 
	*��� (-�*� (
�*	) 

 
 z2=z1⋅u. (3.25) 

 
2. &�
/�+�
 	��4��	��� )��(���+ 
	�6�-�4��� '��#���� (���’+
� 

 
 q′=0,25⋅z2. (3.26) 

 
3. 8��/'��� )��(���+ q′ 	
��2*
�
 '	 ��/0*
3(	2	 )��(���+ �) 

����'����	2	 �+'� )�  �� 19672-74: 
%��1
/ �+': 8,0; 10,0; 12,5; 16,0; 20,0; 25,0; 
'��2
/ �+': 7,1; 9,0; 11,2; 14,0; 18,0; 22,4. 

&�����2� ��''��
 %��1	#� �+'� 
4. �
0���
 
	�6�-�4�� '�6	�#�-�� (���’+
� )� ��0*. 3.5 
 

�
��	�� 3.5 
�������, &��1$2$0��- ��1�'��2$3 ��'�’,&� ΘΘΘΘ � +���.��#�$ �$� z1 

�� q 
 

q z1 7,1 8, 10 12,25 14 16 20 
1 57 72 108 154 176 225 248 
2 45 57 86 121 140 171 197 
4 37 45 70 98 122 137 157 

 
5. �	)��,����
 
	�6�-�4�� ������	#���	��� �	)%	'�*� �������-

3���+ 
 

 ( )
3

21 1H p

z
K xβ

� �= + −� �θ� �
. (3.27) 
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8��(���+ x� %�
/�+�
 %	 ��0*. 2.3 � )�*�3�	��� ��' 
*��� �����-

��3���+ 
6. �	)��,����
 )��(���+ #�3	�.	�	� ��'�����, �� 

 

 
( )

2

2
3 2625 VH H H'

w

HP

T K K
a β= ⋅

σ
. (3.28) 

 
��� )��(���+ TH2 %�'����*+�
 � �⋅�, � F��2 – � !(
. 
7. &�
/�+�
 ��/0*
3(� )��(���+ aw �) ����'����	2	 �+'� )� 
 �� 2144-76: 
%��1
/ �+': 40; 50; 63; 80; 100; 125; 160; 2004 2504 315; 400; 

500; 
'��2
/ �+': 140; 180; 225; 280; 355; 450. 
&�����2� ��''��
 %��1	#� �+'�. 
8.�
)��(���+ %	%���'�.	2	 )��(���+ #	'�*+, �� 

 

 
2

2 wa
m'

q z
⋅=
+

. (3.29) 

 
9. &�
/�+�
 ��/0*
3(� )��(���+ m ) ����'����	2	 �+'� )�  �� 

19672-74: 
%��1
/ �+':2,0;2,5;3,15;4,0;5,0;6,3;8,0;10,0;12,5;16,0;20; 
'��2
/ �+': 3,0; 3,5; 6,0; 7,0. 

10. �	)��,����
 �	�� )��(���+ 
	�6�-�4��� '��#���� (���’+
� 
 

 2

2 wa
q z

m
⋅= − , (3.30) 

 
11. &�
/�+�
 ��/0*
3(� ����'����� )��(���+ q ()� %��
�	# 3). 
12. �	)��,����
 
	�6�-�4�� )#�5���+ (���’+
� 

 

 2

2
wa z q

x
m

+= − . (3.31) 

 
13. ;
5	 
<-1, )#��1
�
 (
�*	 )�0�� (���’+(�	2	 
	*��� �� 
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	'
�
-7 z2=z2-1, �
	��2����
 %���'��	(�� (
�*	 u=z2/z1 �� %���/�
 
'	 %��
�� 8. 
8����3���+. 9
�*	 )�0�� (���’+(�	2	 
	*��� z2 )#��1����
 �� 	'
-
�
-7 '	 �
, %��, %	

 �� 0�'� �

	���� �#	�� 
?-1, %	��# %���/�
 
'	 %��
�� 15. 

14. ;
5	 
>+1,)0�*.1
�
 (
�*	 )�0�� (���’+(�	2	 
	*��� 
z2=z2+1, �
	��2����
 %���'��	(�� (
�*	 u=z2/z1 �� %���/�
 '	 %��
�� 
8. 
8����3���+. 9
�*	 )�0�� (���’+(�	2	 
	*��� z2 )0�*.1����
 �� 	'
-
�
-7 '	 �
, %��, %	

 �� 0�'� �

	���� �#	�� 
@+1, %	��# %���/�
 
'	 %��
�� 15. 

15. �	)��,����
 
	���
��� ��%��3���+ �� �	0	(�/ %	���,�� )�-
0� (���’+(�	2	 
	*���, !(
, 

 

 
( )( )

2

2

3 3
2

3
2

1 100 5 Vv H H H

H
w

z q E T K K,
z q a

β
+ ⋅ ⋅ ⋅ ⋅

=σ , (3.32) 

 
16. &������
�
 �#	�� #�-�	��� 

 
 

2 2H HPσ ≤ σ .  
 

17. ;
5	 �#	�� �� �

	��4�.�+, %������
�
 �#	�� 
 

 
2 2

1 05H HP,σ ≤ ⋅ σ .  
 

;
5	 � �	�� �� �

	��4�.�+, %�
/�+�
 �*�'�7(� 0�*.1� ����'����� 
)��(���+ #�3	�.	�	� ��'����� aw ('
�. %��
� 7) �� %���/�
 '	 %��
�� 
8. &�
 �

	����� �#	�
 

2 2
1 05H HP,σ ≤ ⋅ σ  %���/�
 '	 %��
�� 19. 

18. &������
�
 �#	�� 
2 2

0 85H HP,σ ≥ ⋅ σ . ;
5	 �	�� �� �

	��4�.�+, 
%�
/�+�
 �*�'�7(� #��1� ����'����� )��(���+ #�3	�.	�	� ��'����� 
('
�. %��
� 7) � %���/�
 '	 %��
�� 8. 

19. �	)��,����
 ��/0�*.1� 
	���
��� ��%��3���+ �� �	0	(�/ 
%	���,�� (���’+(�	2	 
	*��� %�
 '�� ��/0�*.1	2	 
����	2	 #	#���� 

 
 

2 2
( )H max Hσ ≤ σ β . (3.33) 
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20. &������
�
 �#	�� ����
(�	� #�-�	��� �	0	(
, %	���,	�. )�-

0� (���’+(�	2	 
	*��� )� ��/0�*.1
#
 
	���
��
#
 ��%��3���+#
 
 

 ( ) ( )
2 2H HPmax max

σ ≤ σ .  

 
21. ;
5	 �#	�� ����
(�	� #�-�	��� �� �

	��4�.�+, ��	0,�'�	 


	�����
�
��
#
 )�,	'�#
 )�
)
�
 -� �������3���+ (��%�

*�', 
�����
 � %�
��' )�%	0�3�� #�6��). 
8 � � � � 3 � � � + .  &�
 �	)��,��
� �� "�� � -.	#� �
%�'
� '��
�-
���
 %	)��(
� “&��������3���+ )� 
	���
�	#”. 

22. �	)��,����
 
�� %�'/	#� �
�
� (���’+
� 
 

 I=arctg(z1/q). (3.34) 
 

23. �
)��(
�
 )��'��� 
�*.
���. )�0�� (���’+(�	2	 
	*��� 
 

 zV2=z2/cos3I. (3.35) 
 

24. �
0���
 
	�6�-�4�� 6	�#
 )�0� 
	*��� �� 
	�-�����-�� ��-
%��3��. 

2FSY  � )�*�3�	��� ��' zV2 (��0*. 3.6). 
 

�
��	�� 3.6 
�������, &��1$2$0��� 1�'�  +-%� �� &��2���'�2$3 ��"'-.���, 

2FSY  
 

2Vz  30 32 35 37 40 45 50 60 80 100 150 

2FSY  1,76 1,71 1,64 1,61 1,55 1,48 1,45 1,40 1,34 1,30 1,27 
 

 
25. &�
/�+�
 
	�6�-�4��
 ������	#���	��� �	)%	'�*� �������-

3��. �� '
��#�(�	��� %�
 �	)��,��
� �� ����*��
/ )2
� 
 

 F HK K
β β

= ; 
V VF HK K= .  

 
26. �	)��,����
 ��%��3���+ )2
�� � ��3

 )�0� (���’+(�	2	 
	-
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*���,  !(
, 
 

 22
2 3

2

1500
VF FS F F

F

T Y K K cos

z q m
β

⋅ ⋅ ⋅ ⋅ ⋅ γ
σ =

⋅ ⋅
 (3.36) 

 
27. &������
�
 �#	�� #�-�	��� �� )2
� 

 
 FF2@FFP2.  

 
28. ;
5	 �#	�� #�-�	��� �� �

	��4�.�+, %�
/�+�
 �*�'�7(� 0�-

*.1� )��(���+ #	'�*+ m �) ����'����	2	 �+'� ('
�. %��
� 9) �� %�-
��/�
 '	 %��
�� 10. 

29. �	)��,����
 ��/0�*.1� ��%��3���+ )2
�� � ��3

 )�0� 
(���’+(�	2	 
	*��� %�
 '�� %�
	�	2	 
����	2	 #	#���� 

 
 (FF2)max=MFF2. (3.37) 

 
30. &������
�
 �#	�� ����
(�	� #�-�	��� )�0� (���’+(�	2	 
	*�-

�� )� ��/0�*.1
#
 ��%��3���+#
 )2
�� 
 

 (FF2)max=(FFP2)max.  
 

31. ;
5	 �#	�� ����
(�	� #�-�	��� )� ��/0�*.1
#
 ��%��3��-
�+#
 �� )2
� �� �

	��4�.�+, ��	0,�'�	 
	�����
�
��
#
 )��	0�#
 
)�
)
�
 %�
 �������3���+ (��%�

*�', �

	�
����
 � %�
�	'� )�%	-
0�3�� #�6�� ) #�3	7 ��/0�*.1	2	 #	#����). 
8 � � � � 3 � � � + . &�
 �	)��,��
� �� "�� � -.	#� �
%�'
� '��
�-
���
 %	)��(
� “&��������3���+ %	 
	���
��”. 

32.  ��
����
 	��	��� �	)��,��
	�� ��*
(
�
: 
aw – #�3	�.	�� ��'����.; m – #	'�*.; z1 – (
�*	 �
�
�� (���’+
�; z2 – 
(
�*	 )�0�� (���’+(�	2	 
	*���; q – 
	�6�-�4�� '��#���� (���’+
�; x 
– 
	�6�-�4�� )#�5���+ (���’+
�; I – 
�� %�'/	#� �
�
� (���’+
�; u – 
%���'��	(�� (
�*	; 



 110 

 
3.9 ��/�' �� '�+'�4-�&- /�����'$3 ��'�’,���3 "�'����$ 

 
�,�#� �*2	�
�#� �	)��,��
� 2�	#����� (���’+(�	� %���'�(� %	-

'��� �� �
�. 3.4. 
1. &�'2	�����
 �
,�'�� '��� '*+ �	)��,��
� 2�	#����� (��0*. 3.7), 

5	 �
*7(�7�. )�'���, %�
/�+�� �� ����1� �	)��,	���� ��*
(
�
. 
���0� %�#’+���
, 5	 ��/0�*.1� �	)%	��7'3���+ #�7�. ��
 �
-

'
 *���/(���
, (���’+
��: ��,�#�'	�� ZA, ��	*.�����
/ Z1 �� 
	��	-
*7��
/ ZN1 �� ZN2. �
0�� �
'� (���’+
� )�*�3
�. ��' ��,�	*	2�(-
�
, #	3*
�	���/. 

 
�
��	�� 3.7 

( 4$��$ ���$ ��, '�+'�4-�&- /�����'$3 2 �$��' ���3 ��'�’,���3 
"�'����$ 

�
,�'�� '��� &	)��(
� ��*
(
��  � �)+�
 
��3	�.	�� ��'����., �� aw  
�	'�*., �� m  
�	�6�-�4�� '��#���� 
(���’+
� q  

9
�*	 �
�
�� (���’+
� z1  
9
�*	 )�0�� (���’+(�	2	 

	*��� z2  

�	�6�-�4�� )#�5���+ 
(���’+
� x  

 �*
*.�
/ 
�� %�'/	#� 
�
�
� (���’+
� γ  

&�
/�+�
 )� ��-
)�*.����#
 �	)-
��,��
� �� #�--
����. 

�
' (���’+
� Z  8�'��
�+ 
�	�6�-�4�� �
�	�
 2	*	-
�

 ha

*  

�	�6�-�4�� ��'��*.�	2	 
)�)	�� �

*  

�	�6�-�4�� �	)��,��
	-
�	� �	�5
�
 s*  

�	�6�-�4�� ��'���� 
�
-
�
)�
 %���,�'�	� 
�
�	� ρf

*  

&�
/�+�
 )� 
 �� 19036 -73 
� )�*�3�	��� 
��' �
'� (���’+
� 

�)��
� 1*�6�����+ 
(���’+
� D  

8�'��
�+: 
D=1 – '�; 
D=2 – ��. 
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��

�
��. 3.7

��

�
�

��

�
��
�

��

�
�

(��	��

(������	�	
�	
����
�
��

d1= mq d2= mz 2 ad
da2

1 2ad M

(3.42)

(3.51)

(3.41)(3.38)
.�����

1

h* 2,2= h*h*=h1 m(3.45)

(3.46)
1

2fd
df (2.43)

=1D =4z1

R

(3.52)

b2 da1
0,67

����  �
���,

,����  �
���
0,75

1ad2b

a aw= a

b1=b0 m4+1

b1=b0
1

����

b1
0

����
(            3.8)�
��.

=ρf1
*mρf

����

pz1
(3.53)

sa1ha1
(3.54)(3.55)

dj;daj dfj daM2; ;
bj aw m zj qx

;
R; ; ; ; ;

sa1 ha1
pz1

; ρf1;

(3.39)
(3.40)

(3.44)

 
 

�
�. 3.4 �,�#� �*2	�
�#� �	)��,��
� 2�	#����� (���’+(�	� %���'�(� 
 

2. �	)��,����
 '�*
*.�
/ '��#���, ##: 
 

 (���’+
� d1 = m⋅q; (3.38) 
 

 
	*��� d2 = m⋅z2. (3.39) 
 

3. �
)��(
�
 '��#���
 ���1
�, ##: 
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 (���’+
� 1 1 2 *
a ad d h m= + ⋅ ⋅ ; (3.40) 
 

 
	*��� ( )2 2 2 *
a ad d h x m= + ⋅ + ⋅ . (3.41) 

 
4. �	)��,����
 ��/0�*.1
/ '��#��� (���’+(�	2	 
	*���, �� 

 

 2 2
1

6
2aM a

m
d d

z
= +

+
. (3.42) 

 
��)�*.��� �	)��,��
� 	
��2*
�
 '	 -�*	2	 (
�*�. 

5. 8�'��
�+ 
	�6�-�4��	# �
�	�
 �
�
�. ;
5	 %�
/�+�	 ��	*.-
�����
/ (���’+
 Z1, �	 
	�6�-�4�� �
�	�
 �
�
� '	����74 

 
 h*=2+0.2⋅cosI. (3.43) 

 
 *+ ���, ��1
, �
'�� (���’+
�� h*=2.2. 

6. �
)��(
�
 �
�	�� �
�
� (���’+
�, �� 
 

 h1=h⋅m. (3.44) 
 

7. �	)��,����
 '��#���
 )�%�'
�
, ��: 
 

(���’+
� df1=da1 - 2⋅h1; (3.45) 
 


	*��� ( )2 2 2 * *
f ad d h c x m= − ⋅ + + ⋅ . (3.46) 

 
8. �
)��(
�
 ��'��� 
�
�
)�
 %���,�'�	� 
�
�	� (���’+
� 

 
 1

*
f f mρ = ρ ⋅ . (3.47) 

 
9. �	)��,����
 '	�3
�� ����)�	� (���
�
 (���’+
� 0

1b , ��, %	 
)�*�3�	��+# 
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�
��	�� 3.8 
��+'�4-�&��$ +���.��#�$ ��, bo

1 
 

�	)��,��
	�� 6	�#�*
 %�
  z1 x 1 �� 2 4 
-1 bo

1≥(12+0,1⋅z1)⋅m bo
1≥(10,5+z1)⋅m 

-0,5 bo
1≥(8+0,06⋅z2)⋅m bo

1≥(12+0,09⋅z2)⋅m 
0 bo

1≥(11+0,06⋅z2)⋅m bo
1≥(12,5+0,09⋅z2)⋅m 

+0,5 bo
1≥(12+0,1⋅z2)⋅m bo

1≥(12,5+0,1⋅z2)⋅m 
+0,5 bo

1≥(12+0,1⋅z2)⋅m bo
1≥(13+0,1⋅z2)⋅m 

 
�	)��,	���� )��(���+ b0

1
 	
��2*
�
 '	 ��/0*
3(	2	 -�*	2	 (
�*�. 

10. ;
5	 (���’+
 1*�6�4�.�+ (D=1), �	 '	�3
�� ����)��	� (���
-
�
 (���’+
�, ## 

 
 0

1 1 4b b m= + ⋅ . (3.48) 
 

11. �	)��,����
 1
�
�� ���-+ (���’+(�	2	 
	*��� b2, �� 
 

 b2@0.75da1 %�
 z1=1 �� 2 (3.49) 
 

 b2@0.67da1 %�
 z1=4 (3.50) 
 

�	)��,	���� )��(���+ b2 	
��2*
�
 '	 ��/0*
3(	2	 -�*	2	 %��-
�	2	 (
�*�. 

12. �
)��(
�
 ��'��� )�
��2*���+ %	���,�� ���1
� )�0�� 
(���’+(�	2	 
	*���, �� 

 
 R=0.5d1 - m. (3.51) 

 
�
��2*
�
 '	 ��/0*
3(	2	 -�*	2	 (
�*�. 

13. �	)��,����
 )��(���+ 2�	#���
(�	� #�3	�.	�	� ��'�����, �� 
 

 ( )2

2
m q z x

a
⋅ + +

= . (3.52) 
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14. 8��/'��� )��(���+ a %	�
��	 �	(�	 '	����7���
�. )��(��-
�7 aw � �
,�'�
, '��
, ('
�. ��0*. 3.7); a = aw. 
;
5	 -+ �#	�� �� �

	��4�.�+, %������
�
 �
,�'�� '���. &�
 �	)��-
,��
�, �� "�� � -.	#� �
%�'
� �
�	'
�.�+ %	)��(
� “&	#
*
� � 
�
,�'�
, '��
,”. 

15. �	)��,����
 '��� '*+ 
	���	*7: 
,�' �
�
�, �� 

 
 pz1=Pmz1; (3.53) 

 
'�*
*.�� �	�5
�� %	 ,	�'� �
�
� (���’+
�, �� 

 
 

1as s* m cos= ⋅ ⋅ γ  (3.54) 
 

�
�	�� '	 ,	�'
 �
�
�, �� 
 

 
2

1
1 1

1

0 5 0 5* a
a a a

s sin
h h m . s tg . arcsin

d
� �γ= ⋅ + ⋅ ⋅ ⋅� �
� �

. (3.55) 

 
16.  ��
����
 	��	��� �	)��,��
	�� ��*
(
�
: 
d1; da1; df1; d2; da2; daM2; df2; b1; b2; R; aw; x; m; z1; z2; q; Pz1; 1as ; 1ah ; 

ρf1. 
 

3.10 ��/�' �� '�+'�4-�&- # �, :� � � &�6�� � +���"����$ 2 -
�$��' ���3 ��'�’,���3 "�'����$, �� ��"����/� '�+'�4-�&- 

 
�,�#� �*2	�
�#� �	)��,��
�� ����'��� �� �
�. 3.5, � �
,�'�� '�-

��, 5	 �
*7(�7�. )�'���, %�
/�+�� �� ����1� �	)��,	���� ��*
(
�
, 
����'��� � ��0*. 3.9. 

1. &�'2	�����
 �
,�'�� '��� '*+ �	)��,��
� �� )����
 �, � ��0*. 
3.9. 
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�
��	�� 3.9 
( 4$��$ ���$ ��, '�+'�4-�&- # � � +���"����$ �� ��"����/� 

'�+'�4-�&- 2 �$��' ���3 ��'�’,���3 "�'����$ 
 

�
,�'�� 
'��� 

&	)��(-

� 

��*
-
(
�� 

 � �)+�
 

&	��3����., 5	 %���'�-
4�.�+, ��� 

�1  8��'���+ �� %�	�-

������+ 

��
�
#�*.�
/ #	#��� �� 
��*� (���’+(�	2	 
	*���, 
�⋅� 

�2max  �	)��,����
 

��� %�	6�*7, 2��' α 20 B��� 19036-73 
(���’+
� d1   �*
*.�
/ '��-

#��� 
	*��� d2  
$
�
�� ����)��	� (���
�
 
(���’+
�, �� 

b1  

$
�
�� (���’+(�	2	 
	-
*���, �� 

b2  

 �*
*.�
/ 
�� %�'/	#� 
�
�
� (���’+
�, ��
�. 

γ  

&�
/�+�
 )� ��-
)�*.����#
 �	)��-
,��
� 2�	#����� 
(���’+(�	� %���'�-
(� 

9���	�� 	0����� ��*� 
(���’+
�, ��/
�. 

n1  

&���'��	(�� (
�*	 u  

&�
/�+�
 )� 
���-
#��
(�
# �	)��-
,��
	# 

B��%� #������*� ���-+ 
(���’+(�	2	 
	*��� 

A    = 1 – 0�	�)�, 5	 
�#�5�4 	*	�	. 
  = 2 - 0�	�)�, 5	 
�� �#�5�4 	*	�	. 
  = 3 – (����. 
8�'��
�.. 

��3	�.	�� ��'����., �� aw  
�	���
��� ��%��3���+ �� 
�	0	(�/ %	���,�� )�0� 
(���’+(�	2	 
	*���, 

σH2  
&�
/�+�
 )� ��-
)�*.����#
 �	)��-
,��
� �� #�-����. 
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(�����)���� �
��	�� 3.9 
 

�
,�'�� 
'��� 

&	)��(-

� 

��*
-
(
�� 

 � �)+�
 

�,�#� �	)#�5���+ 
(���’+
� 

   + = 1 – (���’+
 
)��,	'
�.�+ )�
-
)�. 
+ = 2 – (���’+
 
)��,	'
�.�+ �2	��. 
8�'��
�. )� 
���-
#��
(��/ �,�#�. 

�	0	(� ��#%������� #��-
�
*� 

�

2t   8�'��
�., �*� �� 
0�*.1 95°* 

�	�6�-�4�� ��%*	%���'�-
(�, ��(#2⋅°�) 

�� 
 &�
/�+�
 ��= 16 

�	�6�-�4�� ��%*	4#
	��� 
	��	�
 

ψ 

 ψ = 0,3 – #���*�(-
�� ��#�; 
ψ = 1 – 0��	�� 	�-
�	��. 

��#%������� ���
	*
1-
�.	2	 ����'	�
5�, ��
�. 

�

0t  

 8�'��
�.. ;
5	 
��#� �
�)��	
, 
%�
/�+�
 �

0t  = 
20°C 

 
2. �	)��,����
 	
��3�� 1�
'
���., �/�: 

 

 (���’+
� 1 1
1 360 10

d n
V

π ⋅ ⋅=
⋅

; (3.56) 

 

 
	*��� 2 2
2 360 10

d n
V

π ⋅ ⋅=
⋅

. (3.57) 

 
3. �
)��(
�
 1�
'
���. 
	�)���+, �/� 

 
 Vs = V1/cos I. (3.58) 

4. �	)��,����
 '	%	#�3�� ��*
(
�� χ&.�, +
� ��	0,�'�� '*+ �
-
0	�� �’+)
	��� #���
*� 
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2

2
310
H

&�

SV
σχ = . (3.59) 

 
 

6

�
�

�
��. 3.9

��

�
�

�
�

��

��

��

�
�

��

�
�

�
�

��

�
�

��

*�����/
��&�����

-
 -


��&�����
*�����/

8

7 -

*�����/
��&�������&�����

*�����/
-
9

0�
1.
�
�����-
���

VS 10<−

VS <− 5VS −<2

VS <15

j =1

2=j

tMB<95

ΨM =0

����	��-
���
η� ;P t1

VS
(3.58)(3.57)

2VV1
(3.56)

P t1 =P1
1tP

(3.70)

ΨM

PM (3.61)

(3.62)

ν
(3.60)

t ν100°
�
��.(            3.10)

�	��
�	

�
��.(            3.11)
�	���

Ψ0

(3.69)

Ψ� (3.64)
Ψ�°
�	��� Ψ�:

D>1,5

tM<95
�	���KTB:
tMB

�
��.(            3.13)

(3.63)

F2t Fa1(3.71)
F (3.72)1t
 2F

Ft 2 Fr 1(3.73)

χr�=
σ� 2

2

103VS

tM

η�

η

 
(3.68)
(3.67)

(3.65)
(3.66)

Vj SV ν100°;;
η ; *�����/ ��&�����;

1rF2rFF 2a t1F1aFt2F ; ;

ρ

 
 

�
�. 3.5 �,�#� �*2	�
�#� �	)��,��
� �
* � )�(�%*���� -
*��'�
(�	� 
(���’+(�	� %���'�(� �� ��%*	�	2	 �	)��,��
� 

5. �
0���
 �’+)
���. #���
*� '*+ (���’+(�	� %���'�(� %	 ��0*. 
3.10 
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�
��	�� 3.10 

(’,+&$#�� ��1��� 4 ��#� � ��, ��'�’,�� 4 "�'���� <100
0, ��2/� 

 
Y(# 1,5 2 3 5 7 10 15 20 
X100

0 8-11 8,5-12 9-14 12-17 14-19 16-22 20-27 23-30 
 
8 � � � � 3 � � � + . &�
 �	)��,��
� �� "�� %�
/#��
 0�*.1� )��-
(���+ X100º. 

6. �
0���
 �%	��0 )#�5�����+. 
;
5	 Vs< 15 �/�, %�
/�+�
 �%	��0 )#�5�����+ )�������+#. 
;
5	 Vs? 15 �/�, %�
/�+�
 -
�
�*+-�/�
/ �%	��0 )#�5�����+, 
	�-
6�-�4�� �
���� �� %���#�1�����+ #���
*� <! = 0 �� %���/�
 '	 %��-

�� 10. 

7. ;
5	 �%	��0 )#�5�����+ )�������+#, �	)��,����
 �’+)
���. 
#���
*� %�
 �	0	(�/ ��#%������� 

 
 Xt = (0,02t0

2)
2,6·X100º. (3.60) 

 
8. �	)��,����
 �
����
 %	��3�	��� �� %���#�1�����+ #���
*�, 

��� 
 

 50 75 10M j j t jP , V b V−= ⋅ ν  . (3.61) 
 

��� ��'�
� j �
�)�4, +
� *��
� %���'�(� )������� � #���
*	: 
j = 1 - )������
/ (���’+
; j = 2 – )������� (���’+(�� 
	*��	.  
9. �	)��,����
 
	�6�-�4�� �
����
 �� %���#�1�����+ #���
*� 

 

 1

1

1�

�

�

� �
ψ = −

+
. (3.62) 

 
10. �
0���
 )��(���+ 
��� ����+ S � )�*�3�	��� ��' 1�
'
	��� 


	�)���+ Vs �� 2��%
 #������*� ���-+ (���’+(�	2	 
	*��� %	 ��0*. 
3.11. 

11. �	)��,����
 
	�6�-�4�� �
���� � )�(�%*���� 
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 ( )�

tg
tg

γψ =
γ + ρ

. (3.63) 

 
12. �
0���
 )��(���+ ��'�	��
, �
���� <� � �5�*.�7��(�, �� 

����
*+-�/�
, �
���� ψ°
� %�
 n1 = 1500 ��/
 %	 ��0*. 3.12. 

 
�
��	��. 3.11 

����.�$#�� &-�� ��'�, = �$� 5� �&�#�$ &��+���, �� /'-"  
����'$��- �$�2, ��'�’,���/� &���#� 

 
��� ����+ S, 2��' 
B��%� #������*� � $�
'
���. 
	�)���+ 

VS, �/� 
�=1 �=2 (
 3 

0,01 5,667 6,833 
0,1 4,500 5,167 

0,25 3,667 4,333 
0,5 3,167 3,667 
1,0 2,833 3,167 
1,5 2,333 2,833 
2,0 2,000 2,500 
2,5 1,167 2,333 
3,0 1,500 2,000 
4,0 1,333 1,667 
7,0 1,000 1,500 

10,0 0,917 1,333 
15,0 0,833 1,167 

 
13. �	)��,����
 
	�6�-�4�� ����
*+-�/�
, �
���� %�
 �	0	(�/ 

(���	�� 	0����� ��*� (���’+
� 
 

2
0 1

1500� �

n� �ψ = ψ � �
� �

. (3.64) 
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�
��	�� 3.12 

�������, �$���#� 4 ��'�� yψ  � -:$���6����4 �� 
���� �,2$!� 4 ��'�� �ψ�  "'  n1=1500 �
/��. 

 
aw, ## ψy �ψ�  

40 0,109 0,003 
50 0,100 0,004 
63 0,089 0,006 
80 0,078 0,010 
100 0,070 0,015 
125 0,062 0,024 

(140) (0,059) (0,030) 
160 0,055 0,040 

(180) (0,053) (0,050) 
200 0,050 0,062 

(225) (0,047) (0,080) 
250 0,045 0,100 

(280) (0,042) (0,127) 
315 0,039 0,165 

 
 

14. �
)��(
�
 
	�6�-�4�� 
	�
��	� '�� (���’+(�	� %���'�(� (0�) 
����
*+-�/�
, �
����) 

 
 W=1 – <3 – <� – <�. (3.65) 

 
15. �
)��(
�
 
	�6�-�4�� 
	�
��	� '�� (���’+(�	� %���'�(� ) 

���,�����+# ����
*+-�/�
, �
���� 
 

 W� = W – <� . (3.66) 
 

16. �	)��,����
 �	)#�� %	���,�� ��%*	%���'�(� 
	�%��� 
(���’+(�	2	 #�,���)#�, �2 
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1 7

320
10

,
wa

A � �= � �
� �

. (3.67) 

 
17. �	)��,����
 ��#%������� #���
*� %�
 ���*	#� ��3
#� �	-

0	�
 
 

 ( )
( )

3
0 01

0

10 1
1M

T

P
t t

k A
⋅ ⋅ − η

= +
⋅ ⋅ + ψ

. (3.68) 

 
18. ��#%������� #���
*� �� %	�
��� 0��
 �
5� 95º *. ;
5	 

�#	�� t!
º < 95º C �

	��4�.�+, %���/�
 '	 %��
�� 23, +
5	 �#	�� t!

º 

< 95º C �� �

	��4�.�+, %�
/�+�
 �
���#� 	,	*	'3�����+ ) ����
-
*+�	�	#. � -.	#� �
%�'
� 
	�6�-�4��
 ��%*	%���'�(� %�
/�+�
 )� 
��0*. 3.13. 

 
�
��	�� 3.13 

���1$2$0�� ��"��"�'����$ k�� "���'4�$ &�'"-#�, :� �%�-��0��#, 
���� �,��'�� 

 
n1, ��/
�. 700 900 1400 2800 
k��, ��/�2

� 24 29 35 50 
 

19. �	)��,����
 ��#%������� #���
*� %�
 �#	�� 	,	*	'3���+ 

	�%��� ����
*+�	�	# 

 

 ( )
( )( )
3

01
0

10 1
0 6 1 0 4

B
MB

T TB

P
t t

, k , k A
⋅ ⋅ − η

= +
⋅ ⋅ + ψ + ⋅ ⋅

� . (3.69) 

 
20. &������
�
 �#	�� %���2���� 

 
 t!�

º < 95º C.  
 

21. ;
5	 -+ �#	�� �� �

	��4�.�+, �
)��(
�
 “���#�(��” %	��-
3����., +
� #	3� %���'��
 (���’+(�
/ ��'�
�	� %�
 ��#%������� 
#���
*� t!

º = 95º C, ��� 
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( ) ( )( )

( )
0
0

1 3

95 0 6 1 0 4

10 1
T TB

t
B

t , k , k A
P

− ⋅ ⋅ ⋅ + ψ + ⋅ ⋅
=

⋅ − η

�

. (3.70) 

 
22. &�
 �	)��,��
� �� "�� '��
����
 “����
*+�	�” �� )��(��-

�+ W� � �1t. 
23. ��)��(
�
 ���%��. �	(�	��� %���'�(� � )�*�3�	��� ��' 1�
'-


	��� 
	�)���+ (��0*. 3.14) 
�
��	�� 3.14 

���"$�� �����#�$ "�'����$ � +���.��#�$ �$� 5� �&�#�$ &��+���, 
 
$�
'
���. 
	�-
)���+  
VS , �/� 

> 10 10 - 5 5 - 2 ≤ 2 

���%��. �	(�	��� 
)�  �� 3675-81 6 7 8 9 

 
24. �	)��,����
 	
��3�� �
*� � )�(�%*���� �� (���’+(�	#� 
	-

*���, 5	 '	����74 	�.	��/ �
*� �� (���’+
� 
 

 
3

2
2 1

2

2 10 max
t a

T
F F

d
⋅ ⋅= =   (3.71) 

 
25. �	)��,����
 	�.	�� �
*� F
2 �� (���’+(�	#� 
	*���, 5	 '	-

����74 	
��3��/ �
*� �� (���’+
� Ft1 
 

 ( )
3

2
2 1

2

2 10 max
a t

T
F F tg

d
⋅ ⋅= = ⋅ γ + ρ . (3.72) 

 
26. �	)��,����
 ��'��*.�� �
*
 Fr1 �� Fr2 

 
 Fr1 = Fr2 = Ft2 tgα. (3.73) 

 
27.  ��
����
: V1; V2; VS; X100

º; 
�%	��0 )#�5�����+; W; W�;  ; �1; �1t; 
���%��. �	(�	��� %���'�(�; Ft2 = Fa1; Fa2 = Ft1; Fr2 = Fr1. 
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�
���	 4. ��)�	��) �
�����
�� ����
��
)� 
������� 

 
4.1 �' &���  '�+'�4-�&- +-%��#� 4 "�'���� 

 
4.1.1 �
)��(���+ '	%���
#
, ��%��3��. 

 
 	%���
#� ��%��3���+ � )�*�3�	��� ��' #������*�, �%	�	0� )#�-

-����+ �� �������3���+ '*+ -
*��'�
(�
, �� 
	��(�
, )�0(���
, 
%���'�( �
)��(�7�. )� 	'��
	�
# �*2	�
�#	#. 

�
,�'�� %���#���
 '*+ �	)��,��
� '	%���
#
, ��%��3��. )��-
'��� � ��0*. 4.1. 
 

�
��	�� 4.1 
( 4$��$ "�'����'  

 
��/#�������+ %���#���� &	)��- 

(���+ 
8��(���+ 

1. 9���	�� 	0����� ��'�(	2	 
	*��� 
(1�������), ,�
*.-1 n1 

465 

2. &���'��	(�� (
�*	 u 5,6 
3. &	���0�
/ ������, 2	'
� Lh 12000 

1�������  - 40, 4. ���
� ���*� 

	*��� - 40, 
1�������  - )�2��������+ 5.�%	��0 ���#�(�	� 	0�	-

0

 ()#�-����+) 
	*��� - %	*�%1���+ 
1�������  H01 50 HRCe 6. ����'���. %	���,	�. 

)�0� (����'�+) 
	*��� H02 285 HB 
1�������  Hk1 285 HB 7.����'���. ���-��
�
 

(����'�+) 
	*��� Hk2 285 HB 
1�������  

1Tσ  800 8. ��3� ��
�(	��� #���-
���*�, �&� 
	*��� 

2Tσ  750 
9.  	%���
#
/  
	�6�-�4�� %������-
��3���+ 

���T
Tmax  1,8 

10. ��)	�
/ 
	�6�-�4�� )�%��� �
��
-
��*	��� %�
 �	)��,��
� �� 
	���
��� 
#�-����. 

jHS  
��0*. 2.8 

1HS = 1,2 

2HS = 1,1 
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(�����)���� �
��. 4.1 

 
��/#�������+ %���#���� &	)��- 

(���+ 
8��(���+ 

11. ��3� �
��
��*	��� %�
 �	)-
��,��
� �� )2
�, �&� 

jF blim�σ  
��0*. 
2.9 

550lim 1 =bF
�σ  

5132858,18,1lim 2 =⋅== HBbF
�σ

 
12. ��)	�
/ 
	�6�-�4�� )�%��� 
#�-�	��� %�
 �	)��,��
� �� )2
� 

jFS  
��0*. 
2.9 

7,1
21

== FF SS  

13. ��3� ��%��3��. )�0� %�
 
�	)��,��
� �� )2
� #�
�
#�*.-
�
# �������3���+#, �&� 

0
jFstσ  

��0*. 
2.9 

22500
1

=Fstσ  
18522855,65,60

2
=⋅== HBFst Hσ  

14. ��)	�
/ 
	�6�-�4�� )�%��� 
#�-�	��� %�
 �	)��,��
� �� )2
� 
#�
�
#�*.�
# �������3���+# 

jstFS  
��	�. 8 

75,1
2

== FststF SS
j

 

 
 

��B����� ��8��9"��;  �&������� ��&��!"��  �; 
��8������� 8��9�����  &"�" �9 

 
 �� ���'�� %�	�
��	2	 �	)��,��
� )�0(���	� %���'�(� �	)��,	-
��7�.: 

1) '	%���
#� 
	���
��� ��%��3���+; 
2) '	%���
#� 
	���
��� ��%��3���+ %�
 #�
�
#�*.�	#� �����-
��3����; 

3) '	%���
#� ��%��3���+ �� )2
� )�0�; 
4) '	%���
#� ��%��3���+ �� )2
� )�0� #�
�
#�*.�
# �������-
3���+#. 
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�
��	�� 4.2 

��"-#� �$ ��"'-.���, 
��/#�������+ %���#�-

��� 
&	)��
(���+ 

�	#�� 
6	�#. 

���	' �
)��(���+ 

1. ��3� �
��
��*	��� 
%�
 0�)	��/ 
�*.
	��� 
-

*�� )#�� ��%��3��., 
�&� 

H blimσ
 

��0*. 
2.8 

1lim 17 200 17 50 200H eb HRCσ = + = ⋅ + =  
= 1050 ; 

640702852702lim 2 =+⋅=+= HBbHσ . 

2. ��)	�� (
�*	 )#�� 
��%��3��. jHN lim

 
(2.29) .104,232853030lim

;107,945103030lim
64,24,2

2

64,24,2
11

2
⋅=⋅==

⋅=⋅==

HBH

HBH

HN

HN

 
3. 9
�*	 -

*�� )#�� 
��%��3��. � )�*�3�	�-
�� ��' ���#��� �

	�
�-
����+ 

jKN  (2.30) 

1 160 60 465 1 12000K hN n cL= = ⋅ ⋅ ⋅ =  
= 6334,0 10⋅ ; 

6
12 1085,596,5/8,334/ ⋅=== uNN KK . 

4. �	�6�-�4�� '	�2	��-
(�	��� %�
 �	)��,��
� 
�� 
	���
��� #�-����. ZN j 

 
 
 
 

(2.28) 

94,0
1048,33
1047,9lim

20
7

7

20

1

2
1 =

⋅
⋅==

K

H
N N

N
Z ; 

95,0
1085,59
104,23lim

20
6

6

20

2

2
2 =

⋅
⋅==

K

H
N N

N
Z . 

5. 	%���
#� 
	���
��� 
��%��3���+ �
)��(��� 
	
��#	 '*+ 1������� �� 

	*���, �&� 

jHPσ  (2.23) 
74094,0

2,1
1050

9,01 =⋅=HPσ ; 

49795,0
1,1

640
9,02 =⋅=HPσ . 

6.  	%���
#� 
	���
�-
�� ��%��3���+ %���'�-
(�, �&� 

HPσ  
(2.25) 

 
(2.26) 

( ) 55749774045,0 =+=HPσ ; 
1,25σHPmin = 1,25⋅497=621. 
σHP = 557 

7.  	%���
#� 
	���
�-
�� ��%��3���+ %���'�-
(� %�
 #�
�
#�*.�	#� 
�������3����, �&� 

maxHPσ  (2.31) 21007508,28,2max =⋅== THP σσ . 

8. �	�6�-�4�� '	�2	��-
(�	��� %�
 �	)��,��
� 
�� )2
� 

jNY  (2.34) 

1
108,334

104104
6

6

6

6

6

1

1
<

⋅
⋅=⋅=

K
N N

Y ; 

6104
1

⋅>KN , �	 1
1

=NY ; 

1
1085,59

104104
6

6

6

6

6

2

2
<

⋅
⋅=⋅=

K
N N

Y ; 

2 1

64 10
;KN > ⋅ , �	 1

2
=NY . 
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(�����)���� �
��. 4.2 
 
9.  	%���
#� ��-
%��3���+ %�
 �	)-
��,��
� �� )2
� 
'*+ 1������� �� 

	*���, �&� 

jFPσ  (2.33) 

2591
7,1

550
8,0

lim
8,0

1

1

1
0

=⋅== N
F

F
FP Y

S
bσσ ; 

2411
7,1

513
8,0

lim
8,0

2

2

2
0

=⋅== N
F

F
FP Y

S
bσσ . 

10.  	%���
#� ��-
%��3���+ %�
 �	)-
��,��
� �� )2
� 
#�
�
#�*.�
# ��-
�����3���+# 
	
��#	 '*+ 1����-
��� �� 
	*���, �&� 

jFP maxσ  (2.36) 

1157
75,1

2250
9,09,0

0

1max
1 ===

stF

stF
FP S

σ
σ ; 

952
75,1

1852
9,09,0

0

2max
2 ===

stF

stF
FP S

σ
σ . 

 
4.1.2 &�

*�' �	)��,��
� %���'�(� )�0(��	� -
*��'�
(�	� ��	-

*.�����	2	 )	���1�.	2	 )�(�%*���+ 
1. �
,�'�� %���#���
 '*+ %�	�
��	2	 �	)��,��
� ����'��� � 
��0*. 4.3 

2. �
)��(���+ 2�	#���
(�
, �� 
���#��
(�
, %���#�����, 5	 
�

	�
��	��7�.�+ � �	)��,��
�, �� #�-����., ����'��� � 
��0*. 4.4. 

3. &�

*�' 
	#%*�
��	2	 �	)��,��
� �� #�-����. ����'��
/ � 
��0*. 4.5. 
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�
��	�� 4.3 

( 4$��$ "�'����'  
 

��/#�������+ %���#���� &	)��- 
(���+ 

�	#�� 
:	�#. 

8��(���+ 

1. �
% %���'�(� -  -
*��'�
(�� 
2. ��� �
,�'�	2	 
	����� α  20° 
3. ��� ��,
*� *���� )�0�, 2��'. β  12° 
4. ��+�����. #	'
6�
�-�� 2	*	�

 
)�0� 

-  ��#� 

5. ���%��. �	(�	��� %���'�(� )� 
 �� 1643-87 

-  8 

6. $	�,���. %	���,	�. )�0�, ## Ra  �� 
2789-73 

1,25 

7. �

*	2��#� �������3���+ 
��
�
#�*.�� �������3���+ 1��-
�����, �⋅# 

�1max  &	���/�� �����-
��3���+;  
KHE = KFE = 1 
T1max=42. 

8. �	�6�-�4��, 5	 ���,	��4 )	�-
��1�4 '
��#�(�� �������3���+ 

�   �  = 1. 
���,	���	 � -
-

*	2��#� �����-
��3���+. 

9. 9���	�� 	0����� ��'�(	2	 )�-
0(��	2	 
	*���, ,�
*.-1 n1 465 

10. &���'��	(�� (
�*	 u 

��0*. 4.1 
%.1 
%.2 5,6 

11.  	%���
#� 
	���
��� ��%��-
3���+ %���'�(�, �&� 

HPσ  ��0*. 4.2 
%.6 

557 

12.  	%���
#� 
	���
��� ��%��-
3���+ %���'�(� %�
 #�
�
#�*.-
�	#� �������3����, �&� 

HP maxσ  ��0*. 4.2 
%.7 

2100 

13.  	%���
#� ��%��3���+ %�
 
�	)��,��
� �� )2
� 	
��#	 '*+ 
1������� �� 
	*���, �&� 

1FPσ  

2FPσ  
��0*. 4.2 
%.9 

259; 
241. 

14.  	%���
#� ��%��3���+ %�
 
�	)��,��
� �� )2
� #�
�
#�*.�
# 
�������3���+# 	
��#	 '*+ 1��-
����� �� 
	*���, �&� 

1maxFPσ  

2maxFPσ  
��0*. 4.2 
%.10 

1157; 
952. 
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�
��	�� 4.4 
( +������, /�����' �� 4 �� &$����� �� 4 "�'����'$�, :� 

� &�' #���-6��#, � '�+'�4-�&�4 �� �$2�$#�� 
 
��/#�������+ %���#���� &	-

)��- 
(���+ 

�	-
#�� 
6	�#. 

���	' �
)��(���+ 

1. ��'�	��� 1
�
�� )�0(��	-
2	 ���-+ 

bdψ  ��0*. 
2.6 

1 

2. �	�6�-�4��, 5	 ���,	��4 
�	)%	'�* �������3���+, #�3 
)�0�#
 � 
	�	)�0�/ �� 1��-
�	���/ %���'�(� %�
 �	)��-
,��
�: 
- �� 
	���
��� #�-����. 
- �� #�-����. �� )2
� 

αHK  
αFK  

�
�. 
2.5 

  
 

1,07 
1,22 

3. �	�6�-�4��, 5	 ���,	��4 
������	#������. �	)%	'�*� 
�������3���+ %	 '	�3
�� 

	���
��
, *���/ %�
 �	)��-
,��
�: 
- �� 
	���
��� #�-����. 
- �� #�-����. �� )2
� 

 
 

βHK  
βFK  �
�. 

2.6 
1,15; 
1,32. 

4. �	�6�-�4��, 5	 ���,	��4 
'
��#�(�� �������3���+ � 
)�(�%*���� %�
 �	)��,��
�: 
- �� 
	���
��� #�-����. 
- �� #�-����. �� )2
� 

HvK  
FvK  

��0*. 
2.7 

1,03; 
1,06. 

5. ���	��
/ 
�� ��,
*� *���� 
)�0�, 2��'. 

 
bβ   

( )
( ) ��� 27,1120cos12sinsin

cossinsin

=⋅

=⋅=

arc

arcb αββ

 
6.  	%	#�3�
/ 
	�6�-�4��, 
5	 ���,	��4�.�+ %�
 �	)��-
,��
� #�3	�.	�	� ��'����� 

 
aK  ��0*. 

2.11 
0≠β  

aK =430 
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��/�' �� '�+'�4-�&- 2 �$��' ���3 �����������3 +-%��#��3 "�-
'����$ +���$5���/� +���"����, 

 
 

 *+ -

*� �	)��,��
� )�0(���
, %���'�( %�
/�+�� ��
� )��-
(���+ ��'�
���:  

j = 1- %���#���
 1�������, j = 2 – %���#���
 
	*���. 
 

�
��	�� 4.5 
��/�' �� '�+'�4-�&- 

 
��/#�������+ 
%���#���� 

&	)��- 
(���+ 

�	#�� 
6	�#. 

���	' �
)��(���+ 

1. �	�6�-�4�� 
��'�	��	� 
1
�
�
 
)�0(���	2	 

	*��� 

baψ  (2.39) 

303,0
16,5

12
14

2
=

+
⋅=

+
= cd

ba

ψψ ; 

%�
/�+�	 baψ =0,315 ( �� 2185-66). 

2.��� %�	6�*7 
 � �	�-.	�	#� 
%�����)�,  
                   2��'. 
                   ��'. 

 
 
�

tα  
tα  

(2.47) 

( )βαα cos/tgtgarct =� = 
( ) ��� 41,2012cos/20 =tgarctg ; 

35622,0=tα . 

3. ��3	�.	�� 
��'����., ## 

'
wα  (2.40) 

( )

( ) 35,126
5576,5315,0

15,142
16,5430

1

3
2

3
2

1'

=
⋅⋅

⋅
+=

=+=
HPba

HH

aw
u

KT
uKa

σψ
β

 

   &�
/�+�	 aw = 160 ( �� 2185-66) 
4. �	'�*. %�-
��'�(�, ## 

m′ (2.41) m′ = (0,01…0,02)⋅aw = (0,01...0,02)160 = 
1,6...3,2 ##, 
%�
/�+�	 m = 2,5 ##        

5. ��*.
���. 
)�0-�� 1�����-
�� 

z1 (2.42) 

( ) ( )1

2 2 160 12
1 2 5 1 5 6 12

18 97

' wa cos cos
z

m u , , cos

, ;

⋅ β ⋅ ⋅= = =
+ +

=

�

�  

z1 = 19. 
6. ��*.
���. 
)�0-��  

	*��� 

z2 (2.43) '
2 1 19 5,6 106, 4z z u= = ⋅ = ; 

2 106z = . 
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(�����)���� �
��. 4.5 
��/#�������+ 
%���#���� 

&	-
)��- 
(���+ 

�	#�� 
6	�#. 

���	' �
)��(���+ 

7. �
	��2	���� 
)��(���+ %���'�-
�	(�	2	 (
�*� 

u (2.44) 2 1/ 106 /19 5,58u z z= = =  

8.  �*
*.�� #�3-
	�.	�� ��'����., 
## 

a (2.45) ( ) ( )1 2 2,5 19 106
159,74

2cos 2 cos12
m z z

a
β

+ +
= = =

⋅ �
 

9. �	�6�-�4�� 
�%�
/#��	2	 
)#�5���+ 

y (2.46) 
104,0

5,2
74,159160 =−=

−
=

m
aa

y w . 

�

	���� �#	�� 0 < y < 1. 
10. ��� )�(�%*��-
�+, 2��'. 
 
 
��'. 

�

twα  
 
 
 
twα  

(2.48) 

.36059,0

;66,2041,20cos
160

74,159
arccos

cosarccos

�
�

a
a

tw

t
w

tw

=

=�
�

�
�
�

� ⋅=

=��
�

�
��
�

�
=

α

αα

��

�

 

11. "�	*.����-�� 
6��
-�� 
���� �

twα  � 

tα  

twinv α  
tinv α  

(2.49) twinv α =
016507,036059,060,20 =−=− �tgtg twtw αα ;  

015874,035622,041,20 =−=−= �tgtginv ttt ααα
. 

12. �	�6�-�4�� 
��#
 )#�5��. 

xΣ (2.50) ( )

( ) ;109,015874,0016507,0
202
10619
2

21

=−
⋅
+=

=−
+

=Σ

�tg

invinv
tg

zz
x ttw αα

α
 

�#	�� xΣ < 1 �

	����. 
13. �	)%	'�* )��-
(���+ xΣ #�3 1��-
�����7 �� 
	*�-
�	# 

x1 
x2 

 0 < xΣ < 0,5, �	 x1= xΣ = 0,109;  
x2 = 0. 

14. �	�6�-�4�� 
)����+*.�	2	 
)#�5���+ 

∆y (2.51) 005,0104,0109,0 =−=−=∆ Σ yxy  

15.  �*
*.�� '��-
#���
, ## 

dj (2.52) 
56,48

12cos
195,2

cos
1

1 =⋅==
�β

mz
d ; 

92,270
12cos
1065,2

cos
2

1 =⋅==
�β

mz
d . 
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(�����)���� �
��. 4.5 
 
��/#�������+ 
%���#���� 

&	-
)��- 
(���+ 

�	#�� 
6	�#. 

���	' �
)��(���+ 

16.  ��#���
 
���1
�, ## 

daj (2.53) ( )
( ) ;08,545,2005,0109,01256,48

2 111

=⋅−++=
=∆−++= ∗ myxhdd aa  

( )
( ) .92,2755,2001292,270

2 222

=⋅−++=
=∆−++= ∗ myxhdd aa  

17.  ��#���
 
	��	��
, 
	
��3�	���/, 
## 

dbj (2.54) 51,4541,20cos56,48cos11 =⋅== �

tb dd α ; 
51,253cos92,270cos22 =⋅== ttb dd αα . 

18. ��� %�	6�*+ 
)�0� � �	(
�, 
�� 	
��3�	��� 
���1
�, 2��'. 

αaj (2.55) ( ) ( )
;70,32

08,54/51,45arccos/arccos 111

�=

=== aba ddα
 

( ) ( )
.25,23

92,275/51,253arccos/arccos 222

�=

=== aba ddα
 

19.�	�6�-�4�� 
�	�-��	2	 %�-
��
�
��+ 

αε  (2.56) ( )

( )

.69,1
2

66,201061925,2310670,3219
2

212211

=

=+−⋅+⋅=

=
+−+

=

π

π
αααεα

��� tgtgtg

tgzztgztgz twaa

 

20. $
�
�� )�-
0(���	2	 ���-+ 

	*���, ## 

bw2 (2.57) ;4,50160315,02 =⋅=⋅= wbaw ab ψ  
bw2 = 50. 

21.��.	�
/ 

�	
, ## 

px (2.58) 78,3712sin/5,2sin/ =⋅== �πβπmpx  

22. �	�6�-�4�� 
	�.	�	2	 %���-

�
��+ 

βε  (2.59) ;32,178,37/50/2 === xw pbβε  

βε > 1. 

23. $
�
�� )�-
0(��	2	 ���-+ 
1�������, ## 

bw1 (2.60) 555505
21

=+=+= ww bb  

24. ��(�*.�
/ 
'��#���, ## 

dwj (2.63) 
 

(2.64) 

( ) ( ) 48,4816,5/16021/2
1

=+⋅=+= uad ww ; 
52,2716,548,48

11
=⋅== udd ww . 

25. �	)��,��
	-
�� 	
��3�� �
-
*�, � 

Ft  
1733

48,48
42102102 3

1
3

1

=⋅⋅=⋅⋅===
w

FtHtt d
T

FFF  
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(�����)���� �
��. 4.5 
 
��/#�������+ 
%���#���� 

&	)��- 
(���+ 

�	#�� 
6	�#. 

���	' �
)��(���+ 

26. �
��3�� 
1�
'
���., #/� 

v (2.65) ( ) 18,160000/46556,481060/ 3
11

=⋅⋅=⋅= ππ ndv w  

27. &
�	#� 
	
��3�� �
*�: 
%�
 �	)��,��
� 
�� 
	���
��� 
#�-����., �/##; 
%�
 �	)��,��
� 
�� #�-����. 
)2
�f, �/## 

tHw  
 
 
 
 

tFw  

 
,4303,115,107,1

50
1733

2

=⋅⋅⋅==
vt HHH

w

Ht
H KKK

b
F

w
βα

 
 
 

2

1733
1, 22 1,32 1,06 59,17.

50
t

t v

F
F F F F

w

F
w K K K

b α β
= = ⋅ ⋅ ⋅ =

 
28."
����*����� 

�*.
���. )�0�� 

jvz  (2.66) 3,20
12cos

19
cos 33

1
1

===
�β

Z
Z v ; 

3,113
12cos

106
cos 33

2
2

===
�β

Z
Z v . 

29. �	�6�-�4��, 
5	 ���,	��4 
6	�#� )�0� �� 

	�-�����-�7 
��%��3��. 

jFsY  (2.67) 

;96,3109,0092,0
3,20

109,0
7,29

3,20
2,13

47,3092,07,29
2,13

47,3

2

2
1

1

11

1

=⋅+−+

+=+−+= x
Z
x

Z
Y

vv
Fs

 

.59,30092,0
3,20

0
7,29

2,113
2,13

47,3
2

=⋅+−+=FsY  

30. �	�6�-�4��, 
5	 ���,	��4 
%���
�
��+ 

Yε  Yε = 1. 

31. �	�6�-�4��, 
5	 ���,	��4 
�� 
��,
*� *���� )�-
0� 

Yβ (2.68) 
9143,0

140
12

1
140

1 =−=−=
�β

βY . 

32. ��%��3���+ 
)2
�� 	
��#	 
'*+ )�0� 1��-
����� �� 
	*���, 
�&� 

jFσ   
 
 
 

1

59,17
3,96 1 0,9143 86;

2,5j

Ft
F FS

w
Y Y Y

mε βσ = ⋅ ⋅ = ⋅ ⋅ =  

2 2

59,17
23,59 1 0,9143 78.

2,5
t

j

F
F FS

w
Y Y Y

mε βσ = ⋅ ⋅ = ⋅ ⋅ =

 
33. �#	�
 #�--
�	��� 

  
jFFP σσ >  

�#	�� �

	���� ( 259
1

=FPσ ; 241
2

=FPσ ) 
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(�����)���� �
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��/#�������+ 
%���#���� 

&	)��- 
(���+ 

�	#�� 
6	�#. 

���	' �
)��(���+ 

34. �	�6�-�4��, 
5	 ���,	��4 #�-
,���(�� �*���
�	-
��� �%	*�(��
, 
)�0(���
, 
	*�� 

ZE ��0*. 
2.11 ( ) ( )( )1

2
22

2
1

21

11 EE

EE
Z E µµπ −+−

= . 

 *+ ���*��
, 
	*�� %�
 
E1=E2=E=2,1⋅106 �&� �� µ1 = µ2 = 0,3     
ZE = 190 

35. ���	��
/ 
�� 
��,
*� *���� )�0�  

βb (2.73) βb= arcsin(sinβ⋅cosα) = 
=arcsin(sin120⋅cos200) = 11,27° 

36. �	�6�-�4��, 
5	 ���,	��4 6	-
�#� �%	*�(��
, 
%	���,	�. )�0�� � 
%	*7�� )�(�%*��-
�+ 

ZH (2.74) 

43,2
66,20

27,11cos2
41,20cos

1

cos2
cos

1

=⋅=

==

�

�

� tg

tg
Z

tw

b

t
H α

β
α

 

37. �	�6�-�4��, 
5	 ���,	��4 ��-
#���� '	�3
�� 

	���
��
, *���/ 

Zε (2.62) εβ > 1; 

77,0
69,1
11 ===

α
ε ε

Z . 

38. �	���
��� ��-
%��3���+, �&� 

σH (2.75) ( )

( )
326

6,556,4850
16,51733

77,043,2190

1

12

=
⋅⋅
+⋅⋅⋅=

=+=
u

u
db

F
ZZZ

W

tH
HEH εσ

 

39. �#	�� #�-�	-
��� 

-  σH < σHP; 
σHP = 557 �&. 
�#	�� �

	����. 

40. ��/0�*.1� 

	���
��� ��-
%��3���+ %�
 
#�
�
#�*.�	#� 
�������3����, 
�&� 

σHmax (2.78) 
max

max 326 1,8 437H H
í î ì

T
T

σ σ= = =  
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��/#�������+ 
%���#���� 

&	)��- 
(���+ 

�	#�� 
6	�#. 

���	' �
)��(���+ 

41. �#	�
 #�--
�	��� 

- - σHP max >σH max; 
σHP max = 2100 �&�. 
�#	�� �

	����. 

42. ��/0�*.1� 
��%��3���+ �� 
)2
� %�
 #�
-
�
#�*.�	#�  
�������3����, 
�&� 

σF max j   
(2.80) 1 1

86 1 8 155max
F max F

í î ì

T
,

T
σ = σ ⋅ = ⋅ =  

1408,178max
max 22

=⋅=⋅=
F

F
FF T

Tσσ  

43. �#	�� #�--
�	��� 

  jFjFP maxmax σσ > ; 
1157

1max =FPσ  �&�; 
952

2max =FPσ  �&�. 
�#	�� �

	����. 

44. ��� %�	6�-
*7 �� 
	�-���-
�
(��/ 	
��3-
�	��� '��#���� 
dx j, 2��'. 

dx j 
 

αx j 

(2.82) 
 

(2.83) 

��mxddx 105,495,2109,0256,482 111 =⋅⋅+=+=
;  

��ddx 92,27022 ==  (x2 = 0); 

�

�

�

06,22
12cos109,0219

41,20cos19
arccos

cos2
cos

arccos
11

1
1

=��
�

�
��
�

�

⋅⋅+
⋅=

=��
�

�
��
�

�

+
=

β
αα

xz
z t

x

 

�

�

�

41,20
12cos02106

41,20cos106
arccos

cos2
cos

arccos
22

2
2

=��
�

�
��
�

�

⋅⋅+
⋅

=��
�

�
��
�

�

+
=

β
αα

xz
z t

x
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(�����)���� �
��. 4.5 

 
��/#�������+ 
%���#���� 

&	)��- 
(���+ 

�	#�� 
6	�#. 

���	' �
)��(���+ 

45. ��*.
���. 
)�0�� � '	�3
�� 
)�2�*.�	� �	�-
#�*� 

nrjz  (2.84) 
1

11 1
2

1

2

2
0,5

cos

19 22,96 2 0,109 20
0,015874 0,5

cos 11,27 19

2,9269

x
nr t

b

tgz x tg
Z inv

Z

tg tg

α α α
π β

π

� �
= − − + =� �

� �

� �⋅ ⋅= − − + =� �
� �

=

� �

�

 

2

22
2

2

0 0,5
cos

106 20,41
0 0,015874 0,5

cos 11,27

13,0178

x
nr t

b

tgz
Z inv

tg

α α
π β

π

� �
= − − + =� �

� �

� �
= − − + =� �

� �

=

�

�
 

46. ��*� )��-
(���+ �	)��,�-
�
	�	� ��*
(
-
�
 znrj 

njZ  -�*� 
(
�*	 

1nz  = 3; 2nz = 13 

47.  	�3
�� 
)�2�*.�	� �	�-
#�*�, ## 

Wj (2.85) ( )( )
( )( )

1 1 1 10,5 2 cos

3 0,5 2 0,109 20 19 0,015874 2,5 cos 20

19,3457 ;

n tW z x tg z inv m

tg

π α α α

π

= − + + =

= − + ⋅ ⋅ + ⋅ ⋅ ⋅ =

=

� �

 
( )( )

( )( )
2 2 20,5 0 cos

13 0,5 0 106 0,015874 2,5 cos 20

96,2070 .

n tW z z inv mπ α α

π

= − + + =

= − + + ⋅ ⋅ ⋅ =

=

�

 
48. ��'��� 
�
-
�
�
 �
�
��	-
2	 %�	6�*7 )�-
0� � �
3��/ �	-
(-� 

jpρ  (2.86) 

;99,125,2351,2535,0

66,20sin1605,0sin
221

=⋅⋅−

−⋅=−=
�

�

tg

tgda abtwwp ααρ
 

.84,417,3251,455,0

66,20sin1605,0sin
112

=⋅⋅−

−⋅=−=
�

�

tg

tgda abtwwp ααρ
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(�����)���� �
��. 4.5 

 
��/#�������+ 
%���#���� 

&	)��- 
(���+ 

�	#�� 
6	�#. 

���	' �
)��(���+ 
 

49. ��'��� 
�
-
�
�
 %�	6�*�/ 
)�0�� � �	(
�,, 
5	 )�'�7�. '	-
�3
�� �%�*.�	� 
�	�#�*�, ## 

jwρ  (2.87) 49,927,11cos35,195,0cos5,0 11
=⋅⋅== �

bw W βρ ; 
18,4727,11cos21,965,0cos5,0 22

=⋅⋅== �

bw W βρ
. 

50. ��'��� 
�
-
�
)�
 %�	-6�*7 
)�0� � �	(
�, 
�� 	
��3�	��� 
���1
�, ## 

jaρ  (2.88) 61,147,32sin08,545,0sin5,0 111
=⋅⋅=⋅= �

aaa d αρ
; 

,5425,23sin92,2755,0sin5,0
222

=⋅⋅=⋅= �

aaa d αρ
. 

51.    �#	��  
jj aw ρρ < �

	����. 

 
4.1.3 &�

*�' �	)��,��
� %���'�(� )�0(���	� 
	��(�	� ��	*.���-

��	� 
 
 &�

*�' �	)��,��
� �#�5�4 ��
�: 

1) �
,�'�� %���#���
 '*+ %�	�
��	2	 �	)��,��
�, 5	 )��'��� � 
��0*. 4.6; 

2) �
)��(���+ 2�	#���
(�
, �� 
���#��
(�
, %���#�����, 5	 
�

	�
��	��7�.�+ � �	)��,��
�, �� #�-����. (��0*. 4.7); 

3) (
�*	�
/ %�

*�' �	)��,��
� (��0*. 4.8). 
���
� ���*� 40�, �%	��0 ���#�(�	� 	0�	0

, ����'���. %	���-

,	�. )�0� (����'�+), %	���0�
/ ������ %�
/�+�
 ��
� 3 ��#�, +
 � '*+ 
-
*��'�
(�	� %���'�(� (��0*. 4.1). 
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�
��	�� 4.6 

( 4$��$ "�'����'  
��/#�������+ %���#���� &	)��-

(���+ 
�	#. 
��0*. 
'3��. 

8��(���+ 

1. �,�#� %���'�(�   �	��(�� 1������+ 

	��	*.��. ��*
 �� 

�*.
	�
, %�'1
%�
-

�, 

2. �
% %���'�(� -  �	��(�� ) %�+#
# )�-
0	# 

3. ��� �
,�'�	2	 
	�����, 2��' α  20° 
4. ��3	�.	�
/ 
��, 2��' Σ  90° 
5. �	�6�-�4�� �
�	�
 2	*	�

 
)�0� 

*
ah   1 

6. �	�6�-�4�� ��'��*.�	2	 )�-
)	�� 

�*  0,2 

7. ��� ��,
*� *���� )�0� β  0 
8. ���%��. �	(�	��� %���'�(� )� 
 �� 1758-81 

-  8-� 

9. $	�,���. %	���,	�. )�0� )� 
 �� 2729-73, #
# 

Ra  2,5 

10. �

*	2��#� �������3���+ -  &	���/�� �������3��-
�+ 

�1max = 42 �# 
11.  	%���
#� %��������3���+ ���TTmax   2,2 
12. �	�6�-�4��, 5	 ���,	��4 
)	���1�4 '
��#�(�� �������-
3���+ 

KA  KA = 1 

13. &���'��	(�� (
�*	 u  4 
14.  	%���
#� 
	���
��� ��-
%��- 
3���+ %���'�(�, �&� 

σHP ��0*. 
4.2 %.6 

σHP =557 

15.  	%���
#� 
	���
��� ��-
%��-3���+ %���'�(� %�
 #�
-
�
#�*.-�	#� �������3����, 
�&� 

maxHPσ  ��0*. 
4.2 %.7 

maxHPσ = 2100 

16.  	%���
#� ��%��3���+ 
%�
 �	)��,��
� �� )2
� 	
��#	 
'*+ 1������� �� 
	*���, �&� 

jFPσ  ��0*. 
4.2 %.9 

259
1

=FPσ ; 
241

2
=FPσ . 
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(�����)���� �
��. 4.6 
 
��/#�������+ %���#���� &	)��-

(���+ 
�	#. 
��0*. 
'3��. 

8��(���+ 

17.  	%���
#� ��%��3���+ %�
 
�	)��,��
� �� )2
� #�
�
#�*.-
�
# �������3���+# 	
��#	 '*+ 
1������� �� 
	*���, �&� 

jmxFPσ  ��0*. 
4.2 
%.10 

1157
1max

=FPσ ; 
952

2max
=FPσ . 
 

 
  

18. ����'���. �	0	(
, %	���,	�. 
)�0� (����'�+); 

Hj  H1 = 50 HRC� 
         H2 = 285 HB 
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�
��	�� 4.7 

( +������, /�����' �� 4 �� &$����� �� 4 "�'����'$�, :� 
� &�' #���-6��#, � '�+'�4-�&�4 

 
��/#�������+ %���#�-
��� 

&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

1. �	�6�-�4��, 5	 ���-
,	��4 #�,���(�� �*��-
�
�	��� �%	*�(��
, )�-
0(���
, 
	*�� 

ZE 
( ) ( )( )2

21
2
12

21

11 µµπ −+−
⋅

=
EE

EE
Z E  

 *+ ���*��
, 
	*�� %�
  
E = E1= E2 = 2,1⋅106 �&� 
�� µ1=µ2=µ3= 0,3; Z� = 190. 

2. �	�6�-�4��, 5	 ���-
,	��4 6	�#� �%	*�(�-
�
, %	���,	�. )�0�� � 
%	*7�� )�(�%*���+ 

ZH 

tw
H tg

Cos
Cos

Z
α

β
α

?

0

21= . 

&�
  α = 20, 
1 = -
2: 0=β  
ZH = 2,49. 

3. �	�6�-�4��, 5	 ���-
,	��4 ��#���� '	�3
-
�� 
	���
��
, *���/ 

Zε 

 �� 
21354-
87 
��0*.6. 
%.1 

 
��0*.6 
%.2 

 
��0*. 

6 
%.3 3

4 α
ε

ε−
=Z  %�
 β = 0 

��
	#��'�4#� )��(���+  
εα =1,3 %	  �� 19624-74, ��0*.4, 
%.8 

95,0
3

3,14 =−=εZ  

4. �	�6�-�4�� ��'�	�-
�	� 1
�
�
 )�0(��	2	 
���-+ � )�*�3�	��� ��' 
�,�#
 %���'�(� 

Kbd (2.96) �	��(�� 1������+ 
	��	*.�� 
Kbd = 0,5 

5. �	�6�-�4�� 1
�
�
 
)�0(���	2	 ���-+ '*+ 
�
#��7��*.�	2	 �	�-+ 

Kb� (2.100) Kb�= 216,0
5,014

5,02

1

2
22

=
++

⋅=
++ bd

be

Ku

K  

6.  	%	#�3�
/ 
	�6�-
-�4�� '*+ �
)��(���+ 

	�6�-�-4��� KHβ 

 �
�. 
2.10 

 
 

Kb�⋅u /(2 - Kb�) =  
= 0,216⋅4/(2-0,216)=0,48 
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(�����)���� �
��. 4.7 
 
��/#�������+ %���-
#���� 

&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

7. �	�6�-�4��, 5	 ���-
,	��4 ������	#������. 
�	)%	'�*� �������3��. 
%	 '	�3
�� 
	���
�-
�
, *���/ %�
 �	)��,�-
�
� ��  

- 
	���
��� #�--
����. 

 
     - #�-����. �� )2
� 

 
 
 
 
 

KHβ 
 

   KFβ 

 
 
 

�
�. 
2.10 

 
 
 
 
 

KHβ = 1,05; 
 

KFβ = 1,25 

8. �	�6�-�4��, 5	 ���-
,	��4 '
��#�(�� ����-
���3���+ � )�(�%*���� 
%�
 �	)��,��
�, ��: 
- 
	���
��� #�-����. 
- #�-����. %�
 )2
�� 

 
 

KHV 
KFV 

 
 

��0*. 
2.7 

 
 

KHV = 1,03; 
KFV = 1,06 

 
�	�6�-�4��
, %�
/�+�� '*+ 
	*�� 8-� 
���%��� �	(�	��� 

9.  	%	#�3�
/ 
	�6�-
-�4��, 5	 �

	�
��	-
��4�.�+ %�
 �	)��,��-

� )	���1-�.	� 
	���-
�	� ��'����� 

KR  KR = ( )3 23105,0 FWnE KZZZ ε⋅  
 *+ ���*��
, 
	*�� '	����74  
KR = 490 

 
 

��/�' �� '�+'�4-�&- &��$���3 �����������3 +-%��#��3 "�-
'����$ 

 
 *+ -

*� �	)��,��
� 
	��(�	� )�0(���	� %���'�(� %�
/�+�� 

��
� )��(���+ ��'�
���: 
j = 1 – %���#���
 1�������; j = 2 – %���#���
 
	*���. 
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�
��	�� 4.8 

��/�' �� '�+'�4-�&- &��$���3 �����������3 +-%��#��3 "�'����$ 
 

��/#�������+ %�-
��#���� 

&	)��-
(���+ 

�	#. 
��0*. 
6	�#. 

���	' �
)��(���+ 

1. 8	���1�+ 
	���-
�� ��'����., ## 

Re (2.101) 

( )
3

22

12

5,0185,0
1

HPbebe

HH
Re

uKK

KT
uKR

σ
β

−

⋅
+= = 

= ( )3
22

2

5574216,0263,0185,0

05,142
14490

⋅⋅⋅−
⋅+ = 

= 137,82 
2. 8	���1��/ '�*
-
*.�
/ '��#��� 1�-
������, ## 

de1 (2.102) 
85,66

1

82,1372

1

2
221 =

+

⋅=
+

=
uu

R
d e

e  

3. ��
	#��'	���� 
(
�*	 )�0�� 1����-
��� 
( �� 19624-74) 

z1 (2.103) 
( ) ( )

2
2 1

1 22 9 6 25 4 4
645

' ed
z lg u , lg= − + − =  

= 

( ) ( ) 37,17
645

85,66
4lg425,6lg922

2
2 =⋅−+⋅− u  

z1 = 17 – -�*� (
�*	 
4. 9
�*	 )�0�� 
	-
*��� 

z2 (2.104) z2 = z1 u = 17⋅4 = 68 

5. 8	���1��/ 
	
��3-�
/ #	'�*., 
## 

me (2.105) 93,317/85,66/ 1
'

1
=== zdm ee  

me = 4 

6. 8	���1��/ '�*
-
*.�
/ '��#��� 
	-
��(�	2	 
	*���, ## 

de2 (2.107) '
2 2 4 68 272e ed m z= = ⋅ =  

7. 8��(���+ de2 
	
��2*+4#	 '	 ���-
�'����	2	 )��(��-
�+ %	  �� 12280-
76 

  de2 = 280 

8. �	�� )��(���+ 
)	���1�.	2	 '�*
-
*.�	2	 '��#���� 
1�������, ## 

de1 (2.106) 1 1 4 17 68e ed m z= ⋅ = ⋅ =  

 
 



 142 

(�����)���� �
��. 4.8 
 
��/#�������+ %���-
#���� 

&	-
)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

9. �	�� )��(���+ (
-
�*� )�0�� 
	*��� �� 
%���'��	(�	2	 (
�*� 

z2 
 

u 

 70428022 === ee mdz  

2 1 70 17 4,12u z z= = =  
                 (+0,03) 

10. ���
 '�*
*.�
, 

	�����, 2��'. 

δj (2.107
) 

δ1 = 1

2

17
13,6504

70
z

arctg arctg
z

= = �  

 δ2 = ��� 3496,766504,139090 1 =−=− δ  
11. �	�6�-�4��
 )#�-
5���+  

xj (2.108
) 4565,0

17
1

12,4
1

12
11

12 2
1

21 =��
�

�
��
�

� −=�
�

�
�
�

� −=
zu

x

x2 = - x1 = - 0,4565 
12. �	�6�-�4�� ���-
2��-�/�	2	 )#�5���+ 
%�
 n = 2,5 

jxτ  (2.109
) 

( ) =−+= 5,2008,003,01 uxτ  
= ( ) 043,05,212,4008,003,0 −+  

043,012 −=−= ττ xx  
13. ��*.
���. )�0�� 
�
����*����	� -
*��-
'�
(�	� )�0(���	� 
%���'�(� 

zvj (2.110
) 

1
1

1

17
17,49

13,6504V

z
z

cos cosδ
= = =

�
 

2
2

2

70
297

76,3495V

z
z

cos cosδ
= = =

�
 

14. �	�6�-�4��, 5	 
���,	��4 6	�#� )�0� 
�� 
	�-�����-�7 ��-
%��3��. 

jFSY  (2.67) =++= 2
1

1

092,0
2,13

47,3
1

x
Z

Y
V

FS  

24565,0092,0
5,17

4565,0
7,29

5,17
2,13

47,3 ⋅+−+= = 

= 3,47 

2

22
2

1 2

13,2
3, 47 29,7 0,092FS

V V

x
Y x

z z
= + − + =  

=⋅+++= 24565,0092,0
297
4565,0

7,29
297

2,13
47,3  

=3,53 
15. ��	(���� )��-
(���+ )	���1�.	� 

	����	� ��'�����, 
## 

Re (2.111
) 

2 2 2 2
1 20,5 0,5 4 17 70 144,07e eR m z z= + = ⋅ + =

 

16. $
�
�� )�0-
(���	2	 ���-+, ## 

 

b′  
(2.112

) 
19,3107,144275,0 =⋅=⋅=′ ebe RKb  
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(�����)���� �
��. 4.8 
 
��/#�������+ 
%���#���� 

&	-
)��- 
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

17. $
�
�� )�-
0(���	2	 ���-+ 
%	 B��� 12289-
75 � )�*�3�	��� 
��' 2ed  �� U, ## 

b  b = 42 

18. ��%��3���+ 
)2
�� 	
��#	 
'*+ )�0� 1����-
��� �� 
	*���, 
�&� 

jFσ  (2.11
3) 
 
 
 
 
 

(2.11
4) 

( )
1

1

3
1

2
1

2 10

0,85 1
F F F FS

F
e bc

T k k Y

b z m k
βσ

⋅
=

⋅ ⋅ −
= 

( ) 54
216,014174285,0

47,306,125,142102
2

3

=
−⋅⋅⋅

⋅⋅⋅⋅⋅=  

259
1

=FPσ  

55
47,3
53,3

54
1

2

12
===

FS

FS
FF Y

Y
σσ  

241
2

=FPσ  
�#	�� #�-�	��� �� )2
� �

	���� 

19. �	���
��� 
��%��3���+, 
�&� 

σH (2.11
5) 

2 1H E Hz z z uεσ = + × 

×
( )

=
−⋅

+

UkkR

UkkT

bebee

HVHH

23

2
1

3

5,01285,0

110 β  

= 112,4149,2190 2 +⋅⋅ × 
×

( ) =
−⋅⋅−⋅⋅

+⋅⋅⋅
12,4216,0216,05,0107,144285,0

112,403,105,14210
23

23

 
=394; σHP = 557 
�#	�� #�-�	��� �

	���� 
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(�����)���� �
��. 4.8 

��/#�������+ %�-
��#���� 

&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

20. ��%��3���+ 
%�
 #�
�
#�*.�	#� 
�������3����, 
�&�: 
- 
	���
��� 
- �� )2
� 

 
 
 
σHmax 
σFmax j 

 
 
 
 

(2.116) 
(2.117) 

5862,2394max
max =⋅==

���

HH T
Tσσ  

σHPmax =2100 

1

max
max1 54 2, 2 119F F

í î ì

T
T

σ σ= = ⋅ =  

11571max =FPσ  

1212,255max
22max =⋅==

���

FF T
Tσσ  

952max =FPσ  
�#	�� #�-�	��� �

	���� 

21. �	)��,��	
 
2�	#���
(�
, %�-
��#����� 
- )	���1�+ �
�	�� 
2	*	�

 )�0�, ## 
 
- )	���1�+ �
�	�� 
�	3

 )�0�, ## 
 
- 
�� �	3

 )�0�, 
2��'. 
 
 
- 
�� 2	*	�

 )�0�, 
2��'. 
 
- 
�� 
	���� ���-
1
�, 2��'. 
 
 
 
 
 
- )	���1��/ '��#��� 
���1
� )�0�, ## 
 

 
 
 

haej 
 

 
hfej 

 
 

jfθ  

 
 
 

jaθ  

 
 

jaδ  
 
 
 
 
 

 

jaed  

 
 
 

(2.118) 
 
 

(2.119) 
 
 
 

(2.120) 
 
 
 
 

(2.121) 
 
 
 

(2.122) 
 
 
 
 
 

(2.123) 

 
 
 

( ) ( ) 05,54263,0111
=⋅+=+= ∗

eaae mxhh  
( ) ( ) 95,24263,0122

=⋅−=+= ∗
eaae mxhh ; 

75,342,095,2
11

=⋅+=+= ∗
eaefe mchh  

85,542,005,5
12

=⋅+=+= ∗
eaefe mchh ; 

�491,1
07,144

75,31 =�
�

�
�
�

�=��
�

�
�
�
�

�
= arctg

R

h
arctg

e

fe
f j

θ  

�325,2
07,144

85,52

2
=�

�

�
�
�

�=��
�

�
�
�
�

�
= arctg

R

h
arctg

e

fe
fθ  

�325,2
21

== fa θθ  
�491,1

22
== fa θθ  

 

1 11 13 650 2 325a a , ,δ = δ + θ = + =� �  
038515975,15 ′′′== ��  

2 22 76 350 1 491a a , ,δ = δ + θ = + =� �  
820577841,77 ′′′== ��  

1 1 1 12ae e aed h cosδ = + δ =  
81,77650,13cos05,5268 =⋅⋅+= �  

2 2 2 22ae e aed d h cos= + − δ =  
39,281350,76cos95,22280 =⋅⋅+= �  
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(�����)���� �
��. 4.8 

 
��/#�������+ 
%���#���� 

&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

- ��'����. ��' 
���1
-�
 '	 
%*	5
�
 )	�-
��1�.	� 	
��3-
�	��� ���1
� 

Bj (2.124) =−= 11 sin5,0
12

δaee hdB  
81,13865,13sin05,52805,0 =⋅−⋅= �  

=−= 22 sin5,0
21

δaee hdB  
13,3135,76sin95,2685,0 =⋅−⋅= �  

22. �	)#��
 '*+ 
�
#�-�7����+ 
)�0� (%���#���
 
'*+ 
	���	*7 
�	(�	��� �
2	�	-
�*���+): 
- )	���1�+ 
	
��3�� �	�5
-
�� )�0�, ## 
 
- )	���1�+ %	-
���/�� ,	�'� )�-
0�, ## 
 
- �
�	�� '	 )	�-
��1-�.	� %	���/-
�	� ,	�'
 )�0�, 
## 
 
 

 
 
 
 
 

jeS  
 
 

jceS  
 
 

jceh  

 
 
 
 
 

(2.127) 
 
 
 

(2.126) 
 
 
 

(2.128) 

 
 

( ) =++= ee mxtgxS
11 125,0 ταπ  

( ) 22,74043,020263,025,0 =⋅+⋅⋅+= �tgπ ; 
( ) =−−= ee mxtgxS

12
225,0 1 τπ  

( ) =⋅−⋅−= 4043,0263,025,0 tgπ 35,5= ; 
 
 

38,62cos22,7cos 22
11

=⋅== bSS ece α ; 
72,420cos35,5cos 22

212
=⋅== �αece SS ; 

 
=⋅−= α2sin25,0

111 eaece Shh  
89,340sin22,725,005,5 =⋅⋅−= � ; 

=−= α2sin25,0
222 eaece Shh  

09,240sin35,525,095,2 =⋅⋅−= � . 
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4.2 �' &��� '�+'�4-�&- "�'����$ ��'�’,���3 2 �$��' ���3 

 
4.2.1 �
0�� #������*� (���’+(�	� %��
 
 
�������* (���’+(�	� %��
 %�
/#�4#	 � )�*�3�	��� ��' 	(�
�4#	� 

1�
'
	��� 
	�)���+ � )	�� 
	���
��.  
 *+ )�
�
�	� (���’+(�	� %���'�(� %�
 	(

�4#�/ 1�
'
	��� 
	�-

)���+ � )	�� 
	���
�� VS = 4÷10 #/� '*+ �
2	�	�*���+ (���’+
� %�
/#�-
4#	 ���*. 20� ) %	'�*.1	7 -�#����-�47 �� 2��������+# '	 ����'	��� 
�	0	(
, %	���,	�. HRCe 56-63. 

�
,�'�� %���#���
 '*+ �
)��(���+ 	(�
�4#	� 1�
'
	��� 
	�)��-
�+ � )	�� 
	���
�� )��'��� � ��0*. 4.9. 
 

�
��	�� 4.9 
( 4$��$ "�'����'  ��, � +������, 5� �&�#�$ &��+���, � +��$ 

&����&�- 
 
��/#�������+ %���#���� &	)��-

(���+ 
�	#. 
��0*. 
'3��. 

8��(���+ 

1. 9���	�� 	0����� (���’+
�, 
,�
*.-1 

n1 8��'���+ 715 

2. �*�� �������3���+ 
3. ��
�
#�*.�� �������-
3���+ (���+(�	2	 
	*���, 
�# 

- 
 

T2max 

8��'���+ H 0,8 
T2max = 1170 �⋅# 

4. �	�6�-�4�� �
����*����	-
2	 �������3���+ 

KHE ��0*.2.3 KHE = 0,8 

5. ��'�	��� ��
��*���. ��-
�����3���+ 

(�  (� = 0,25 

 
$�
'
���. 
	�)���+ � )	�� 
	���
�� '	����74�.�+ 

 

 31 3
24 4

4 4 715
1170 2 94

10 10s max

n
v T ,

⋅ ⋅= = = , #/�.  
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 	%	#�3�� ��*
(
�� 
 

 0 8 0 25 0 2HEK (� , , ,⋅ = ⋅ = .  
 

� )�*�3�	��� ��' ��� %�
 1�
'
	��� 
	�)���+ 2 94sv ,=  #/� #���-
���* '*+ ���-+ (���’+(�	2	 
	*��� %�
/#�4�.�+ ) 2��%
 II� (��0*. 
3.1): 0�	�)� ���10!3�-1,5; ��'*
�
� � )�#*7. 
 
 

4.2.2 �
)��(���+ '	%���
#
, ��%��3��. 
 
�
,�'�� %���#���
 '*+ �	)��,��
� '	%���
#
, ��%��3��. )��-

'��� � ��0*. 4.10. 
 

�
��	�� 4.10 
( 4$��$ "�'����'  

 
��/#�������+ %���#���� &	)��(���+ 8��(���+ 
1. �
% %���'�(�  - ������
��� 
2. 9���	�� 	0����� (���’+
�, ,�.-1  n1 715 
3. &���'��	(�� (
�*	 u 31,5 
4. &	���0�
/ ������ %���'�(�, 
2	'
� 

Lh 16000 

(���’+
 - ���*. 20� 5. �������* 

	*��	 ��0*. 3.1 ��	�)� 

���10!8�-45 
(���’+
� - ��#����-�+, )�2�-

�������+ 
6. �%	��0 ���#�(-
�	� 	0�	0

 


	*��� - ��'*
�
� � )�#*7 
7. ��3� ��
�(	��� 0�	�)
, �&� 

2�
σ  300 

8. ��3� #�-�	��� 0�	�)
, �&� 
2�

σ  450 
9. $�
'
���. 
	�)���+ � )	�� 

	���
��, #/� 

vs 2,94 

10.  	%���
#
/ 
	�6�-�4�� %�-
�������3���+ 

max

���

T
T

 2 
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��/�' �� '�+'�4-�&- ��"-#� � 4 ��"'-.��� ��, ����'$��- 
��'�’,���/� &���#�. 

 
�� ���'�� %�	�
��	2	 �	)��,��
� (���’+(�	� %���'�(� �
)��(�-

7�.: 
1) '	%���
#� 
	���
��� ��%��3���+; 
2) '	%���
#� 
	���
��� ��%��3���+ %�
 #�
�
#�*.�	#� ����-
���3����; 

3) '	%���
#� ��%��3���+ �� )2
� '*+ 0�	�)
; 
4) '	%���
#� ��%��3���+ %�
 )2
�� )�0� (���’+(�	2	 
	*��� 
#�
�
#�*.�
# �������3���+#. 

�
��	�� 4.11 
��+'�4-��& ��"-#� � 4 ��"'-.��� 

 
��/#�������+ %���#���� &	)�� 

(���+ 
�	#. 
��0*. 
'3��. 

8��(���+ 

1. 9
�*	 -

*�� )#��  
��%��3��. � )�*�3�	-
��� ��' ���#��� �

	-
�
�����+ 

jKN  (3.9) 
1 160K hN n L= = 660 715 18 10= ⋅ ⋅ ⋅ =  

71022,77 ⋅=  
=⋅== 5,311022,77 7

12
uNN KK  

71045,2 ⋅=  
2. �	�6�-�4�� '	�2	��-
(�	��� 
%�
 �	)��,��
� �� 
	-
���
��� #�-����. 

2NZ  (3.10) 
2 2

78 10N KZ N=  ��	�)� �� #��-
�
�. 	*	�� 

2NZ =1 
 

3. �	�6�-�4�� '	�2	��-
(�	��� 
%�
 �	)��,��
� �� 
)2
� 

2NY  (3.11) 
2 2

69 10N KY N= =  
6 69 10 24 5 10,= ⋅  

0 701,=  
4.  	%���
#� 
	���
�-
�� 
��%��3���+ '*+ %���-
'�(� ) -�#���	���
# 
(���’+- 

	# '*+ 0�	�)
, 5	 �� 
#���
�. 	*	��, �&�  

2HPσ  (3.15) ( )
2 23300 25HP Nv Zσ = − ⋅ =  

( )300 25 2 94 0 894, ,= − ⋅ ⋅ =  
202=  
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(�����)���� �
��. 4.11 
 
5.  	%���
#� 
	���
-
��� 
��%��3���+ %�
 
#�
�
#�*.�	#� ����-
���3���� 
'*+ 0�	�)
, 5	 �� #�-
��
�. 
	*	��, �&� 

2 maxHPσ  (3.17) 
2 2

2 2 300 600
maxHP Tσ = σ = ⋅ =  

6.  	%���
#� ��%��-
3���+ %�
 �	)��,��-

� �� )2
� '*+ 0�	�-
)
, 5	 �� #���
�. 
	*	��, �&�, 
'*+ ������
��	� %�-
��'�(� 

2FPσ  (3.21) 
2 2 2

0 16 0 16 450 0 701 50 5FP b N, Y , , ,σ = σ ⋅ = ⋅ ⋅ =
= 50 

7.  	%���
#� ��%��-
3���+ %�
 �	)��,��-

� �� )2
� #�
�
#�-
*.�
# �������3��-
�+# '*+ 0�	�)
, 5	 
�� #���
�. 	*	��, 
�&� 

( )
2FP max

σ

 

(3.22) ( )
2 2

0 8 0 8 300 240FP Tmax
, ,σ = ⋅ σ = ⋅ =  

 
4.2.3 &�

*�' �	)��,��
� -
*��'�
(�	� (���’+(�	� %���'�(� 
 
�	)��,��	
 -
*��'�
(�	� (���’+(�	� %���'�(� �
*�'�4�.�+ ) 

��.	, %	�*�'	��	 �

	���
, �	)��,��
��: 
1) �	)��,��
� �� #�-����. (��0*. 4.12; ��0*. 4.13); 
2) �	)��,��	
 	��	��
, 2�	#���
(�
, %���#����� (��0*. 4.14; 
��0*. 4.16) 

3) ��%*	�
/ �	)��,��	
 (�
)��(���+ ���#�(�	� %	��3�	��� %���-
'�(�). 
 *+ 
	3�	2	 �	)��,��
� �
*�'�4�.�+ 	
��#� ��0*
-+ �
,�'�
, 

%���#�����. 
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�
��	�� 4.12 

( +������, # ��� 4 /�����' �� 4 �� &$����� �� 4 
"�'����'$�, :� � &�' #���-6��#, � '�+'�4-�&�4 

 
��/#�������+ %���#���� &	)��-

(���+ 
�	#. 
��0*. 
'3��. 

8��(���+ 

1. &���'��	(�� (
�*	 u  31,5 
2. 9
�*	 �
�
�� (���’+
�  z1  1 
3. ��� �
,�'�	2	 
	�����, 
2��'. 

α  20 

4. ��
�
#�*.�� �������3���+ 
(���’+(�	2	 
	*���, �# 

�2max  �2max = 1170 

%	 
	���
�� KHE 0,8 5. �	�6�-�4��  
�
����*����	��� �� )2
� KFE 

��0*. 
(2.3) 0,81 

6. �	�6�-�4�� ��3
#� x  0,75 
%	 
	���
�� T2H  T2H =T2max⋅KHE = 

1170⋅0,8=936 
7. �
,�'��  
�	)��,��
	�� 
�������3���+ �� )2
� 

 
T2H  T2F =T2max⋅KHE = 

1170⋅0,84=948 
8. �	�6�-�4��, 5	 ���,	��4 
'
��#�(�� �������3���+ � )�-
(�%*���� %�
 �	)��,��
� ��: 
     
	���
��� #�-����. 
     #�-����. �� )2
�     

 
 
 
HVK  
FVK  

 
HVK =1,1-
1,3 

 
HVK  = 1,10 

FVK = HVK  

9.  	%���
#� 
	���
��� ��-
%��3���+, �&� 

 
2HPσ  

��0*. 
4.11 

 
202 

10.  	%���
#� 
	���
��� ��-
%��3���+ %�
 #�
�
#�*.�	#� 
�������3����, �&� 

max2HPσ  ��0*. 
4.11 600 

11.  	%���
#� ��%��3���+ 
%�
 �	)��,��
� �� )2
�, �&� 

2FPσ  ��0*. 
4.12 

 
50 

12.  	%���
#� ��%��3���+ 
%�
 �	)��,��
� �� )2
� #�
-
�
#�*.�
# �������3���+#, 
�&� 

 
 

( )
2FP max

σ  

��0*. 
4.11 

 
 

240 
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(�����)���� �
��. 4.12. 
 
��/#�������+ %���#���� &	)��-

(���+ 
�	#. 
��0*. 
'3��. 

8��(���+ 

13. &�
��'��
/ #	'�*. %��-
3�	���, �&� 

VE   
21

212
EE
EE

EV +
=  

 *+ �%	*�(���+ ���*.-
0�	�)� 

51026,1 ⋅=VE  �&� 
14.  	%���
#
/ 
	�6�-�4�� 
%��������3���+ 

���T
Tmax    

2 

 
��/�' �� '�+'�4-�&- �� �$2�$#�� "�'����$ ��'�’,���3 2 �$-

��' ���3 
 
 *+ ��.	2	 -

*� �	)��,��
� %�
/�+�� ��
� %	)��(���+: 

j =1 – '*+ ���, %���#����� (���’+
�; 
j =2 – '*+ ���, %���#����� (���’+(�	2	 
	*���. 

&�

*�' �	)��,��
� ����'��
/ � ��0*. 4.13. 
 

�
��	�� 4.13 
�' &��� '�+'�4-�&- �� �$2�$#�� "�'����$ ��'�’,���3 

2 �$��' ���3 
 
��/#�������+ 
%���#���� 

&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

1. 9
�*	 )�0�� 
(���’+(�	2	 
	-
*��� 

z2 (3.25) 2 1 1 31 5z z u ,′ = ⋅ = ⋅ ; 
z2 = 31 

2. ���4��	��� 
)��(���+ 
	�6�-�-
4��� '��#���� 
(���’+
�  

q ′ (3.26) 20 25 0 25 31 7 75q , z , ,′ = ⋅ = ⋅ = ; 
q = 8 – ����'����� )��(���+ 

3. �	�6�-�4�� ��-
����	#���	��� 
�	)%	'�*� �����-
��3���+ 

KHβ (3.27) 
( ) ( )

3 3
2 31

1 1 1 1 0,75 1,02
72H

z
K x

β θ
� � � �= + − = + − =� �� �

� �� �
 

θ = 72 (��0*. 3.5) %�
 z1 = 1 � q = 8 
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(�����)���� �
��. 4.13. 
 
��/#�������+ 
%���#���� 

&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

4. ��3	�.	�� ��'-
����., ## 

aw (3.28) 
2

2

3
2625 H H HV

w
HP

T K K
a β

⋅ ⋅
′ =

σ
= 

= 3
2

936 1 02 11
625 184 53

202
, ,

,
⋅ ⋅ =  

aw =200 – ����'����� )��(���+ 
5. �	'�*. %���-
'�(�, ## 

m (3.29) 
26,10

318
20022

2

=
+
⋅==′

qtz
a

m w  

m = 10 – ����'����� )��(���+ 
6. �
	��2	���� 
)��(���+ q 

q (3.30) 
931

10
20022

2 =−⋅=−=′ z
m
a

q w  

('��2
/ �+' ����'����
, ��*
(
�); )�-
*
1�4#	 q = 8. 

7. �	�6�-�4�� 
)#�5���+ 
(���’+
�  

x (3.31) 
5,0

2
831

10
200

2
2 =+−=

+
−=

qz
m
a

x w  

8. �	���
��� ��-
%��3���+ �� �	-
0	(�/ %	���,�� 
)�0� (���’+(�	2	 

	*���, �&� 

2Hσ  (3.32) 
2

2

3
32

3
2

1 10
0,5

/

Vv H H H

H
w

z
E T K K

q
z q a

β

σ

� �+ ⋅ ⋅� �
� �= =  

3
5 3

3

31
1 1,26 10 10 936 1 1,1

0,5 8
31 8 200

� �+ ⋅ ⋅ ⋅ ⋅ ⋅ ⋅� �
� �= =  

=140 
9.�#	�� #�-�	��� -  �#	�� #�-�	��� �

	����. 202

2
=HPσ �&� 

10. �	���
��� ��-
%��3���+ �� �	0	(�/ 
%	���,�� )�0� 
(���’+(�	2	 
	*��� 
%�
 #�
�
#�*.�	#� 
�������3����, �&� 

max2Hσ  (3.33) 
1982140max

2max2
===

���

HH T
Tσσ  

11. �#	�� #�-�	-
��� %�
 #�
�
#�-
*.�	#� �������-
3���� 

-  �#	�� #�-�	��� �

	���� 
600

max2
=HPσ  �&�. 

 
(�����)���� �
��. 4.13. 
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��/#�������+ %���-

#���� 
&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

12. ��� %�'/	#� �
�
� 
(���’+
�, 2��'. 

γ (3.34) ( ) ( )1 1 8 7,125arctg z q arctgγ = = = �  

13. 8��'��� 
�*.
���. 
)�0�� (���’+(�	2	 
	-
*��� 

2vz  (3.35) 
2

2
3 3

31
31,73

7,125v

z
z

cos cosγ
= = =

�
 

14. �	�6�-�4�� 6	�#
 
)�0� 

2FSY � )�*�3�	��� 
��' 

2vz  

2FSY  ��0*. 
3.6 

2FSY  = 1,71 

15. ��%��3���+ )2
�� 
� ��3

 )�0� 
(���’+(�	2	 
	*���, 
�&� 

2Fσ  (3.36) 2

2 3
2

1500 F F Fv
F

T K K cos

z qm
β α

σ = =  

3

1500 948 1,02 1,1 20
7,3

31 8 10
cos⋅ ⋅ ⋅ ⋅= =

⋅ ⋅

�

 

16. �#	�� #�-�	��� �� 
)2
� 

-  �#	�� #�-�	��� �� )2
� 
�

	���� 50

2
=FPσ  �&� 

17. ��%��3���+ )2
�� 
� �	3

 )�0� 
(���’+(�	2	 
	*��� 
%�
 #�
�
#�*.�	#� 
�������3����, �&�  

2 maxFσ  (3.37) 
2 2

7 3 2 14 6
max

max
F F

���

T
, ,

T
σ = σ = ⋅ =  

18. �#	�� #�-�	��� �� 
)2
� %�
 #�
�
#�*.-
�	#� �������3���� 

-  �#	�� #�-�	��� �

	����. 

2
240FPMσ =  �&�. 

 
��/�' �� '�+'�4-�&- /�����' �� 4 "�'����'$� ��'�’,���3 

2 �$��' ���3 "�'����$. 
 
�
,�'�� %���#���
 )��'��� � ��0*. 4.14. 
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�
��	�� 4.14 
( 4$��$ "�'����'  ��, '�+'�4-�&- /�����' �� 4 "�'����'$� 

��'�’,���3 "�'����$ 
 
��/#�������+ %���#��-

�� 
&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

1. �
' (���’+
�  -  ��,�#�'	� ZA 
2. ��3	�.	�� ��'����., 
## 

aw  200 

3. �	'�*., ## m  10 
4. �	�6�-�4�� '��#���� 
(���’+
� 

q  8 

5. 9
�*	 �
�
�� (���’+
� z1  1 
6. 9
�*	 )�0�� 
(���’+(�	2	 
	*��� 

z2  31 

7. �	�6�-�4�� �
�	�
 2	-
*	�

 )�0� 

ah∗  1 

8. �	�6�-�4�� ��'��*.�	-
2	 )�)	�� 

c∗ 0,2 

9. �	�6�-�4�� �	)��,��-

	�	� �	�5
�
 

S∗ S∗ = 0,5π = 1,571 

10. �	�6�-�4�� ��'���� 

�
�
)�
 %���,�'�	� 

�
�	� 

∗
γρ  0,3 

11. '	'�*.�
/ 
�� %�'-
/	#� �
�
� (���’+
�, 
2��'. 

γ 7,125 

12. �	�6�-�4�� �
�	�
 
�
�
� 

h∗ 

�

,
�'
�

/ 
(�
��

’+

 
)�

  
�
�

 1
90

36
-7

3 

2,2 

 
�	)��,��	
 	��	��
, 2�	#���
(�
, %���#����� -
*��'�
(�	� 

(���’+(�	� %���'�(� )��'��
/ � ��0*. 4.15. 
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�
��	�� 4.15 

��+'�4-��& �#���� 4 /�����' �� 4 "�'����'$� 2 �$��' ���3 
��'�’,���3 "�'����$ 

 
��/#�������+ %�-

��#���� 
&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

1.  �*
*.�
/ '��-
#���, ## 

dj (3.38) 
(3.39) 

1 10 8 80d mq= = ⋅ =  

2 2 10 31 310d mz= = ⋅ = . 
2.  ��#��� ���1
�, 
## 

jad  (3.40) 
(3.41) 1 1 2 80 2 1 19 100a ad d h m∗= + = + ⋅ ⋅ =  

( ) ( )
2 2 2 310 2 1 0 5 10a ad d h x m ,∗= + + = + + ⋅

 
3. ��/0�*.1
/ '��-
#��� 
(���’+(�	2	 
	*�-
��, ## 

2amd  (3.42) 
2 2

1

6 6 10
340 360

2 1 2am a

m
d d

z
⋅= + = + =

+ +
 

4. �
�	�� �
�
� 
(���’+
�  

h1 (3.44) 
1 2 2 10 22h h m ,∗= ⋅ = ⋅ =  

5.  ��#��� )�%�'
�, 
## 

1f
d  

 

2f
d  

(3.45) 
 

(3.46) 

1 12 100 2 22 56
jS ad d h= − = − ⋅ =  

( )
2 2

2f a ad d h c x m∗ ∗= − + + =  

( )340 2 1 0 2 0 5 10 306, ,= − + + =  
6. ��'��� 
�
�
�
 
%���,�'�	� 
�
�	� 
(���’+
�, ## 

1f
ρ  (3.47) 

1
0 3 10 3f f m ,∗ρ = ρ = ⋅ =  

7.  	�3
�� ����)�-
�	� 
(���
�
 (���’+
�, 
## 

0
1b  
 

b1 

��0*. 
3.8 

(3.48) 

( ) ( )0
1 211 0 1 11 0 1 31 10b , Z m ,≥ + = + ⋅ ⋅ =  
141=  ## 

9���’+
 1*�6	���
/ 
0

1 1 4 141 4 10 181b b m′ = + = + ⋅ = , b1 = 182 
8. $
�
�� ���-+ 
(���’+(�	2	 

	*���, ## 

b2 (3.49) 
12 0 75 0 75 100 75ab , d ,≤ = ⋅ =  

b2 = 75 

9. ��'��� �
�#

 
%	���,�� ���1
� 
)�0�� (���’+(�	2	 

	*���, ## 

R (3.51) 10 5 0 5 80 10 30R , d m ,= − = ⋅ − =  
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(�����)���� �
��. 4.15 
 
��/#�������+ 
%���#���� 

&	)��- 
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

10. ��3	�.	�� 
��'����., ## 


 
(3.52) 

( )20 5 2a , z q x m= + + =  
( )0 5 31 8 2 0 5 10 200, ,= + + ⋅ ⋅ =  

200wa a= =  
11. &���#���
 
'*+ 
	���	*7 
- ,�' �
�
�, ## 
- '�*
*.�� �	-
�5
�� %	 
,	�'� �
�
� 
(���’+
�, ## 

- �
�	�� '	 
,	�'
 �
�
�, 
## 

 
 

1z
p  

1aS  
 

1ah  

 
 

(3.53) 
(3.54) 

 
 

(3.55) 

 
1 10 1 31 42zp mz ,= π = π ⋅ ⋅ =  

1aS s mcos∗= γ =  
1 571 10 7 125 15 59, cos , ,= ⋅ ⋅ =�  

1 1
0 5a a ah h m , S∗= + × 1

2

1

0 5 aS sin
tg , arcsin
� �γ

=� �� �α� �
 

1 10 0 5 15 59, ,= ⋅ + ⋅ ×  
215 59 7 125

0 5
80

, sin ,
tg , arcsin
� �⋅× =� �
� �

 

10 0 012 10 012, ,= + =  
 
 
 

��/�' �� ��"����/� '�+'�4-�&- 2 �$��' ���3 ��'�’,���3 
"�'����$ �� # � � +���"����$ 

 
�
,�'�� %���#���
 )��'��� � ��0*. 4.16. 
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�
��	�� 4.16 

( 4$��$ "�'����'  ��, ��"����/� '�+'�4-�&- 2 �$��' ���3 
��'�’,���3 "�'����$ 

 
��/#�������+ %���#��-

�� 
&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

1. &	��3����. �� ��*� 
(���’+
�, 
�� 

P1 8��'���+ 2,78 

2. ��/0�*.1
/ 
����
/ 
#	#��� �� ��*� (���’+(-
�	2	 
	*���, �⋅# 

T2 max �	)��,��	
 1170 

3. 9���	�� 	0����� 
(���’+
�, ,�
*.-1 

n1 �	)��,��	
 715 

4. &���'��	(�� (
�*	 u �	)��,��	
 31,5 
5.  �*
*.�
/ 
�� %�'/	-
#� �
�
� (���’+
�, 2��'. 

γ ��0*. 4.14 
%.11 

7,125 

6. ��� %�	6�*+, 2��'. α  �� 
19036-73 

20 

7.  �*
*.�
/ '��#���, 
## 

dj d1 = 80 
d2 =310 

8. $
�
�� ����)�	� (��-
�
�
 (���’+
�, ## 

b1 182 

9. $
�
�� ���-+ 
(���’+(�	2	 
	*���, ## 

b2 75 

10. ��3	�.	�� ��'����., 
## 

aw 

��0*. 4.15 

200 

11. �	���
��� ��%��-
3���+ �� )�0� 
(���’+(�	2	 
	*���, 
�&� 

2Hσ  ��0*. 4.13 
%.7 

140 

12. �	0	(� �,�#� 
(���’+(�	� %���'�(� 

   =1 �
3�4 �	)��1�����+ 
(���’+
� 

13. �	0	(� ��#%������� 
#���
*�, 2��' 

�

2t  8�'��	 70°� 
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(�����)���� �
��. 4.16 
 
��/#�������+ %���#�-

��� 
&	-
)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

14. ��#%������� ��-
�
	*
1�.	2	 ����'	-
�
5�, 2��'. 

�

0t  8�'��	 20°� 

15. �	�6�-�4�� ��%*	-
%���'�(�,  

KT &�
/�+�	 16 

16. �	�6�-�4�� ��%*	-
4#-
	��� 	��	�
 

ψ 8�'��	 ψ = 0,3, #���*��� ��#� 

17. B��%� #������*� 
(���’+(�	2	 
	*��� 

- ��0*. 3.1 IIa 

 
 

�	)��,��	
 ��%*	�
, %���#����� %���'�(� �� �
* � )�(�%*���� 
)��'��
/ '	 ��0*. 4.17. 

 
�
��	�� 4.17 

��+'�4-��& ��"��� 4 "�'����'$� "�'����$ �� # � � +���"����$ 
 
��/#�������+ 
%���#���� 

&	)��-
(���+ 

�	#. ��0*. 
'3��. 

���	' �
)��(���+ 

1. �
��3�� 1�
-
'
���., #/� 

vj (3.56) 
 
 
 

(3.57) 

1 1
1 3 3

80 715
2 99

60 10 60 10
d n

v ,
π π ⋅ ⋅= = =

⋅ ⋅
 

2 1
2 3 3

310 715
0 37

60 10 60 10 3115
d n

v ,
u ,

π π ⋅ ⋅= = =
⋅ ⋅ ⋅ ⋅

 

2. $�
'
���. 
	-
�)���+, #/� 

vs (3.58) 1 2 99 7 125 3 01sv v cos , cos , ,= γ = =�  

3.  	%	#�3�� 
��*
(
�� '*+ 
�
0	�� #���
*� 

χ&n 
(3.59) 2

2 2

3 3
3

140
6 51

10 10 3 01
H

rn ,
v ,

σ
χ = = =

⋅
 

4. �%	��0 )#�5�-
����+ �� �’+)
���. 
#���
*� %�
 ��#-
%������� 100°�, 
##2/� 

ν100° ��0*. 3.10 vs < 15 #/� 
&�
/#�4#	 �%	��0 )#�5�����+ –  
)�������+; 
ν100° = 14 %�
 χ &n = 6,5 
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(�����)���� �
��. 4.17 

 
��/#�������+ 
%���#���� 

&	)��-
(���+ 

�	#. 
��0*. 
'3��. 

���	' �
)��(���+ 

5. �’+)
���. #��-
�
*� %�
 �	0	(�/ 
��#%�������, 
##2/� 

vt (3.60) ( )2 6

2 100
0 02

,

tv , t= ⋅ ν =
�

�  

( )2 60 02 70 14 33 6,
, ,= ⋅ ⋅ =  

6. �
����
 %	��-
3�	��� �� %���-
#�1�����+ #���
-
*�, 
�� 

�� (3.61) 5
1 1 10 75 10M tP , v b v−= ⋅ ν ⋅ =  

50 75 10 2 99, ,−= ⋅ ⋅ ×  
182 33 6 2 99 0 041, , ,× ⋅ ⋅ =  

7. �	�6�-�4�� 
�
���� �� %���#�-
1�����+ #���
*� 

ψM (3.62) 1

1

1
!

!

P
P P

ψ = − =
+

 

2 78
1 0 041

2 78 0 041
,

,
, ,

= − =
+

 

8. ��� ����+ � )�-
*�3�	��� ��' 
1�
'
	��� 
	�-
)���+ �� 2��%
 
#������*�, 2��' 

ρ ��0*. 
3.11 

2 000,ρ = �  

12. &	���,�+ ��%-
*	%���'�(�, #2 

A 
(3.67) 

1 7 1 7

3 3

200
20 20 1 3

10 10

, ,
wa

A ,� � � �= = =� � � �
� � � �

 

13. �	0	(� ��#%�-
������ ���
 #��-
�
*�, 2��'. 

MBt �   
(3.69) 

( )
( )

3
1

0

10 1
1MB

2

t t
K S

⋅ρ − η
= + =

+ ψ
�

�  

( )
( )

310 2 78 1 0 687
20 52

16 1 3 1 0 3
, ,

C
, ,

⋅ −
= + =

⋅ +
� �  

14. ���%��. �	(-
�	��� %���'�(� � 
)�*�3�	��� ��' 
1�
'
	��� 
	�-
)���+ 

-  &�
 1�
'
	��� 
	�)���+  
v3 = 3,01 #/� %�
)��(�4#	 7 ���%��. �	-
(�	��� )�  
 �� 3675-81 
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(�����)���� �
��. 4.17 

 
15. �
��3�� 
)��
**+ � )�(�-
%*���� �� 
(���’+(�	#� 

	*��� 

2t
F ����� 

	�.	��/ �
*� 
1aF  

2t
F  
 

1aF  

(3.71) 
=

⋅
==

2

max2
3102

12 d

T
FF at  

7548
310

1170102102 3

2

max2
3

=⋅⋅=
⋅⋅

=
d

T  

16. ��.	�� �
*� 
�� (���’+(�	#� 

	*��� 

2aF  ����� 
	
��3��/ �
*� 
�� (���’+
�, 

1t
F , 

� 

2aF  
 

1t
F  

(3.72) 
=

⋅⋅
⋅⋅

==
ηud

T
FF ta

1

max2
3102

12
 

1352
687,05,3180

1170102 3

=
⋅⋅
⋅⋅=  

17. ��'��*.�� 
�
*
, 

jrF , � 

jrF  (3.73) γα CostgFFF trr ⋅==
221

= 
2769125,7207548 0 =⋅= �Costg  

�	)��,��	
 )�
��(��	 
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�
���	 5. ��
7���� �� ���
�)�
� (����(�) �
 
�
�����
�� �)	�
��)�
)� ��9����)� ������� 
� �� 

 
&�	2��#� ���	���� )2�'�	 #��	'


 �	)��,��
� -
*��'�
(�
, 

��	*.�����
, )�0(���
, %���'�(, +
� �

*�'��� � �
2*+'� �*2	�
�#� 
-.	2	 ���(�*.�	-#��	'
(�	2	 %	��0�

�. �	�� '	)�	*+4 
	�
�����-
(� � ��%�����	#��
(�	#� ��3
#� ) �

	�
�����+# ��(���
, "�� ) 
	'�	2	 0	
� %	*�21
�
 �

	����+ ���
��
, 	0(
�*7��*.�
, 	%�-
��-�/, � ) '��2	2	 0	
� �)+�
 �� ��0� ��%	,
��� �

	����+ %	�*�'	-
��	��� �*2	�
�#� � 3	���

/ 
	���	*. )� '	%���
#
#
 #�3�#
 ��)-
�
, ��*
(
�. 8� '	%	#	2	7 )��(�	2	, '	���%�	2	 '*+ 
	3�	2	, ��-
���6�/�� #	3�� �

	�����
 �	)��,��

 -
*��'�
(�
, ��	*.����-
�
, )�0(���
, %���'�(. �	�
�����( #	3� %�
'�*
�
 0�*.1� (��� � 
�
* ����#%���' ��	�(	#� %�',	'� � �	)�’+)���� ��3�����
, )�'�(. 
�*���
�	��� %�	2��#
 #	3��. ����4�	 )#��1
�
 %	,
0

 � �	)��-
,��
�,, 1�
'
���. �	)�’+)���+ )�'�(� �� �����. �%�	#	3�� '	%	#	2-
�
 %�'�0���
 	%�
#�*.�� %���#���
 %���'�(�. ���'����# -+ %�	2��-
#� 0�'� 
	�
��� �� ���%�, �
�(���+ #��	'


 �	)��,��
�, %������-


 �%*
�� �
, (
 ��1
, )#���
, �� 
��-��� �0	 %�	#�3�� ��)�*.���
 
�� � )�
��%*���� )���	4�	2	 #������*� )��'+

 	�	0*
�	��� �*2	�
�-
#�, +

/ �	)��,	���
/ �� %	���/�� ����(���+ 
	�
�����(� � 	0(
�-
*7��*.�
/ %�	-��. 

&��*+ )�%��
� %�	2��#
 )’+�*+�.�+ '�� ��
�� (�
�. 5.1).  
 

 
�
�. 5.1 �
2*+' %�	2��#
 '*+ �	)��,��
� %��*+ �� )�%��
� 

�� -.	#� �
���
� *��	��( )	0��3��� ��6	�#�-�/�� ��
�	, � 
%���	��( '��*	2	��. ��6	�#�-�/�� ��
�	 (�
�. 5.2) ��'	0��3�4 	��	-
��� ���%
 �	)��,��
�, %	�	(�
/ ���% �	)��,��
� � 0�'� %�
����4 ��' 
%	(��
� �	)��,��
� � '	 
��-+. �� %	�	(�
/ ���% �	)��,��
� �
�)�4 
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)�*��� ����*
�.  ��2� ��
�	 �	)��1	���� %���	��( � 0�'� )#��7��-
�
�. %	���/�	 � )�*�3�	��� ��' %	�	(�	2	 ���%� �	)��,��
�. � ��-
#	#� %	(��
� �	�	 0�'� #��
 �
2*+' +
 %	
�)��	 �� �
�. 5.3,�. �� 
��
�	 '	)�	*+4 �����
 �
,�'�� '���. &��1� 
	*	�
� � -.	#� ��
�� ��-
'	0��3�4 �#	��� %	)��(���+ �
,�'�
, ��*
(
�.  ��2� 
	*	�
� #��-
�
�., ��
 )����, %	*+ '*+ ���'���+ �
,�'�
, ��*
(
�. ����+ 
	*	�
� 
%�
)��(��� 0�*.1 '���*.�	 �	)�*�#�(
�
 �#	��� %	)��(���+ ��*
-
(
�. &	*+ ��	'� �
,�'�
, '��
, #�7�. %���
/ �����. )�,
��� ��' 
'�/ 
	�
�����(�, +
� #	3��. %�
)����
 '	 )�%
�	
 � �	0	�� %�	2��-
#
. �	�
�����( #	3� ��	'
�
 ��*.

 -
6�
 � ��*.

 	'
� )��
, 5	 
�	)'�*+4 -�*� � '��0�� (���
�
 (
�*�.  *+ ���'���+ ���, �
,�'�
, 
��*
(
� ���0� 
	�
������
�. %	*	�	7 %�	
���

 �
�. 5.3,�. 

 

 
�
�. 5.2 ��
�	 %�	2��#
, +
� ��'	0��3�4 %	�*�'	�����. ���%�� �	)��,��
� 

 

8�
��(
�1
 ���'���+ �
,�'�
, '��
, 
	�
�����( #	3�: 
1) %	(��
 �	)��,��	
 (���
����
 
�	%
� “'�*�� …”); 
2) �
/�
 ) %�	2��#
 (���
����
 
�	%
� “)�
	�(
�.”); 
3) )������3
�
 ���'��� ����1 �
,�'�� '��� (���
����
 
�	%
� “	�-


�D�. …”); 
4) )0���2�
 ���'��� '��� (���
����
 
�	%
� “�	,���
�. …”). 
���
����1
 
�	%
� “'�*�� …” 
	�
�����( ���-�74 %	(��	
 �	)-

��,��
�� (�
�. 5.3). ;
5	 %�
 ���
�
���� -�4� 
�	%

 )’+�
�.�+ %	-
��'	#*���+, +
� )	0��3��� �� �
�. 5.3,0, �	 -� �
�)�4 �� ��'�������. 
'��
, � '�+

, %	*+,.  	

 ��� %	*+ �
,�'�
, '��
, �� 0�'��. )�%	-
����� %�	2��#� �� '	)�	*
�. %	(��
 �	)��,��	
. &�
 ���
�
���� 

�	%

 “	�
�D�. …” )’+�
�.�+ '��*	2	�� ��
�	 (�
�.  5.3,�), +
� '	-
)�	*+4 ��'
�
�
 ����1 )0���3��� �
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